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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023. 

First Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Describe revenue recognition principle. 

 Á¸Áõ´ A[RPõμU öPõÒøPø¯ ÂÁ›UPÄ®. 

2. What do you meant by ledger accounts? 

 ÷£÷μk PnUSPÒ GßÖ GøuU SÔ¨¤kQÕºPÒ? 

3. Explain the term error of omission. 

 Âk£mh Põ»¨¤øÇø¯ ÂÍUPÄ®. 

4. What do you meant by suspense account? 

 AÚõ©zx PnUS GßÖ GøuU SÔ¨¤kQÕºPÒ? 

5. Describe the term depreciation. 

 ÷u´©õÚ® GßÓ ö\õÀø» ÂÁ›UPÄ®. 

6. Explain the term salvage value. 

 Põ¨¦ ©v¨¦ ÂÍUSP. 
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7. What do you meant by bill of exchange? 

 ©õØÓa^mk GßÖ GøuU SÔ¨¤kQÕºPÒ? 

8. Write a note on balance sheet. 

 C¸¨¦ {ø»USÔ¨¤À J¸ SÔ¨ø£ GÊuÄ®. 

9. Describe fire insurance. 

 w Põ¨¥møh ÂÁ›UPÄ®. 

10. What do you meant by unvalued policy? 

 ©v¨£ØÓ £õ¼] GßÖ GøuU SÔ¨¤kQÕºPÒ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Write a note on process of accounting. 

   PnUQ¯À ö\¯À •øÓ SÔzx J¸ SÔ¨ø£ 
GÊuÄ®. 

Or 

 (b) Record the following transactions in the books of 
M/s. Mac and Co. and also show the ledger accounts. 

Date Details 

1 Aug- Purchased from ABC Ltd: 2000 balls @5 per piece. 

15 Aug- Purchased from XYZ Ltd.: 100 bats @250 per 
piece. Trade discount 20% 

29 Aug- Purchased from Con Ltd.: 200 skates for 100000. 
Trade discount 10% 

29 Aug- Purchased from ABC Ltd.: 200 Chess for 2000. 
Trade discount 15% 

30 Aug- Purchased from Con Ltd.: 100 skates for 40000. 
Trade discount 8% 
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   ¤ßÁ¸® £›ÁºzuøÚPøÍ M/s ¦zuP[PÎÀ £vÄ 

ö\´¯Ä®. Mac ©ØÖ® Co. ÷©¾® ÷£÷μk 

PnUSPøÍ²® ÂÁ›UPÄ®. 

÷uv ÂÁμ[PÒ 

1 BPìm& ABC Ltd C¸¢x Áõ[P¨£mhx: 2000 £¢xPÒ, 

J¸ xskUS 5. 

15 BPìm& XYZ Ltd Áõ[P¨£mhx : 100 ©møhPÒ @250 

J¸ xskUS  ÁºzuP uÒÐ£i 20% 

29 BPìm&- Con Ltd Áõ[P¨£mhx : 100000US 200 

ì÷PmkPÒ. ÁºzuP uÒÐ£i 10% 

29 BPìm&- ABC Ltd Áõ[P¨£mhx : 200 ö\ì 2000US. 

ÁºzuP uÒÐ£i 15% 

30 BPìm& Con Ltd Áõ[P¨£mhx : 40000US 100 

ì÷PmkPÒ, ÁºzuP uÒÐ£i 8%  

12.  (a) Pass Journal entries to rectify the following errors 

which were located after preparing the Trial 

Balance: 

(i) The Sales Book was overcast by 500. 

(ii) Credit purchases from Aradhya 6,000 were 

posted to the debit of her account as 9,000. 

(iii) Goods returned from Ayan 8,000 were 

recorded in Purchases Return Book. 

(iv) Wages paid 3,980 were recorded in the Cash 

Book as 3,890. 
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   C¸¨£õ´Ä u¯õ›zu ¤ÓS ¤ßÁ¸® ¤øÇPøÍa 
\›ö\´ÁuØPõÚ SÔ¨÷£k EÒÏkPøÍ AÝ¨£Ä®. 

   (i) ÂØ£øÚ ¦zuP® 500 AvP©õP C¸¢ux. 

   (ii) Bμõz¯õÂhª¸¢x 6,000 Phß öPõÒ•uÀ 
AÁμx PnUQÀ £ØÖ 9,000 BP 
AÝ¨£¨£mhx. 

   (iii) A¯Ûh®ª¸¢x v¸®¤¯ ö£õ¸mPÒ 8,000 
öPõÒ•uÀ v¸¨£® ¦zuPzvÀ £vÄ 
ö\´¯¨£mhÚ. 

   (iv) 3,980 ö\¾zv¯ T¼ 3,890 GÚ 
£n¨¦zuPzvÀ £vÄ ö\´¯¨£mkÒÍx. 

Or 

 (b) Write a note on rectification of compensating error 
with an example.  

   J¸ GkzxUPõmkhß Dk ö\´¤øÇPøÍ \› ö\´Áx 
£ØÔ¯ SÔ¨ø£ GÊuÄ®. 

13. (a) Describe merits of written down value method of 
depreciation. 

   SøÓ¢x ö\À ©v¨¦ •øÓ°À RÌ ÷u´©õÚ 
uSvPøÍ ÂÁ›UPÄ®. 

Or 
 (b) Hafiz Ullah & Company purchased a factory 

machine of Rs.1,80,000 on January 1, 2012. The 
machine is expected to have a salvage value of 
Rs.20,000 at the end of its 4 year useful life. During 
the useful life, the machine is expected to be used 
for 1,60,000 hours. The machine was used as under: 

Years  Hourse used

2012 - 40,000 

2013 - 60,000 

2014 - 35,000 

2015 - 25,000 

  Calculate depreciation under diminishing balance 
method.  
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   Hafiz Ullah & P®ö£Û J¸ öuõÈØ\õø» 
C¯¢vμzøu áÚÁ› 1, 2012 AßÖ ¹.1,80,000 
Áõ[Q¯x. C¢u C¯zvμzvß Põ¨¦ ©v¨¦ Auß 4 
Á¸h £¯ÝÒÍ ÁõÌUøP°ß •iÂÀ ¹.20,000. 
£¯ÝÒÍ ÁõÌUøP°À, C¢u C¯¢vμ® 1,60,000 
©o÷|μ® £¯ß£kzu¨£k® GßÖ 
Gvº£õºUP¨£kQÓx. C¯¢vμ® ¤ßÁ¸©õÖ 
£¯ß£kzu¨£mhx: 

BskPÒ  ©o÷|μ® £¯ß£kzu¨£kQÓx

2012 - 40,000 

2013 - 60,000 

2014 - 35,000 

2015 - 25,000 

   \©{ø»ø¯ SøÓ¢x ö\À C¸¨¦ •øÓ°ß RÌ 
÷u´©õÚzøuU PnUQkP. 

14. (a) From the following particulars prepare a balance 
sheet of Mr.Arun as at 31st  march  2021. 

Capital - 3,50,000

Drawings - 10,000

Sundry debtors - 1,00,000

Sundry creditors - 1,00,000

Net profit - 1,60,000

Closing stock - 50,000

Plant and machinery - 1,50,000

Building - 2,00,000

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31 ©õºa 2021CÀ 
v¸.A¸oß C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

•uÀ - 3,50,000

Gk¨¦PÒ - 10,000

£Ø£» PhÚõÎPÒ - 1,00,000

£Ø£» PhÜ¢÷uõº - 1,00,000
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{Pμ »õ£® - 1,60,000

CÖv \μUQ¸¨¦ - 50,000

C¯¢vμ uÍÁõh[PÒ - 1,50,000

Pmhh® - 2,00,000

Or 

 (b) Prepare trading account from the following 
particulars for the year ended march 31, 2021. 

Opening stock  - 56,250

Purchases - 1,57,500

Sales - 3,05,000

Wages  - 15,750

Carriage  - 5,500

Closing stock  - 45,000

   ©õºa 31, 2021CÀ •iÁøh¢u BsiØPõÚ 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Â¯õ£õμU PnUS 
u¯õ›UPÄ®. 

öuõhUPa \μUQ¸¨¦ - 56,250

öPõÒ•uÀ - 1,57,500

ÂØ£øÚ - 3,05,000

Fv¯® - 15,750

T¼ - 5,500

CÖv \μUQ¸¨¦ - 45,000

15. (a) Find out the actual claim in the following case: 

  Particulars 

  Value of stock on the date of fire Rs.25,000  

  Value of stock saved from fire Rs.5,000 

  Value of the Insurance Policy Rs.20,000 

  There is an average clause in the policy. 
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   ¤ßÁ¸® ÁÇUQÀ Esø©¯õÚ E›ø© ÷Põμø»U 
PshÔ¯Ä® : 

   ÂÁμ[PÒ 
    w Â£zx HØ£mh |õÎÀ C¸¨¦ ©v¨¦ ¹.25,000 
   w°À C¸¢x Põ¨£õØÓ¨£mh £[Qß ©v¨¦ ¹.5,000 
   Põ¨¥mkU öPõÒøP°ß ©v¨¦  ¹.20,000 
   £õ¼]°À \μõ\› Âv EÒÍx 

Or 

 (b) On 15th June 2022, the premises and stock of a firm 
was destroyed by fire but the accounting records 
were saved. From which the following particulars 
are available: 

  Stock on 1.1.2021 - 73,500

  Stock on 31.12.2021 - 81,900

  Purchases for the year 2021 - 3,98,000

  Sales for the year 2021 - 4,87,000

  Purchases from 1.1.2022 to 15.6.2022 - 1,62,000

  Sales from 1.1.2022 to 15.6.2022 - 2,31,200

  The stock salvaged was 5,300. Show the amount of 
claim.  

   áüß 15, 2022 AßÖ, J¸ {ÖÁÚzvß ÁÍõP® 
©ØÖ® \μUQ¸¨¦ w°À G›¢x |õ\©õÚx. BÚõÀ 
PnUQ¯À £vÄPÒ ÷\ªUP¨£mhÚ. AvÀ C¸¢x 
¤ßÁ¸® ÂÁμ[PÒ QøhUQßÓÚ. 

   1.1.2021 & 73,500 \μUQ¸¨¦ 
   31.12.2021 & 81,900 \μUQ¸¨¦ 
   2021 & 3,98,000 BsiØPõÚ öPõÒ•uÀ  
   2021 & 4,87,000 BsiØPõÚ ÂØ£øÚ 
   1.1.2022 •uÀ 15.6.2022 Áøμ°»õÚ  

öPõÒ•uÀ & 1,62,000 
   1.1.2022 •uÀ 15.6.2022 & 2,31,200 Áøμ°»õÚ 

ÂØ£øÚ 
   ÷\ªUP¨£mh £[S 5,300BP C¸¢ux. E›ø© 

÷Põμ¼ß AÍøÁU Põmk. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mr. Robert commenced business on 1st January, 2021 
with a capital of Rs.1,00,000 in cash and deposited of 
Rs.20,000/- in bank account. During the month of 
January 2021, the following transactions are made: 

 Jan 1- Bought goods for cash Rs.70,000 
 Jan 2 - Sold goods to Steve Co. (Credit) Rs.38,000 
 Jan 15 -Sold goods for cash Rs.9,000 
 Jan 21 -Steve Co. paid by cheque Rs.35,000 
 Jan 22 -Stationery bill paid by cheque Rs.2,000 
 Jan 23 -Telephone bill by cash Rs.500 
 Jan 24 - Paid rent by cash Rs.2,000 
 Jan 28- Paid salaries by cash Rs.3,000 
 Jan 31 -Withdrew cash for personal use Rs.5,000 
  Prepare a journal entries.  

 v¸.μõ£ºm áÚÁ› 1, 2021 AßÖ ¹.1,00,000 öμõUP 
‰»uÚzxhß ÁoPzøuz öuõh[QÚõº. ©ØÖ® 
¹.20,000/- øÁ¨¦z öuõøPø¯ ö\¾zvÚõº.  
áÚÁ› 2021CÀ ¤ßÁ¸® £›ÁºzuøÚPÒ |h¢uÚ. 

 áÚÁ› 1 & öμõUP©õP ¹.70,000 ö£õ¸mPøÍ Áõ[QÚõº 

 áÚÁ› 2 &  ìjÆ ÷Põ.US ö£õ¸mPøÍ ÂØÓx  
  (Phß) ¹.38,000 

 áÚÁ› 15 & öμõUP©õP ¹.9,000 ö£õ¸mPÒ ÂØP¨£mhx 

 áÚÁ› 21 & ìjÆ ÷Põ. ¹.35,000 Põ÷\õø» ‰»®  
  ö\¾zvÚõº. 

 áÚÁ› 22 & GÊx ö£õ¸Ò ö\»Ä ^mk ¹.2,000  
  Põ÷\õø»¯õP ö\¾zu¨£mhx 

 áÚÁ› 23 & öμõUP©õP öuõø»÷£] ^mk ¹.500 

 áÚÁ› 24 & ÁõhøP öμõUP©õP ¹.2,000 ö\¾zu¨mhx 

 áÚÁ› 28 & öμõUP©õP ¹.3,000 \®£Í® 

 áÚÁ› 31 & uÛ¨£mh £¯ß£õmiØS ¹.5,000 £n®  
  v¸®£¨ ö£Ó¨£mhx 

 SÔ¨÷£møh u¯õº ö\´P. 
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17. Record journal entries for the transactions and post them 
to ledgers.  

 JPN & Co., has a balance of Rs.20,000 as per passbook as 
on 31st march 2021. Prepare bank reconciliation 
statement. 

 Three cheques of Rs.1,000, Rs.1,500, Rs.1,750 were 
deposited in the bank on 30th December 2021 but were 
recorded in the bank statement on January 2022. 

 A cheque of Rs.1,000 was issued on 31st December 2021, 
was not processed. 

 A dividend of Rs.500 on stocks was credited to the bank 
account, but not recorded in the cash book. 

 A direct deposit of Rs.600 was made in a bank account by 
a customer, which was not recorded in the cash book. 

 Bank charges of Rs.60 were entered only in the bank 
passbook. 

 Balance as per cash book on 31st December 2021 was 
Rs.22,210. 

 £›ÁºzuøÚPÐUPõÚ SÔ¨÷£k EÒÏkPøÍ¨ £vÄ 
ö\´x AÁØøÓ ÷£÷μkPÎÀ CkøP°hÄ®. 

 JPN & Co., 31 ©õºa 2021 {»Áμ¨£i £õì¦UQß£i 
¹.20,000 C¸¨¦ øÁzxÒÍx. 

 Á[Q \©μ\ AÔUøPø¯z u¯õ›UPÄ®. 
 ¹.1,000, ¹.1,500, ¹.1,750 BQ¯ ‰ßÖ Põ÷\õø»PÒ  

30 i\®£º 2021 AßÖ Á[Q°À öh£õ]m ö\´¯¨£mhÚ, 
BÚõÀ áÚÁ› 2022 AßÖ Á[Q AÔUøP°À £vÄ 
ö\´¯¨£mhÚ. 

 i\®£º 31, 2021 AßÖ ¹.1,000 Põ÷\õø» ÁÇ[P¨£mhx, 
ö\¯»õUP¨£hÂÀø». 

 £[SPÒ «uõÚ DÄzöuõøP ¹.500 Á[QU PnUQÀ ÁμÄ 
øÁUP¨£mhx, BÚõÀ £n¨¦zuPzvÀ £vÄ 
ö\´¯£¨£hÂÀø». 

 J¸ ÁõiUøP¯õÍº ‰»® Á[QU PnUQÀ ¹.600 
÷|μi¯õP öh£õ]m ö\´¯¨£mhx, Ax £n¨¦zuPzvÀ 
£vÄ ö\´¯¨£hÂÀø». 

 Á[QU Pmhn©õÚ ¹.60 Á[QU PhÄ¨ ¦zuPzvÀ ©mk® 
£v¯¨£mi¸¢ux.  

 31 i\®£º 2021 AßÖ £n¨¦zuPzvß£i C¸¨¦ 
¹.22,210. 
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18. A small delivery truck purchased by Sheikh Sadan 
Mazhar on January 1, 2014: 

 Cost Rs.13,000 

 Expected salvage value Rs. 1,000 

 Estimated useful life (years) 5 

 Estimated useful life (miles) 1,00,000 

  Mills expected use (units of activity in miles) are as 
follows 

  2014 -Rs.15,000 

  2015 -Rs.30,000 

  2016 -Rs.20,000 

  2017 -Rs.25,000 

  2018 -Rs.10,000 

  Calculate depreciation. 
 áÚÁ› 1, 2014 AßÖ ÷åU \uß©áõº Áõ[Q¯ J¸ ]Ô¯ 

öh¼Á› iμU : 

 ö\»Ä ¹.13,000 

 Gvº£õºUP¨£k® Põ¨¦ ©v¨¦ ¹.1,000 

 ©v¨¤h¨£mh £¯ÝÒÍ ÁõÌUøP (BskPÒ) 5 

 ©v¨¤h¨£mh £¯ÝÒÍ ÁõÌUøP (ø©ÀPÒ) 1,00,000 

 Bø»PÒ Gvº£õºUS® £¯ß£õk (ø©ÀPÎÀ ö\¯À£õmk 
A»SPÒ) ¤ßÁ¸©õÖ 

 2014 & ¹.15,000 

 2015 & ¹.30,000 

 2016 & ¹.20,000 

 2017 & ¹.25,000 

 2018 & ¹.10,000 

 ÷u´©õÚzøuU PnUQk[PÒ. 



F–8925 

  

  11

19. Write an essay on objectives of final accounts, procedure 
for the preparation of final accounts and benefits of final 
accounts. 

CÖvU PnUSPÎß ÷|õUP[PÒ, CÖvU PnUSPøÍz 
u¯õ›¨£uØPõÚ |øh•øÓ ©ØÖ® CÖvU PnUSPÎß 
£»ßPÒ SÔzx J¸ Pmkøμ GÊuÄ®. 

20. Elaborate the characteristics and benefits of fire 
insurance and discuss various types of fire insurance.  

w Põ¨¥miß Â›ÁõÚ £s¦PÒ ©ØÖ® |ßø©PÒ ©ØÖ® 
£À÷ÁÖ ÁøP¯õÚ w Põ¨¥kPÒ £ØÔ ÂÁõvUPÄ®. 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023. 

First Semester 

Commerce with Computer Applications 

RELATIONAL DATABASE MANAGEMENT SYSTEM 
(RDBMS) 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is database management? 

 uμÄzuÍ ÷©»õsø© GßÓõÀ GßÚ? 

2. What is a storage manager? 

 ÷\ª¨£P ÷©»õÍº GßÓõÀ GßÚ? 

3. Write down the definition of relational model. 

 öuõhº¦øh¯ ©õv›°ß Áøμ¯øÓø¯ GÊx[PÒ. 

4. What does division mean in relational algebra? 

 öuõhº¦øh¯ C¯ØPouzvÀ ¤›Ä GßÓõÀ GßÚ? 

5. Definition of basic queries in SQL. 

 SQL CÀ Ai¨£øh ÂÚÁÀPÎß Áøμ¯øÓ. 

6. What are the problems caused by the redundancy? 

 £o}UPzuõÀ HØ£k® ¤μa\øÚPÒ GßÚ? 

7. Define transaction concept. 

 £›ÁºzuøÚ P¸zøu Áøμ¯ÖUPÄ®. 

Sub. Code 
7BCC1C2 
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8. What do you mean by timestamp based protocols? 

 ÷|μ •zvøμ Ai¨£øh°»õÚ ö|Ô•øÓPÒ GßÓõÀ 
GßÚ? 

9. What are cluster indexes? 

 QÍìhº SÔ±kPÒ GßÓõÀ GßÚ? 

10. What is indexes and performance tuning? 

 SÔ±kPÒ ©ØÖ® ö\¯ÀvÓß \›¨£kzuÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How to convert ER diagram to relational database? 

   ER Áøμ£hzøu öuõhº¦øh¯ uμÄzuÍ©õP 
©õØÖÁx G¨£i? 

Or 

 (b) Describe the structure of DBMS. 

   DBMS Cß Pmhø©¨ø£ ÂÁ›UPÄ®. 

12. (a) Explain Logical database design. 

   u¸UP uμÄzuÍ ÁiÁø©¨ø£ ÂÍUPÄ®. 

Or 

 (b) How will you create, alter, destroy a table?  Explain 
with example.  

   J¸ AmhÁønø¯ G¨£i E¸ÁõUSÁx, ©õØÖÁx, 
AÈ¨£x?  Euõμnzxhß ÂÍUPÄ®. 

13. (a) What is correlated nested queries? 

   öuõhº¦ÒÍ EÒÍø© ÂÚÁÀPÒ GßÓõÀ GßÚ? 

Or 

 (b) What are the problems caused by redundancy? 

   £o}UPzuõÀ HØ£k® ¤μa\øÚPÒ GßÚ? 
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14. (a) Discuss about the implementation of atomicity and 
Durability. 

   Aq ©ØÖ® }izx {ø»zußø©ø¯ 
ö\¯À£kzxÁx £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Briefly explain about the implementation of 
isolation. 

   uÛø©¨£kzuø» ö\¯À£kzxÁx £ØÔ _¸UP©õP 
ÂÍUPÄ®. 

15. (a) Give a detailed about Hash based indexing. 

   íõè Ai¨£øh°»õÚ AmhÁøn¨£kzuÀ £ØÔ 
Â›ÁõP öPõkUPÄ®. 

Or 

 (b) Compare the various file organizations. 

   £À÷ÁÖ ÷Põ¨¦ Aø©¨¦PøÍ J¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different types of data model in detail with 
suitable examples. 

£À÷ÁÖ ÁøP¯õÚ uμÄ ©õv›PøÍ ö£õ¸zu©õÚ 
GkzxUPõmkPÐhß Â›ÁõP ÂÍUSP. 

17. Explain the following operation available in relational 
algebra. 

(a) Selection and projection 

(b) Joins 

 öuõhº¦øh¯ C¯ØPouzvÀ ¤ßÁ¸® ö\¯À£õmøh 
ÂÍUPÄ®. 

(A) ÷uºÄ ©ØÖ® Po¨¦ 

(B) Tmk 
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18. Explain Different types of operators in SQL. 

 SQL CÀ EÒÍ £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPøÍ 
ÂÍUSP. 

19. Explain in detail about different locking protocols in 
detail. 

öÁÆ÷ÁÖ »õUQ[ ö|Ô•øÓPøÍ¨ £ØÔ Â›ÁõP 
ÂÍUSP. 

20. How does the tree based index work? When is it most 
effective?  

©μ® \õº¢u SÔ±k G¨£i ÷Áø» ö\´QÓx? Ax 
G¨÷£õx ªPÄ® £¯ÝÒÍuõP C¸US®? 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023. 

Second Semester 

Commerce with Computer Applications  

ADVANCED ACCOUNTANCY – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by non-trading concern? 

 C»õ£ ÷|õUP©ØÓ {ÖÁÚ® GßÓõÀ GßÚ? 

2. Write a short note on entrance fees. 

 ~øÇÄ Pmhn® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What is average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

4. State the meaning of account current.  

 uØ÷£õøu¯ PnUS •øÓ¨£ØÔ ö£õ¸Ò TÖP. 

5. What do you mean by consignment? 

 AÝ¨¥k GßÓõÀ GßÚ? 

6. Write a short note on Abnormal Loss.  

 A\õuõμn CÇ¨¦ Gß£x £ØÔ ]Ö SÔ¨¦ ÁøμP. 

7. Give any two features of joint venture.  

 Cøn ÂøÚ°ß H÷uÝ® Cμsk C¯À¦PøÍ TÖP. 

8. Who is called co-ventures? 

 Cøn ÂøÚ¯õÍº Gß£Áº ¯õº? 

Sub. Code 
7BCC2C1 
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9. State the meaning of single entry system.  

 JØøÓ £vÄ •øÓ°ß ö£õ¸Ò u¸P. 

10. Write a short note on networth method.  

 {Pμ ©v¨¦ •øÓ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following details ascertain the amount of 
subscription to be credited to income and 
expenditure account for the year 1999. Subscription 
received in 1999 – Rs.48,000 which include Rs.4,000 
for 1998 and Rs.8,000 for Rs.2,000. Subscriptions 
due but note received at the end of the year 1999 
were Rs.20,000. Subscriptions received in 1998 in 
advance for 1999 were Rs.12,000. 

Calculate the amount of subscription to be shown in 
the income and expenditure account. 

   ¤ßÁ¸® ÂÁμ[PÒ 1999B® BsiØPõÚ 
Á¸©õÚ® ©ØÖ® ö\»ÂÚ PnUQÀ ÁμÄ 
øÁUP¨£k® \¢uõ AÍøÁ EÖv¨£kzxQßÓÚ. 
1999&À ö£ØÓx 1999&¹.48,000 CvÀ 1998&US 
¹.4,000 ©ØÖ® 2000US ¹.8,000. 1999B® Bsiß 
CÖv°À ö£Ó¨£mh \¢uõUPÒ¹.20,000 BS®. 
1998CÀ •ßTmi÷¯ 1999S›¯ ö£Ó¨£mh 
\¢uõUPÒ ¹.12,000.  

   Á¸Áõ´ ö\»ÂÚ PnUQÀ Põmh¨£h ÷Ási¯ 
\¢uõz öuõøPø¯U PnUQkP. 

Or 

 (b) Distinguish between receipts and payments 
account.  

   ö£ÖuÀPÒ ©ØÖ® ö\¾zxuÀ PnUSPÐUS 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ TÖP. 
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12. (a) Find out the average due date of the following bills 
accepted by a trader who wishes to settle them with 
one single payment.  
Date of Bill Amount of Bill Due date 

01.04.90 800 06.06.90 

30.04.90 1000 03.08.90 

03.06.90 400 06.07.90 

15.06.90 600 18.09.90 

   J¸ JØøÓ Pmhnzxhß AÁºPøÍ uÂºzx øÁUP 
Â¸®¦QÓ J¸ ÁºzuPº HØÖUöPõÒÐ® ¤ßÁ¸® 
Pmhn[PÎß \μõ\›¯õÚ ÷uvø¯U PshÔ¯Ä®. 

©÷\õuõ ÷uv ¤À öuõøP uÁøn |õÒ

01.04.90 800 06.06.90 

30.04.90 1000 03.08.90 

03.06.90 400 06.07.90 

15.06.90 600 18.09.90 

Or 

 (b) Explain the methods of calculating average due 
date.   

   \μõ\› uÁøn |õÒ PnUQk® •øÓø¯ ÂÍUSP. 

13. (a) Madurai Somu & co consigned 50 cases of goods  
@ Rs.200 each to Chennai Nathan & Co. Madurai 
Somu & Co paid Rs.200 as insurance and Rs.300 as 
freight. Nathan & Co. sold the goods for Rs.24,000 
and paid Rs.520 for carriage and Rs.130 for Godown 
Rent. Nathan & Co is eligible for 4% commission on 
gross sales. Nathan & Co sends cheque for the 
balance due. Show the journal entries and Nathan 
& Co account in the books of M/s.Madurai Somu & 
Co. 
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   ©xøμ ÷\õ• & ÷Põ ¹.200 Ãu® 50 ö£õ¸mPÎß 

\μUSPÒ ö\ßøÚ |õuß & ÷PõÂØS 
AÝ¨£¨£mhx. AvÀ ¹.200 Põ¨¥k®, ¹.300 \μUS 

Pmhn® Ah[S®. |õuß & ÷Põ ‰»® ¹.24,000US 
\μUSPÒ ÂØP¨£mhx. ÷©¾® ¹.520 T¼ ©ØÖ® 
¹.130 £shP\õø» ÁõhøP ö\¾zu¨£mhx. ö©õzu 
ÂØ£øÚ°À 4% PÈÄPøÍ ö£ØÖ «u® 
öPõkUP÷Ási¯ öμõUPzvØS Põ÷\õø»ø¯ |õuß 

& ÷Põ, ©xøμ ÷\õ• & ÷PõÂØS AÝ¨¤Úõº. ÷\õ• 

& ÷Põ PnUSPÎÀ SÔ¨÷£mk £vÄPøÍ £vÄ 
ö\´P. 

Or 

 (b) Distinguish between sales and consignment.  

   ÂØ£øÚ ©ØÖ® \μUSPÒ Cøh÷¯ EÒÍ 
÷ÁÖ£õkPøÍ TÖP. 

14. (a) Explain the preparation of memorandum joint 
venture account.   

   SÔ¨¦ CønÂøÚ P/S u¯õ›US® •øÓ £ØÔ 
TÖP. 

Or 

 (b) Explain the different methods of recording the joint 
venture transactions.  

   CønÂøÚ |hÁiUøPPøÍ £vÄ ö\´²® 
öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

15. (a) Deva started business with a capital of Rs.20,000 on 
1st January 2019. During the year he has 
withdrawn Rs.500 per month for his personal 
expenses. Also Deva has brought additional capital 
of Rs.5,000 into the business. His capital at the end 
of the year, i.e., on 31st December 2004 was 
Rs.36,000. Ascertain the profit or loss for the year.  
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   1&1&2019 ÷uÁõ Gß£Áº öuõhUP •uÀ 

¹.20,000xhß ÁoPzøu öuõh[QÚõº. JÆöÁõ¸ 

©õu•® ¹.500I ußÝøh¯ ö\õ¢u ÷uøÁUPõP 

GkzxU öPõshõº. ÷©¾® TkuÀ •u»õP ¹.5,000 

•u½k ö\´uõº. AÁ›ß CÖv •uÀ 31&12&2019 

AßÖ ¹.36,000 C¸¢ux. A¢u Á¸hzvØS›¯ 

C»õ£ |mhzøu PshÔP. 

Or 

 (b) Calculate total purchase  

 Rs. 

Cash purchase 8,500 

Cash paid to creditors  15,500 

Creditors on 1.1.2000 4,000 

Purchase returns 500 

Creditors on 31.12.2000 6,700 

  ö©õzu öPõÒ•uø» PshÔP. 

 ¹. 

öμõUP öPõÒ•uÀ  8,500 

PhÜ¢÷uõ¸US öμõUP® ö\¾zv¯x 15,500 

PhÜ¢÷uõº 1.1.2000 4,000 

öPõÒ•uÀ v¸¨£®  500 

PhÜ¢÷uõº 31.12.2000 6,700 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare income and expenditure account from the 
following receipts and payments accounts of Nazareth 
Sports Club for the year ending 31st Dec 2019. 

Nazareth Sports Club 
Receipts and payments Account  
for the year ending 31 Dec 2019 

Receipt  Rs. Payments Rs. 

To Balance b/d 1,000 By Rent 400

To Donations 520 By Sundry expenses 420

To Subscriptions 6,600 By Postage & Telegram 140

 By Stationery  60

 By investements  2,000

 By Balance c/d : 

  Cash in Bank 4,350

  Cash in hand  750

 8,120  8,120

 Additional information 

 (a)  Subscription from members outstanding in  
31 Dec 2019 Rs.400. 

 (b) Rent due but not paid on 31 Dec 2020 Rs.120 
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 öPõkUP¨£mh ö£ÖuÀ ö\¾zxuÀ PnUSPÒ 
Ai¨£øh°À |\μz ÂøÍ¯õmk \[Pzvß Á¸Áõ´ 
ö\»ÂÚ PnUSPøÍ 31.12.2019US u¯õº ö\´P. 

|\μz ÂøÍ¯õmk \[P® 
ö£ÖuÀ ö\¾zxuÀ PnUSPÒ & 31.12.2019  

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

Bμ®£ C¸¨¦ 1,000 ÁõhøP  400

|ßöPõøh 520 £Ø£» ö\»ÄPÒ  420

\¢uõ 6,600 u£õÀ ©ØÖ® u¢v 140

 GÊx ö£õ¸mPÒ  60

 •u½k 2,000

 CÖv C¸¨¦  

 Á[Q°À öμõUP® 4,350

 öμõUP øP°Ö¨¦ 750

 8,120  8,120

 SÔ¨¦  

 (A)  31.12.2019 BsiØPõÚ öPõk£hõu EÖ¨¤Úº  
\¢uõ ¹.400. 

 (B) 31.12.2019 BsiØPõÚ {¾øÁ ÁõhøP BÚõÀ 
öPõkUP¨£hÂÀø» ¹.120. 

17. X owes Y the following sums of money on the dates stated 
below. 

Rs.400 due on 5.1.2019 

Rs.200 due on 20.1.2019 

Rs.800 due on 4.2.2019 

Rs.100 due on 26.2.2019 

Rs.50 due on 10.3.2019 

Calculate the average due date  
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 X Gß£Áº YUS öPõkUP ÷Ási¯ ö©õzu £n® ©ØÖ® 

|õmPÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

 5.1.2019 AßÖ ¹.400 

 20.1.2019 AßÖ ¹.200 

 4.2.2019 AßÖ ¹.800 

 26.2.2019 AßÖ ¹.100 

 10.3.2019 AßÖ ¹.50 

 \μõ\› uÁøn |õÒ •øÓø¯ PnUQkP. 

18. Bharat Exporters Co. of Calcutta consigned 800 Bales of 

cotton goods to Shri. M. Inam of Mysore on 1.11.99. The 

cost price was Rs.600 per bale but the consignment 

invoice was made out at a figure to show a gross profit of 

20% on invoice price. Sri Inam reported on 31.1.2000 that 

he had sold 3/4th of the consignment at a profit of 25% on 

sales and he had incurred Rs.5,000 by way of freight and 

landing charges etc. and also Rs.3,000 by way of godown 

rent on exclusive of his commission. Consignor spent 

Rs.2,400 earlier as expense in dispatching the goods.  

Sri Inam was entitled to a commission of 5% on sales and 

20% of the net proceeds as bonus after charging up both 

the commission and the bonus. On 1.2.2000, Sri Inam 

sent a bank draft for the amounts so far due from him. 

Show the necessary ledger accounts in the books of 

Bharat Exporters Co.  

£õμz GUì÷£õºmhºì {ÖÁÚ®, PÀPmhõ 800 ö£À, £g_ 
ö£õ¸øÍ, ÿ C©õß, ø©`¸US 1.11.99 AßÖ 
AÝ¨¤Úõº. AhUP Âø» ¹.600 ö£À. BÚõÀ 
AÝ¨¤¯x 20% ö©õzu C»õ£® Chõ¨¦ øÁzx 
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AÝ¨¤Úõº. C©õß 3/4 ©h[S 31.1.2020 AßÖ 
ÂØ£øÚ ö\´x C¸¢uõº. Aøu 25% C»õ£® øÁzx 
ÂØ£øÚ ö\´x C¸¢uõº. AÁ›ß ö\»ÄPÒ ¹.5,000. 
HØÖ ©ØÖ® CÓUS T¼. AÁº uμS°À C¸¢x ¹.3,000 
÷\ª¨¦ Qh[S ÁõhøP ö\¾zvÚõº. AÝ¨¦|º 
¹.2,400&ø¯ ö£õ¸mPøÍ AÝ¨¦®÷£õx AÝ¨¤ T¼ 
ö\´x C¸¢uõº. C©õÝUS 5% uμS ÂØ£øÚ «x®, 20% 
{Pμ ÂØ£øÚ°À, ÷£õÚì ©ØÖ® uμS u¢u ¤ÓS 
1.2.2020, C©õß J¸ Á[Q ÁøμÄ uμ ÷Ási¯ 
öuõøPUS AÝ¨¤Úõº. £õμz GUì÷£õºmhºêß 
PnUSPÎÀ ÷£÷μkPÒ GÊxP. 

19. Distinction between joint venture and partnership.  

Tmhõsø© ©ØÖ® CønÂøÚ PnUSPÐUS® Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

20. Ajay keeps his books by the single entry method. His 
position on 31.12.2007 and 31.12.2008 was as follows. 

Particulars 2007 2008

Cash in hand 250 300

Cash at bank 2,750 2,200

Stock 21,000 18,000

Debtors 7,500 12,000

Furniture  1,750 1,575

Machinery  15,000 25,000

Creditors 18,000 23,000

 During the year Ajay introduced Rs.5,000 as further 
capital in the business and withdraw Rs.600 pm. from the 
above prepare a statement showing the profit or loss 
made by hm for the year ended 31.12.2008. 
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 Aá´ uÚx ¦zuP[PøÍ JØøÓ £vÄ •øÓ¯õÀ 
øÁzv¸UQÓõº. 31.12.2007 ©ØÖ® 31.12.2008 AßÖ 
AÁμx {ø»¨£õk ¤ßÁ¸©õÖ. 

 2007 2008

øP°À £n® 250 300

Á[Q°À £n©õP 2,750 2,200

£[S 21,000 18,000

PhÚõÎ 7,500 12,000

©μa\õ©õßPÒ 1,750 1,575

C¯¢vμ® 15,000 25,000

Phß öPõkzuÁºPÒ 18,000 23,000

 A¢u BsiÀ, Aá´ ¹.5,000 AÔ•P¨£kzvÚõº.  

600 pm. ÷©÷» C¸¢x 31.12.2008 B® Bsk 

•iÁøh¢u BsiÀ hm C»õ£® AÀ»x CÇ¨ø£U 
Põmk® J¸ AÔUøPø¯ u¯õº ö\´P. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a short note on Computer networks. 

 PoÛ Áø»¯ø©¨¦ £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

2. Define the term topology? 

ChÂ¯À GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

3. What is Protocol? 

ö|Ô•øÓ GßÓõÀ GßÚ? 

4. Write a short note on Frame. 

\mh® £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. What do you mean by broad casting? 

JÎ£μ¨¦ £ØÔ GÊxP. 

6. What is hierarchical routing? 

£i{ø» ¹mi[ GßÓõÀ GßÚ? 
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7. What is TCP? 

i.].¤ GßÓõÀ GßÚ? 

8. What is HTTP? 

Ga.i.i.¤ GßÓõÀ GßÚ? 

9. Define encryption. 

©øÓ SÔ±hõUPzøu Áøμ¯ÖUPÄ®. 

10. What is DES? 

i.C.Gì GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the different categories of network. 
   Aμ ¤øn¯zvß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUS[PÒ. 

Or 

 (b) Discuss the MAN. 

   MAN £ØÔ ÂÁõvUPÄ®. 

12. (a) Discuss about the CSMA protocols. 
   ] Gì G® H ö|Ô•øÓ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain the one bit sliding window protocol.  
   J¸ ¤m ö|QÌ \õÍμ ö|Ô•øÓø¯ ÂÍUS[PÒ. 

13. (a) Write a short note on multicast routing. 
   ©ÀiPõìm ¹mi[ SÔzx J¸ ]Ö SÔ¨ø£ 

GÊx[PÒ. 

Or 

 (b) Explain the dynamic routing. 
   øhÚªU ¹mi[ £ØÔ ÂÍUSP. 
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14. (a) Discuss about the web services. 
   Áø» ÷\øÁPÒ £ØÔ Â›ÁõP GÊxP. 

Or 

 (b) Discuss the UDP. 
   ²i¤ £ØÔ ÂÁõvUPÄ®. 

15. (a) Discuss the encryption model. 
   SÔ¯õUP ©õv›ø¯¨ £ØÔ ÂÁõvUP. 

Or 

 (b) Discuss about the AES. 

  AES £ØÔ ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the OSI reference model. 

OSI SÔ¨¦ ©õv›ø¯ ÂÍUS[PÒ. 

17. Discuss about Sliding window protocol. 
ö|QÌ \õÍμ ö|Ô•øÓ £ØÔ ÂÁõvUPÄ®. 

18. Explain about the Circuit Switching. 
_ØÖ ©õÖuÀ £ØÔ ÂÍUSP. 

19. Difference between hierarchical model routing and 
multiple routing. 
£i{ø» ©õv› ¹mi[ ©ØÖ® £ß©h[PõÚ ¹mi[ 
Cøh÷¯ EÒÍ ÷ÁÖ£õk PõsP. 

20. Write a short note on following  

 (a) Transposition (b) Substitution   
 ¤ßÁ¸ÁÚÁØøÓ £ØÔ J¸ ]Ö SÔ¨ø£ GÊx[PÒ. 

 (A) ©õØÓ®  (B) ©õØÕk 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write golden rules of accounting. 

 PnUQ¯¼ß £À÷ÁÖ Âv•øÓPøÍ £ØÔ GÊxP. 

2. List out the pre defined Ledgers tally. 

 •ß Áøμ¯ÖUP¨£mh ÷£÷μkPøÍ £mi¯¼kP. 

3. State the meaning of Accounts Information. 

 PnUQ¯À uPÁÀPÒ £ØÔ ÂÁ›. 

4. Write a short note on ‘FIFO’. 

 ‘FIFO’  •øÓø¯¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. What do you understand by ‘contra voucher’? 

 Contra μ^x £ØÔ }Âº AÔÁx ¯õx? 

6. Write short notes on “Memorandum voucher”? 

 {øÚÅmhÀ μ^x £ØÔ ]Ö SÔ¨¦ GÊxP. 

7. State any two uses of Accounting Books. 

 PnUS ¦zuP[PÎß £¯ßPÒ H÷uÝ® CμsiøÚ 
SÔ¨¤kP. 
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8. What is ‘cash flow statement’? 

 öμõUP |h©õmh AÔUøP GßÓõÀ GßÚ? 

9. Give the expansion of HTML. 

 HTMLUS Â›ÁõUP® TÖP. 

10. What do you understand by FTP? 

 FTP £ØÔ }Âº AÔÁx ¯õx? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of computer accounting? 

   PoÛ PnUQ¯¼ß £À÷ÁÖ |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the various Accounting features in tally. 

   PnUQ¯À £s¦PÎß ÁøPPøÍ ÂÁ›. 

12. (a) How do you create a new group in tally? 

   J¸ ¦v¯ SÊøÁ GÆÁõÖ }[PÒ ÷h¼°À 
E¸ÁõUSÃºPÒ? 

Or 

 (b) How to enter the foreign exchange transactions in 
tally?  

   ÷h¼°À öÁÎ|õmk £›ÁºzuøÚ PnUSPøÍ 
GÆÁõÖ £vÄ ö\´ÃºPÒ. 

13. (a) Describe any five merits of purchase voucher in 
tally. 

   öPõÒ•uÀ ÁÄa\›ß EÒÍ H÷uÝ® I¢x 
|ßø©PøÍ¨ £ØÔ ÂÁ›²[PÒ. 

Or 

 (b) How will you prepare a inventory statement using 
Tally? 

   ÷h¼°À \μUS AÔUøPø¯ GÆÁõÖ u¯õº ö\´Áx? 
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14. (a) Bring out the features of display menu. 

   Põm] Aø©¨¤ß A®\[PøÍ öÁÎU öPõnºP. 

Or 

 (b) Explain the different types of accounting books. 

   PnUQ¯À ¦zuP[PÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

15. (a) Describe the steps for ratio analysis in Tally. 

   ÷h¼°À EÒÍ ÂQu £S¨£õ´Ä ÁÈ •øÓPøÍ 
ÂÁ›UP. 

Or 

 (b) Discuss the different uses of security in Tally. 

   ÷h¼°ß £õxPõ¨¦ •øÓ°À EÒÍ £À÷ÁÖ 
£¯ßPøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the evolution of Tally. 

 ÷h¼°ß £›nõ© ÁÍºa]ø¯¨ £ØÔ ÂÁ›. 

17. Explain the inventory summary system in tally. 

 \μUS £mi¯¼kuÀ •øÓPøÍ SÔzx ÂÍUP©õP GÊxP. 

18. What are the advantages of the invoice entry? 

 Âø»¨£mi¯À £vÂÀ EÒÍ |ßø©PÒ ¯õøÁ? 

19. Explain the different types of cash book in tally. 

 £À÷ÁÖ ÁøP¯õÚ öμõUP HkPøÍ¨ £ØÔ ÂÍUSP. 

20. Explain the functionality of the bank reconciliation 
statement.  

Á[Q \›UPmk® £mi¯¼ß ö\¯À£õkPøÍ £ØÔ ÂÁ›. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you understand by Data type? 

 Data type Gß£øu¨ £ØÔ }Âº AÔÁÚ ¯õx? 

2. What is meant by keyword? 

 Keyword Gß£uß ö£õ¸Ò TÖP. 

3. Give the List of Assignment operator in C. 

 C CÀ Aø\ßö©ßm B£÷μmh›ß £mi¯ø» GÊxP. 

4. Give any two Advantages of Switch statement. 

 _Âma AÔUøP°ß H÷uÝ® Cμsk £¯ß£õkPøÍ TÖP. 

5. State the meaning of Array. 

 Array Gß£uß ö£õ¸Ò u¸P. 

6. Distinguish between local and global variable. 

 Local ©ØÖ® global ©õÔUS Cøh°»õÚ ÷ÁÖ£õk. 
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7. State the meaning of pointers. 

 Pointers Gß£uß ö£õ¸Ò TÖP. 

8. What do you mean by Size of operator with example?  

 Size of operator GßÓõÀ GßÚ? GkzxUPõmk u¸P. 

9. Write a short note of Union? 

 Union £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. Mention the use of getchar(). 

 getchar()Cß £¯ß£õmøhU TÖP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write about basic structure of C program. 

  C {μ¼ß Ai¨£øh Pmhø©¨¦ £ØÔ GÊxP. 

Or 

 (b) Write short notes on scanf () function in C with 
example. 

  C CÀ scanf() ö\¯À£õmøh¨ £ØÔ¯ ]Ö SÔ¨¦PøÍ 
GkzxUPõmkhß GÊxP. 

12. (a) Explain the For loop statement with example. 

  For loop AÔUøPø¯ GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Discuss the while loop with example. 

  While loop-ø¯ £ØÔ GkzxUPõmkhß ÂÍUSP. 
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13. (a) Explain the single dimensional array with example.  

  Single dimensional array-ø¯ GkzxUPõmkhß 
ÂÍUSP. 

Or 

 (b) Write short notes on the following string functions 
with examples.  

  (i) strcat ()  

  (ii) strlen() 

  ¤ßÁ¸® \μ® ö\¯À£õkPøÍ¨ £ØÔ ]Ö SÔ¨¦ 
ÁøμP. 

  (i) strcat ()  

  (ii) strlen()  

14. (a) List out the advantages of function in C. 

  C CÀ ö\¯À£õmiß |ßø©PøÍ £mi¯¼kP. 

Or 

 (b) Write about structure with an example. 

  Structure £ØÔ GkzxUPõmkß ÂÍUSP. 

15. (a) Discuss about the advantages of Pointers in C. 

  C CÀ Pointers EÒÍ |ßø©PÒ £ØÔ ÂÁ›UPÄ®. 

Or 

 (b) Describe about how to create a file in C with 
example. 

  C CÀ J¸ ÷Põ¨ø£ GÆÁõÖ E¸ÁõUSÁx Gß£x 
£ØÔ ÂÍUSP.  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enumerate the operators in C. 

 CCÀ Operators £ØÔ ÂÁ›UPÄ®. 

17. Write a C program to find the number is Armstrong or 
not. 

 öPõkUP¨£k® Gsøn B®ìmμõ[ AÀ»x B®ìmμõ[ 
CÀø»¯õ Gß£øuU Psk¤iUP J¸ C {μø» GÊxP. 

18. Explain the user defined function with example. 

 £¯Úº Áøμ¯ÖUP¨£mh ö\¯À£õmøh¨ £ØÔ 
GkzxUPõmkhß ÂÍUSP. 

19. Write a C program for to find factorial of given number. 

 öPõkUP¨£mh Gsoß PõμoPøÍU Psk¤iUP  
C {μø» GÊxP. 

20. Explain about file’s I/O function in C. 

 C ÷Põ¨¤ß I/O ö\¯À£õkPøÍ ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are data? 

 uμÄ GßÓõÀ GßÚ? 

2. What is a sample? 

 ©õv› GßÓõÀ GßÚ? 

3. What is frequency Distribution? 

 Aø»öÁs £μÁÀ GßÓõÀ GßÚ? 

4. Mention the types of average. 

 \μõ\›°ß ÁøPPøÍ SÔ¨¤kP. 

5. What are quartiles? 

 PõÀ©õÚ® GßÓõÀ GßÚ? 

6. Write a note on correlation. 

 Ehß öuõhº¦ £ØÔ SÔ¨¦ ÁøμP. 

7. What is Index Number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 
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8. What is consumer index number? 

 ~Pº÷Áõº SÔ±mk GsPÒ GßÓõÀ GßÚ? 

9. What are the components of time series? 

 Põ»®\õº öuõhºÁ›ø\PPÎß £SvPÒ ¯õøÁ? 

10. What do you understand the moving average methods? 

 |P¸® \μõ\› •øÓø¯¨ £ØÔ }Âº AÔÁx ¯õx? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various limitations of statistics. 

   ¦ÒÎ°¯¼ß £À÷ÁÖ SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) Explain the various methods of collection primary 
data. 

   •ußø© uμÄ ÷\P›US® •øÓPøÍ ÂÁ›. 

12. (a) Calculate mean for the following date:  
Value: 1 2 3 4 5 6 7 8 9 10

Frequency: 21 30 28 40 26 34 40 9 15 57

   ¤ßÁ¸® ÂÁμ[PÐUS Tmk \õμõ\› ©v¨¤kP. 

©v¨¦       & 1 2 3 4 5 6 7 8 9 10

Aø»öÁs& 21 30 28 40 26 34 40 9 15 57

Or 

 (b) Explain the merits and demerits of quartile 
deviation.  

   PõÀ©õÚ Â»UPzvß |ßø© ©ØÖ® wø©PøÍ 
ÂÁ›. 
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13. (a) Distinguish between correlation and regression 
analyse. 

   JmkÓÄ ©ØÖ® öuõhº÷£õUS BQ¯ÁØÔØQøh÷¯ 
EÒÍ ÷ÁØÖø©PøÍ u¸P. 

Or 

 (b) If the covariance between X and Y variables is 10 
and the variance of X and Y are 16 and 9 
respectively, find the coefficient of correlation. 

   X, Y BQ¯ ©õÔPÎß Ehß ©õÖ£õk 10 BS®. 
AøÁPÎß vmh Â»UP[PÒ •øÓ÷¯ 16 ©ØÖ® 9 
BS®. X, Y°ß Ehß JmkÓÄ SnP® PõsP. 

14. (a) Explain the any two methods of construction of 
index number. 

  SÔ±möhs Aø©US® H÷uÝ® C¸•øÓPøÍ 
ÂÁ›. 

Or 

 (b) Calculate index number for the following data by: 

  (i) Laspeyre’s methods 

  (ii) Paasche’s methods  
 Base Year Current Year

 Kilo Rate 
Rs. 

Kilo Rate
Rs. 

Bread 10 3 8 3.25 

Meat 20 15 15 20 

Tea 2 25 3 23 

   ¤ßÁ¸® ÂÁμ[PÐUS RÌPsh SÔ±mk GsPÒ 
PõsP. 

   (i)  C»õ_¤¯º  

   (ii) £õìQ SÔ±möhs 
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 Ai¨£øh Bsk |h¨¦ Bsk

 Q÷»õ Âø» 

(¹.) 

Q÷»õ Âø»

(¹.) 

EnÄ 10 3 8 3.25 

CøÓa] 20 15 15 20 

÷u}º 2 25 3 23 

15. (a) Explain the advantages of Probability. 

   {PÌuPÄPÎß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) The production of a sugar factory for the following 
years are given below. Calculate 3 yearly moving 
average.  

Years: 1971 1972 1973 1974 1975 1976 1977

Production (in tons): 80 90 92 83 94 99 82 

   \ºUPøμ Bø»°ß EØ£zv ¦ÒÎ Â£μzv¼¸¢x 3 
Bsk |P¸® \μõ\› PnUQkP. 

Bsk                 : 1971 1972 1973 1974 1975 1976 1977

EØ£zv ({ÖzuÍÄ) : 80 90 92 83 94 99 82 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various methods of sampling. 

 ©õv›PÎß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

17. Find the median and mean deviation for the data:  
X 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Y 9 14 18 24 17 15 11 
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 ¤ßÁ¸® ÂÁμ[PÐUS Cøh{ø» ©ØÖ® Cøh{ø» 
Â»UP® PõsP. 

X 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Y 9 14 18 24 17 15 11 

18. Calculate Karl Pearson’s coefficient of skewness.  

Wages: 5 6 7 8 9 10 11 12

Workers: 25 45 65 100 30 75 40 50

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PõºÀ ¤¯º]ß ÷PõmhU 
öPÊÂøÚU PnUQkP. 

T¼PÒ: 5 6 7 8 9 10 11 12

÷Áø»¯õmPÒ: 25 45 65 100 30 75 40 50

19. For the following data calculate fishers ideal index and 
verify factor reversal test.  

 2019 2020 

Commodity Price Quantity Price Quantity

X 40 1500 100 1200 

Y 30 1000 80 240 

Z 20 150 40 120 

 ¤ßÁ¸® ÂÁμ[PÐUS ¤åº SÔ±möhs PõsP. 
Au÷Úõk Põμo ©õØÖz ÷uºÄ GÆÁõÖ {øÓÄ ö\´QÓx 
Gß£øu AÔP. 

 2019 2020 

ö£õ¸Ò Âø» AÍÄ Âø» AÍÄ

X 40 1500 100 1200 

Y 30 1000 80 240 

Z 20 150 40 120 
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20. Four cards are drawn without replacement. What is the 
probability that they all.  

 (a) are king 

 (b) have the same value 

 (c) are heart 

 (d) are of different suits.  

 |õßS PõºkPÒ ©Ö•øÓ øÁUPõ©À GkUP¨£mhÚ. 
AÁØÔÀ {PÌuPÄ GßÚ? 

 (A) AøÚzx® CμõáõÁõP C¸UP 

 (B) AøÚzx® J÷μ ©õv›¯õP C¸UP 

 (C) AøÚzx® Cu¯©õP C¸UP 

 (D) öÁÆ÷ÁÖ PõºkPÍõP C¸UP  

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. How many partners are allowed in a firm at the 
maximum? 

J¸ Tmhõsø©°À AvP£m\® GÆÁÍÄ TmhõÎPÒ 
AÝ©vUP¨£kQÓõºPÒ? 

2. What is Profit and Loss Appropriation Account? 

 C»õ£ |mh¨ £QºÄU PnUS GßÓõÀ GßÚ? 

3. What do you understand by the term Goodwill? 

 ‘|Øö£¯º’ GßÓ £u® £ØÔ }Âº AÔ¢ux ¯õx? 

4. Write the different methods of valuing goodwill. 

 |ß©v¨ø£ PnUQk® •øÓPøÍ TÖP. 

5. Explain: Garner Vs. Murray. 

 ÂÁ›UP : PõºÚº Vs. •º÷μ  

6. What is retirement of a partner? 

 TmhõÎ Â»PÀ GßÓõÀ GßÚ? 
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7. Give the meaning of Dissolution of Firm. 

 {ÖÁÚU Pø»¨¦ Gß£uß ö£õ¸Ò u¸P. 

8. What do you mean by sale of firm to a company? 

 {ÖÁÚzøu {Ö©zvØS ÂØ£øÚ ö\´Áx Gß£x £ØÔ 
E©x P¸zx ¯õx? 

9. Explain: Proportionate Capital Method. 

 ÂQu ‰»uÚ •øÓø¯ ÂÁ›UP. 

10. What is deficiency account? 

 £ØÓõUSøÓU PnUS Gß£x GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) X and Y share profits and losses in the ratio of 3 : 2 
and from January 1, 2003, they admit Z who is to 
have 1/6 share of profit with a guaranteed minimum 
of Rs. 25,000. X and Y continue to share profits as 
before, but agree to guarantee any excess over 1/6 of 
profit going to Z in the ratio of 4 : 1 respectively. 
The profits of the firm for the year was  
Rs.1,20,000. Prepare a Profit and Loss 
Appropriation account. 

   X ©ØÖ® Y C»õ£ |mh[PøÍ 3 : 2 ÂQuzvÀ 
£Qº¢x öPõÒQßÓÚº. ÷©¾® áÚÁ› 1, 2003 AßÖ 
CÁºPÒ Z Gß£Áøμ 1/6 £[QØS ¹.25,000 
SøÓ¢u£m\  C»õ£ EzvμÁõuzxhß 
Tmhõsø©°À ÷\º¢xU öPõshÚº. X ©ØÖ® Y 
•ß¤¸¢u£i÷¯ C»õ£ £QºøÁ öuõhº¢uÚº. 
BÚõÀ Z QøhUS® 1/6 £[QØS ªøP¯õÁøu 4 : 1 
ÂQuzvÀ HØÖUöPõÒÍ J¨¦U öPõshÚº. 
CÆÁõsk C»õ£® ¹.120000 

   C»õ£ |mh £QºÄ P/S u¯õ›UP. 

Or 
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 (b) A and B are partners in a firm sharing profits in the 
ratio 3:2. Following is the Balance sheet of the firm 
as on 31.3.2020. 

Balance sheet 

Liabilities Rs. Assets Rs. 

A’s capital 30,000 A’s drawings 4,000 

B’s capital 10,000 B’ drawings 2,000 

  Other assets 34,000

 40,000  40,000

Profit for the year 2020, Rs.8,000 was divided 
between the partners in the agreed ratio but 
interest on capital at 5% and on drawings at 6% was 
inadvertently ignored. Adjust and show the Journal 
entry. 

   A ©ØÓ® B »õ£ |mhzøu 3:2 GÚ ¤›UQßÓÚº. 
31.12.2020À C¸¨¦ {ø» SÔ¨¦ R÷Ç 
uμ¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ A 30,000 Gk¨¦ A 4,000 

•uÀ B 10,000 Gk¨¦ B 2,000 

  ©ØÓ 
ö\õzxUPÒ

34,000

 40,000  40,000

  2020À »õ£® ¹.8,000 HØÖU öPõÒÍ¨£mh 
ÂQuzvÀ ¤›UP¨£mhx. ‰»uÚ Ámi 5% ©ØÖ® 
Gk¨¤ØPõÚ Ámi 6% Âh¨£mhx. \›UPmk® 
•uØSÔ¨÷£k PõmhÄ®. 
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12. (a) A and B are partners sharing profits in the ratio of 
5: 3. On admission of a new partner ‘C’ they decide 
to revalue the assets and liability of the firm. 

  (i) Increase the value of building by Rs.22,000 

  (ii) Unrecorded investments of Rs.4,000 to be 
brought into account 

  (iii)  Decrease the stock by Rs.2,000 and furniture 
by Rs.1,000 

  (iv)  Write off sundry creditors by Rs.1,000. 

  Prepare the Revaluation Account. 

   A, B GßÓ TmhõÎPÒ 5:3 GßÓ ÂQuzvÀ 
C»õ£zøu¨ £Qº¢x Á¢uÚº. C GßÓ TmhõÎø¯ 
÷\ºUS®÷£õx {ÖÁÚzvß ö\õzxUPÒ ©ØÖ® 
ö£õÖ¨¦UPÒ BQ¯ÁØøÓ ©Ö©v¨¥k ö\´¯ 
•iöÁkzuÚº.  

   (i) Pmih ©v¨ø£ ¹.22,000 AvP›UP ÷Ásk®. 

   (ii) HkPÎÀ £vÄ ö£Óõ©À EÒÍ •u½kPÒ 
¹.4,000 PnUQÀ öPõsk Áμ ÷Ásk®. 

   (iii) \μUQ¸¨¦ ©v¨ø£ ¹.2,000® AøÓP»ß 
©v¨ø£ ¹.1,000 SøÓUP ÷Ásk®. 

   (iv)  £Ø£» PhÜ¢÷uõ›À ¹.1,000 ÷£õUSöPÊu 
÷Ásk®. ©Ö©v¨¥mkU PnUøP u¯õº ö\´P. 

Or 

 (b) Akila and Banu are partners sharing profits in the 
ratio 3:2. A new partner Chandra is admitted. Akila 
surrenders 1/5th share of her profit in favour of 
Chandra and Banu 2/5th of her share in favour of 
Chandra. Calculate New ratio.  

   AQ»õ ©ØÖ® £õÝ Gß£Áº 3:2 ÂQuzvÀ 
C»õ£[PøÍ £Q¸® TmhõÎPÒ. \¢vμõ GßÓ ¦v¯ 
TmhõÎø¯ ÷\ºzx öPõshÚº. AQ»õ AÁº £[QÀ 
1/5&® £õÝ AÁºu® £[QÀ 2/5&® \¢vμõÂØPõP 
\μs ö\´uÚº. ¦v¯ ÂQu® PnUQkP. 
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13. (a) X, Y and Z are partners sharing profit and losses in 
the ratio of 2:3:5. “X” retires and “P” is admitted in 
his place. The new profit-sharing ratio between Y, Z 
and P is 2:3:1. From the following prepare capital 
accounts of partners: 

  Capitals: X Rs.10,000 
    Y Rs.15,000 
    Z Rs.20,000 
    Profit on revaluation Rs.10,000 
    General reserve Rs.40,000 
    Goodwill is raises at Rs.30,000 and 

written off on the admission of P. 

   X, Y ©ØÖ® Z BQ¯ TmhõÎPÒ 2:3:5 GßÓ 
ÂQuzvÀ C»õ£ |mh[PøÍ¨ £QºQßÓÚº. ‘X’ 
K´Ä ö£ÖQÓõº. ©ØÖ® AÁμx ChzvÀ ‘P’ 
AÝ©vUP¨£kQÓõº. ¦v¯ C»õ£ ÂQu® Y, Z ©ØÖ® 
P 2:3:1.  RÌUPsh Â£μ[PÎÀ C¸¢x 
TmhõÎPÎß •uÀ PnUøP u¯õ›UPÄ®. 

   •uÀ X-¹.10,000 Y-¹.15,000 Z-¹.20,000, ©Ö 
©v¨¥k C»õ£® ¹.10,000, ö£õx Põ¨¦ ¹.40,000, 
|Øö£¯º ¹.30,000 ÷uõØÖÂUP¨£mk ‘P’°ß 
÷\º¨¤ØS¨ ¤ÓS }UP¨£mhx. 

Or 

 (b) Mani and Gani are sharing profits in the ratio of 
5:3. They took out a joint life policy of Rs.40,000 on 
1.1.2017 for twenty years by paying an annual 
premium of Rs.2,200. Gani died on 1.4.2020 and the 
claims was received on May 25. Show the accounts 
treating the premium paid as an expense and is 
closed every year to the profit and loss account. 

   ©o ©ØÖ® PÛ 5:3 ÂQu £[SuõμºPÒ. Cøn¢u 
Põ¨¥k JßøÓ ¹.40,000US 1.1.2017À  
20 Á¸h[PÐUS Gkzx BsiØS •øÚ©® 
¹.2,200 PmiÚº. PÛ 1.4.2020À CÓ¢uõº. Auß 
÷Pm¦PÒ ÷© ©õu® 25® ÷uv Qøhzux. 
•øÚ©zøu ö\»ÂÚ©õPU öPõsk JÆöÁõ¸ 
Bsk® »õ£ |mh PnUS u¯õ›zx Hmøh {øÓÄ 
ö\´¯Ä®. 
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14. (a) G, M and W were equal partners. The following was 
the position after dissolution but before settlement 
of accounts. 

Balance Sheet 

Liabilities Rs. Assets Rs. 

G’s capital 2,500 W’s capital 263

M’s capital 314 Realization loss 636

  Cash balance 1,915

 2,814  2,814

W proved to be bankrupt and could not contribute 
anything towards his capital deficiency. Show the 
accounts to record the above dissolution. 

   G, M ©ØÖ® W Gß£ÁºPÒ \©£[S £[SuõμºPÒ. 
Pø»¨¦ {PÌÄ ö£ØÓ ¤ß PnUS ÷|º ö\´²® 
•ß¦ C¸¨¦ {ø»USÔ¨¦ uμ¨£mkÒÍx.  

C¸¨¦ {ø»USÔ¨¦ 

ö£õÖ¨¦UPÒ ¹. ö\õzxUPÒ ¹. 

•uÀ G 2,500 W’ß •uÀ  263

•uÀ M 314 wºøÁ |mh® 636

  öμõUP C¸¨¦ 1,915

 2,814  2,814

  W Gß£Áº ö|õi¨¦ {ø» Aøh¢uõº. AÁμõÀ 
{ÖÁÚzvØS GxÄ® uμ C¯»ÂÀø». {ÖÁÚU 
Pø»¨¤ØS ÷uøÁ¯õÚ PnUSPøÍ u¸P. 

Or 
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 (b) The Balance Sheet of K, M and L who were sharing 
profits in the ratio of 3: 1: 1, stood as follows on  
31-12-19 that is the data of dissolution. 
Liabilities Rs. Assets Rs. 

Creditors 1,05,000 Sundry Assets 1,09,000 

Capitals :   K 15,000 L’s capital 21,000 

 M 10,000   

 1,30,000  1,30,000 

  The assets realised Rs. 79,750, realisation expenses 
were Rs. 2,000. Prepare necessary Ledger accounts 
assuming that all partners are insolvent. 

   K, M ©ØÖ® L  BQ÷¯õº 3:1:1 ÂQuzvÀ 
C»õ£[PøÍ £Q¸® TmhõÎPÎß 31.12.19 
÷uv°mh, Pø»¨¦, ÷uv, C¸¨¦ {ø»U SÔ¨¦ 
RÌÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 1,05,000 £Ø£» ö\õzxUPÒ 1,09,000 

•uÀPÒ :   K 15,000 L & •uÀ 21,000 

 M 10,000   

 1,30,000  1,30,000 

  ö\õzxUPÎß ÂØÖ ÁμÄ ¹.79,750. wºÄa ö\»Ä 
¹.2,000. AøÚzxU TmhõÎPÐ® ö|õizuÚº GÚU 
öPõsk ÷£÷μk u¯õ›UP. 

15. (a) Explain maximum loss method of distribution of 
cash. 

   Ea\ Pmh |mh •øÓ°À £n® £mkÁõhõ ö\´²® 
•øÓø¯ ÂÍUSP. 

Or 
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 (b) R, S and T share profits of a firm in the ratio of 
2:1:1 respectively. On the date of dissolution their 
Balance Sheet stood as follows.  

Liabilities Rs. Assets Rs. 

Creditors 10,000 Assets 60,000

R’s loan 5,000 Cash in hand 1,000

S’s loan 3,000  

Capital – R 20,000  

Capital – S 15,000  

Capital – T 8,000  

 61,000  61,000

  The asset realized Rs.45,000 which were received in 
installments of Rs.15,000, Rs,16,000 and Rs. 14,000. 
Show how proceeds should be distributed as and 
when receive by following the proportionate capital 
method. 

   R, S ©ØÖ® T »õ£ |mhzøu 2:1:1 GÚ¨ 
¤›UQßÓÚº. Pø»¨¦ |øhö£ØÓ AßÖ C¸¨¦ 
{ø»U SÔ¨¦ uμ¨£mkÒÍx.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 10,000 ö\õzxUPÒ 60,000

R&ß Phß 5,000 öμõUP 
C¸¨¦ 

1,000

S&ß Phß  3,000  

•uÀ & R 20,000  

•uÀ & S 15,000  

•uÀ & T 8,000  

 61,000  61,000

   ö\õzxUPÒ ÂØ£øÚ°À ö©õzu® ¹.45,000, 
GÚ •uÀ uÁøn°À ¹.15,000, Cμshõ® 
uÁøn°À ¹.16,000 ©ØÓ® ‰ßÓõ® uÁøn°À 
¹.14,000. •uÀ ÂQuzvß£i £n® GÆÁõÖ 
¤›zuÎUP¨£mhx Gß£øuU Põs¤UPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What do you understand by ‘Piecemeal distribution’? 
Explain the different methods of making such 
distribution. 

£Sv Â{÷¯õP® £ØÔ }Âº AÔÁx ¯õx? A¢u 
Â{÷¯õPzvß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

17. I and J were in partnership sharing profits in the ratio of 
3: 2. Their Balance Sheet on 30.6.04 was as follows. 

Liabilities Rs. Assets Rs. 

Capital account  Machinery 20,000

 I 50,000 Buildings 25,000

 J 45,000 Furniture 6,000

Creditors 25,000 Stock 15,000

  Debtors 30,000

  (-) 
Provision 

2,000 28,000

  Cash  26,000

 1,20,000   1,20,000

 They want take K into partnership subject to following: 

 (a) K pays Rs. 25,000 as capital for 1/4th share in the 
business. 

 (b) Machinery is increased by 20% and building be 
reduced to Rs. 20,000. 

 (c)  Provision for doubtful debts be increased to  
Rs. 3,000. 

(d)  An item of Rs. 2,000 included in sundry creditors is 
not likely to be claimed.  

 (e)  Certain investments to Rs. 13,000, not in above 
balance sheet, be brought into account. Show the 
Revaluation Account, Capital Account, and Balance 
sheet.  
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 I ©ØÖ® J BQ÷¯õº J¸ Tmhõsø©°À C»õ£[PøÍ 
3:2 ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. CÁºPÎß 31.06.04 
÷uv°mh C¸¨¦ {ø» SÔ¨¦ RÌÁ¸©õÖ. 

ö£õÖ¨¦UPÒ ¹. ö\õzxUPÒ ¹. 

•uÀ PnUS   C¯¢vμ® 20,000

 I 50,000 Pmih[PÒ 25,000

 J 45,000 ©øÚ¯øn¯[PÒ 6,000

PhÜ¢÷uõº 25,000 \μUQ¸¨¦ 15,000

  PhÚõÎPÒ 30,000

  (-) JxUS 2,000 28,000

  öμõUP®  26,000

 1,20,000   1,20,000

 CÁºPÒ K Gß£Áøμ RÌÁ¸® \μzxUPÒ£i 
Tmhõsø©°À ÷\ºzxU öPõÒÍ Â¸®¤Úº. 

 (A) ¹.25,000 •u»õP 1/4 £[QØS K ö\¾zu ÷Ásk®. 

 (B) C¯¢vμ® 20% ©v¨÷£ØÓ® ö\´¯ ÷Ásk®. ÷©¾® 
Pmhh[PÒ ¹.20,000&ØS SøÓUP¨£h ÷Ásk®. 

 (C) Áõμõ I¯U Phß JxUS ¹.3,000&ØS E¯ºzu 
÷Ásk®. 

 (D) PhÜ¢÷uõ›À EÒÍ J¸ ¹.2,000 ö\¾zu 
÷Ási°¸UPõx. 

 (E) SÔ¨¤mh J¸ •u½kPÒ ¹.13,000 ÷©ØT›¯ 
C¸¨¦ {ø»U SÔ¨¦ CÀ»õuøÁ PnUQÀ öPõsk 
Áμ ÷Ásk®.  

 ©Ö ©v¨¥mk PnUS, •uÀ PnUS ©ØÖ® C¸¨¦ {ø»U 
SÔ¨¦ PõmkP.  

18. M, N and O are sharing profits in the ratio of 3:2:1 agreed 
to dissolve the firm on 31.12.2019 on which date their 
balance sheet was as follows: 

Liabilities Rs. Assets Rs. 

Creditors 18,500 Bank 5,420

Mrs. M’s loan 10,000 Debtors 9,300

Life policy 
fund 

14,000 (-) provision 600 8,700
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Liabilities Rs. Assets Rs. 

  life policy 14,000

Investment  Stock 7,550

Fluctuation 
fund 

6,000 Investments 20,830

Capital – M 40,000 Machinery 40,500

Capital – N 20,000 Current account Q 11,500

 1,08,500  1,08,500

The life policy is surrendered for Rs.12,000. M took over 
investments at Rs.17,500 and agreed to discharge  
Mrs. M’s loan accounts. N took over all stock and debtors 
worth Rs.5,000 at Rs. 4,000. The remaining debtors 
realized at 50% of the book value. Machinery is sold for 
Rs.55,000. The expenses amount to Rs.600. 

 The unrecorded investment of Rs.3,000 was taken over by 
the creditors at the same value. Prepare the necessary 
Ledger accounts to close the firm.  

 M, N ©ØÖ® O°ß C»õ£zøu 3:2:1 GßÓ ÂQuzvÀ R÷Ç 
uμ¨£mkÒÍ {Ö©zvß C¸¨¦ {ø»U PnUQ¼¸¢x 
¤›zx öPõÒÁuõP GkzxUöPõsk 31.12.2019 AßÖ 
A¢{Ö©® Pø»UP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 18,500 Á[Q°¸¨¦ 5,420

v¸©v. M’s ß Phß 10,000 PhÚõÎPÒ 9,300

B²Ò Põ¨¦ {v 14,000 (-) JxUS 600 8,700

  Cøn B²Ò Põ¨¦ 14,000

  \μUQ¸¨¦ 7,550

ö\õzx {ø»¯ØÓ {v 6,000 •u½kPÒ 20,830

•uÀ M 40,000 C¯¢vμ® 40,500

•uÀ N 20,000 Q-ß |h¨¦ P/S 11,500

 1,08,500  1,08,500
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 B²Ò Põ¨¥k ¹.12,000ØS v¸¨£¨£mhx. •u½møh 
¹.17,500 ö£ØÖ v¸©v M-Phß ö£õÖ¨ø£ HØÓõº. 
N&\μUøP ¹.5,000US PhÚõÎPøÍ ¹.4,000US HØÓõº. 
«v PhÚõÎPÒ ¦zuP ©v¨¤À 50% £n©õUP¨£mhx. 
C¯¢vμ® ¹.55,000ØS ÂØP¨£mhx. ö\»ÄPÒ ¹.600. 
÷£÷μmiÀ £v¯¨£hõu •u½k ¹.3,000 ©v¨¤ØS, J¸ 
PhÜ¢÷uõº ö£ØÖU öPõshõº. Tmhõsø©ø¯ 
‰kÁuØS ÷uøÁ¯õÚ ÷£÷μkPøÍz u¯õ›UPÄ®. 

19. The Balance sheet of M. G. R as on 31.12.2000 
Liabilities Rs. Assets Rs. 

Creditors  80,000 Bank 2,000

M’s loan 20,000 Stock 48,000

Capital – M 10,000 Debtors  40,000

G 6,000 Furniture  6,000

  R’s capital  20,000

 1,16,000  1,16,000

 The firm is dissolved. G and R cannot pay anything. M 
can contribute only Rs.3,000 from his private estate. 
Stock realises Rs.30,000; Debtors Rs.32,000; and 
furniture is sold for Rs,2,000. Expenses amounted to 
Rs.6,000. Prepare accounts to close the books of the firm. 

 2000. i\®£º 31&À £i M. G. R. ß C¸¨¦ {ø»U SÔ¨¦ 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 80,000 Á[Q  2,000

M&Phß 20,000 \μUQ¸¨¦ 48,000

•uÀ  M 10,000 PhÚõÎPÒ 40,000

•uÀ  G 6,000 AøÓP»ß 6,000

  R&ß •uÀ 20,000

 1,16,000  1,16,000

 {ÖÁÚ® Pø»UP¨£mhx. G, R C¸Á¸® GxÄ® öPõkUP 
C¯»ÂÀø». M-ªhª¸¢x ¹.3,000 ©mk÷© Qøhzux. 
\μUQ¸¨¦ ÂØÓ Âø» ¹.30,000, Á`À ¹.32,000. 
AøÓP»ß ÂØÓx ¹.2,000, Pø»¨¦ ö\»Ä ¹.6,000. 
{ÖÁÚ HkPøÍ •iUP ÷uøÁ¯õÚ ÷£÷μkPøÍ u¯õ›UP. 
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20. A, B and C are partners sharing in the ratio of 1/2, 1/6 
and 1/6. Their balance sheet was as follows. 

Balance Sheet 
Liabilities Rs. Assets Rs. 

Creditors  50,000 Land 70,000

A’s loan 10,000 Machinery  40,000

Capital – A  50,000 Stock 25,000

Capital – B 10,000 Debtors 20,000

Capital – C 40,000 Cash 5,000

 1,60,000  1,60,000

 The partnership was dissolved and the assets are realized 
as follows. 

 Rs.

I instalment  40,000

II instalment 30,000

III instalment  54,000

IV instalment 7,000

 Show the gradual distribution of Cash statement.  

 A, B ©ØÖ® C °ß »õ£ ÂQu® 1/2 : 1/6 : 1/6 AÁºPÎß 
C¸¨¦ {ø»U SÔ¨¦ uμ¨£mkÒÍx. 

    C¸¨¦ {ø»USÔ¨¦ 
ö£õÖ¨¦UPÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 50,000 {»® 70,000

A-°ß Phß 10,000 C¯¢vμ® 40,000

‰»uÚ® & A  50,000 \μUS 25,000

‰»uÚ® – B 10,000 PhÚõÎPÒ 20,000

‰»uÚ® – C 40,000 öμõUP® 5,000

 1,60,000  1,60,000
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 Tmhõsø©ø¯ Pø»¨¦ ö\´x, ö\õzøu ÂØÓ AÍÄ. 

 ¹. 

•uÀ uÁøn  40,000

II ® uÁøn 30,000

III ® uÁøn 54,000

IV ® uÁøn 7,000

 £i¨£i¯õÚ öμõUP £Qº©õÚ AÔUøPø¯ u¯õ›UPÄ®. 

 

 
———————— 
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E-COMMERCE AND INTERNET 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define E-Commerce. 

 ªß ÁoP® £ØÔ C»UPn® TÖP. 

2. What do you understand the term B2B? 

 B2B £ØÔ }Âº AÔ¢ux ¯õx? 

3. What is I-way? 

 I–÷Á GßÓõÀ GßÚ? 

4. What are smart cards? 

 ì©õº PõºkPÒ ¯õøÁ?  

5. Define EDI. 

 EDI Áøμ¯Ö. 

6. State the meaning of Electronic Security. 

 ªß £õxPõ¨¦ Gß£uß ö£õ¸Ò TÖP. 

Sub. Code 
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7. What do you mean by Internet Service Provider (ISP)? 

 Cøn¯ ÷\øÁ AÎ¨£Áº GßÓõÀ GßÚ? 

8. State the meaning WWW. 

 WWW Gß£uß ö£õ¸Ò TÖP. 

9. What is web browser? 

 Cøn¯ E»õÂ GßÓõÀ GßÚ? 

10. What is FTP? 

 FTP GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Various Models in E-Commerce. 

   ªß ÁoPzvß öÁÆ÷ÁÖ ©õv›PÒ £ØÔ ÂÍUSP. 

Or 

 (b) What are the Components of I-way? 

   I–÷Á Gß£uß EÒÍh[PÒ ¯õøÁ? 

12. (a) What are the different categories of Network? 
Explain each of them. 

   Áø»¤ßÚ¼ß öÁÆ÷ÁÖ ÁøPPÒ ¯õøÁ? 
AÁØøÓ ÂÍUSP. 

Or 

 (b) What are the general requirements that a good 
electronic payment system. 

   |À» ªß ÁoP ö\¾zx•øÓ Aø©¨¦ 
E¸ÁõUPzvß AÁ]¯® ¯õx? 
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13. (a) Explain the various types of digital documents. 

   C»US•øÓ BÁn[PÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Discuss the Merits and Demerits of EDI. 

   EDI °ß |ßø© wø©PøÍ ÂÁõv. 

14. (a) What are the Components of the web Architecture? 

   Áø» ¤ßÚÀ Pmhø©¨¤ß EÒÍø©¨¦PÒ ¯õøÁ? 

Or 

 (b) Enumerate the various types of Internet 
Connection. 

   öÁÆ÷ÁÖ ÁøP¯õÚ Cøn¯uÍ ÁÇ[SÚºPøÍ 
ÂÍUSP. 

15. (a) Write a short notes on URL scheme. 

   URL vmh[PÒ £ØÔ ]ÖSÔ¨¦ ÁøμP. 

Or 

 (b) Write a short Note on 

   (i) Web Page Protocol. 

   (ii) E-Mail. 

   ]Ö SÔ¨¦ ÁøμP. 

   (i) Cøn¯uÍ ö|Ô•øÓ 

   (ii) ªß Ag\À 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the advantages and Disadvantages of  
E-Commerce. 

ªß ÁoPzvß |ßø© wø©PøÍ ÂÁ›. 

17. Discuss the different types of Electronic payment system. 

 öÁÆ÷ÁÖ ÁøP¯õÚ ªß ÁoP £n® ÁÇ[PÀ 
•øÓPøÍ £ØÔ ÂÁõv. 

18. Explain various categories of supply chain Management. 

 ÁÇ[PÀ ÁÈ _ÇØa] ÷©»õsø©°ß öÁÆ÷ÁÖ 
ÁøPPøÍ ÂÍUSP. 

19. Discuss the physical structure of the Internet. 

 Cøn¯zvß C¯ØTÖPøÍ £ØÔ ÂÁõv. 

20. Discuss the working of search Engine. 

 Cøn¯ ÷uk® ö£õÔPÒ ö\¯À•øÓ £ØÔ ÂÁõv. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. How are tokens classified C++? 

 ÷hõUPßPÒ G¨£i C++ ÁøP¨£kzu¨£kQßÓÚ? 

2. What are manipulators in C++? 

 C++ CÀ øP¯õÐ£ÁºPÒ GßÓõÀ GßÚ? 

3. How will you define a class? 

 J¸ ÁS¨ø£ G¨£i Áøμ¯Ö¨¥ºPÒ? 

4. What is static member in C++? 

 C++ CÀ {ø»¯õÚ EÖ¨¤Úº GßÓõÀ GßÚ? 

5. What is constructor? 

 PßìmμUhº GßÓõÀ GßÚ? 

6. What is multiple constructors in a class? 

 J¸ ÁS¨¤À £» PßìmμUhº GßÓõÀ GßÚ? 

7. What is unary operator example? 

 unary operator Euõμn® GßÚ? 

Sub. Code 
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8. How do you create derived class? 

 ö£Ó¨£mh ÁS¨ø£ GÆÁõÖ E¸ÁõUSÁx? 

9. What is pointers used for? 

 pointers GuØPõP¨ £¯ß£kzu¨£kQßÓÚ? 

10. What are input output manipulators? 

 EÒÏmk öÁÎ±k øP¯õÐ£ÁºPÒ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the applications of OOPS. 

   OOPS Cß £¯ß£õmøh ÂÍUPÄ®. 

Or 

 (b) What is function in C++ with example? 

   Euõμnzxhß C++ CÀ ö\¯À£õk GßÚ? 

12. (a) What is an array and explain different types of 
array with example? 

   J¸ Á›ø\ GßÓõÀ GßÚ ©ØÖ® £À÷ÁÖ ÁøP¯õÚ 
Á›ø\PøÍ GkzxUPõmkhß ÂÍUPÄ®. 

Or 

 (b) What is member function and its types?  

   EÖ¨¤Úº ö\¯À£õk ©ØÖ® Auß ÁøPPÒ GßÚ? 

13. (a) Explain parameterized constructor, with an 
example. 

   J¸ GkzxUPõmkhß AÍÄ¸ÁõUP¨£mh 
Pmhø©¨£õÍøμ ÂÍUPÄ®. 

Or 

 (b) What are dynamic constructors? 

   øhÚªU PßìmμUhºPÒ GßÓõÀ GßÚ? 
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14. (a) What is operator and what are the different types of 
operators? 

   B£÷μmhº GßÓõÀ GßÚ ©ØÖ® £À÷ÁÖ ÁøP¯õÚ 
B£÷μmhºPÒ GßÚ? 

Or 

 (b) Write a short note on Abstract Class, ADT. 

   Abstract Class, ADT £ØÔ J¸ ]Ö SÔ¨ø£ GÊx. 

15. (a) What is polymorphism, explain different types of 
polymorphism? 

   £õ¼©õº¤\® GßÓõÀ GßÚ, £À÷ÁÖ ÁøP¯õÚ 
£õ¼©õº¤ézøu ÂÍUSP? 

Or 

 (b) What are unformatted input output operations? 

   ÁiÁø©UP¨£hõu EÒÏmk öÁÎ±mk 
ö\¯À£õkPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain function overloading with example. 

 ö\¯À£õk KÁº÷»õi[øP Euõμnzxhß ÂÍUSP. 

17. What are objects, explain how objects are created? 

 ö£õ¸ÒPÒ GßÓõÀ GßÚ, ö£õ¸ÒPÒ GÆÁõÖ 
E¸ÁõUP¨£kQßÓÚ Gß£øu ÂÍUSP. 

18. Give a brief about constructor and destructor. 

 PßìmμUhº ©ØÖ® iìmμUhº £ØÔ _¸UP©õP 
öPõkUPÄ®. 
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19. Define Inheritance; explain various types of inheritance 
with examples? 

Inheritance Áøμ¯øÓ, £À÷ÁÖ ÁøP¯õÚ inheritance 
Euõμn[PÐhß ÂÍUSP. 

20. Explain virtual function with example program.  

 GkzxUPõmk {μÀ ‰»® ö©´{Pº ö\¯À£õmøh 
ÂÍUSP. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

2. Write short note on: Work certified? 

 ]Ö SÔ¨¦ GÊxP : ÷Áø» \õßÔuÌ. 

3. What do you understand by royalty? 

 E›ø© öuõøP GßÓõÀ GßÚ? 

4. Write short note on: Sub-Lease. 

 ]Ö SÔ¨¦ GÊxP : EÒ SzuøP 

5. Define – Hire Purchase System. 

 ÁõhøP öPõÒ•uÀ •øÓ – Áøμ¯Ö. 

6. Give any two features of hire purchase system. 

 ÁõhøP öPõÒ•uÀ •øÓ°ß H÷uÝ® Cμsk 
A®\[PøÍz u¸P. 

Sub. Code 
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7. What is Statement of affairs? 

 {ø»ø© AÔUøP GßÓõÀ GßÚ? 

8. What do you mean by Insolvency accounts? 

 ö|õizx ÷£õÚ PnUS GßÓõÀ GßÚ? 

9. What is a department? 

 xøÓ GßÓõÀ GßÚ? 

10. What is a branch? 

 QøÍ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various types of contracts. 

  J¨£¢u[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) The following particulars are in respect of contract 
No.20 which commenced on 1.1.2010 

      Rs. 

  Materials issued  58,000 

  Direct wages 75,000 

  Cost of special plant 30,000 

  Direct expenses 12,000 

  Establishment charges 8,000 

  The contract was completed by 31-12-2010. The 
contract price was Rs.1,75,000. The value of 
materials returned to stores was Rs.5,000. The 
special plant was returned to stores subject to 
depreciation at 20% p.a. Contract price was received 
in full on 31-12-2010. Prepare Contract A/c and 
Contractee’s A/c. 
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  1-1-2010 AßÖ öuõh[Q¯ J¨£¢u Gs.20 
öuõhº£õP ¤ßÁ¸® ÂÁμ[PÒ EÒÍÚ. 

      ¹. 

  ö£õ¸mPÒ ÁÇ[Q¯x 58,000 

  ÷|μi T¼  75,000 

  ]Ó¨¦ uÍÁõh ö\»Ä 30,000 

  ÷|μi ö\»ÄPÒ 12,000 

  {ÖÄuÀ Pmhn[PÒ 8,000 

  J¨£¢u® 31.12.2010USÒ {øÓÁøh¢ux. J¨£¢u 
Âø» ¹.1,75,000 PøhPÐUSz v¸®¤¯ 
ö£õ¸mPÎß ©v¨¦ ¹.5,000. ]Ó¨¦ uÍÁõh 
÷u´©õÚzvØS Em£mh PøhPÐUS Á¸hzvØS 
20%. J¨£¢u Âø» 31.12.2010 AßÖ •Êø©¯õP 
ö£Ó¨£mhx. J¨£¢u PnUS ©ØÖ® J¨£¢uUPõμ›ß 
PnUøP u¯›UPÄ®. 

12. (a) Bengal Coal Limited leased a colliery on  
1st January, 2004 at a minimum rent of Rs.15,000 
merging into a royalty of Re.1 per ton with a 
stipulation to recoup shortworkings over the first 
three year of the lease. The output for first four 
years of the lease was 8000, 13000, 21000 and 
18000 tonnes respectively. Draft the necessary 
journal entries in the books of the Bengal Coal 
Limited giving effect to the above. 

  ö£[PõÀ {»UP› ¼ªöhm áÚÁ› 1 B® ÷uv J¸ 
_μ[Pzøu SzuøPUS Gkzux. SzuøP°ß •uÀ 
‰ßÖ BskPÎÀ SÖUS ÁÈPøÍ 
«möhk¨£uØPõÚ {£¢uøÚ²hß 2004&B® Bsk 
SøÓ¢u£m\® ¹.15,000 ÁõhøPUS hß JßÖUS 1 
E›ø©z öuõøP SzuøP°ß •uÀ |õßS 
BskPÐUPõÚ EØ£zv •øÓ÷¯ 8000, 13000, 
21000 ©ØÖ® 18000 hß BS®. ö£[PõÀ {»UP› 
¼ªöhm {ÖÁÚzvß SÔ¨÷£mk £v÷ÁkPøÍ 
u¯õº ö\´P. 

Or 
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 (b) Mining Co.Ltd. obtained on 1-1-2004 from landlord 
a lease of coal mine, the terms being a royalty of 
Re.0.50 per ton of coal raised subject to a minimum 
rent of Rs.4,000 per annum with a right of 
recoupment of shortworkings over the first four 
years of the lease. Mining Co.Ltd. granted a sub-
lease of part of the land to Royal Co. on a royalty of 
Re.0.75 per ton merging into a minimum rent of 
Rs.2,000 per annum with a right of recoupment of 
shortworkings during the two years following the 
shortworkings. 

  The output for the five years is as follows: 
Year  Mining co. 

(Tonnes)  
RoyalCo. 
(Tonnes)

2004 4400 1600 

2005 4640 2160 

2006 5200 2800 

2007 5600 3600 

2008 7200 4800 

  Give necessary journal entries in the books of 
Mining Co. 

  _μ[P {ÖÁÚ® {» E›ø©¯õÍ›hª¸¢x {»UP› 
SzuøPUS 1.1.2004 AßÖ ö£Ó¨£mhx. C¢u 
Âv•øÓPÒ J¸ hß {»UP›US ¹.0.50 
E›ø©zöuõøP BS®. Cx BskUS SøÓ¢u£m\® 
¹.4,000 ÁõhøPUS Em£mhx. SzuøPUS |õßS 
BskPÒ _μ[P {ÖÁÚ® SøÓÁõÚ EØ£zvø¯ 
öuõhº¢x Cμsk BskPÎÀ «möhkUS® 
E›ø©²hß J¸ hßÝUS ¹.0.75 E›ø©zöuõøP 
¹.2,000 J¸ BskUS  {»zvß J¸ £Svø¯ μõ¯À 
{ÖÁÚ® xøn SzuøPUS ÁÇ[Q¯x. I¢x 
BskPÐUPõÚ EØ£zv ¤ßÁ¸©õÖ : 

Bsk  
_μ[P 

{ÖÁÚ® 
(hßPÒ) 

μõ¯À 
{ÖÁÚ® 
(hßPÒ)

2004 4400 1600 

2005 4640 2160 
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Bsk  
_μ[P 

{ÖÁÚ® 
(hßPÒ) 

μõ¯À 
{ÖÁÚ® 
(hßPÒ)

2006 5200 2800 

2007 5600 3600 

2008 7200 4800 

  _μ[P {ÖÁÚzvØS ÷uøÁ¯õÚ PnU÷PkPøÍ 
u¯õº ö\´P. 

13. (a) What are the benefit of instalment system to a 
buyer? 

  uÁøn •øÓ¯õÀ Áõ[S£Á¸US |ßø© GßÚ? 

Or 

 (b) Mohan purchased a machine on hire purchase 
system on 1st January 2015. The term of payment 
are four annual instalments of Rs.12,690 at the end 
of each year. Interest is charged @ 5% and is 
included in the annual payment of Rs.12,690. 

  Show Machinery account and Hire vendor account 
in the books of Mohan who defaulted in the 
payment of the third yearly payment whereupon the 
vendor repossessed the Machinery. Mohan provides 
depreciation on the machinery @ 10% p.a., on the 
reducing balance. 

  áÚÁ› 1, 2015, AßÖ ÷©õPß ÁõhøP öPõÒ•uÀ 
•øÓ°À J¸ C¯¢vμzøu Áõ[QÚõº. JÆöÁõ¸ 
Á¸hzvß •iÂ¾® |õßS Bsk uÁønPÒ 
¹.12,690 BS®. Ámi 5% Á`¼UP¨£kQÓx ©ØÖ® 
BskUS ¹.12,690 ö\¾zxQÓx. 

  ‰ßÖ Bsk Pmhn® ö\¾zxÁvÀ uÁÔ¯ 
÷©õPÛß PnUSPÎÀ C¯¢vμUPnUS ©ØÖ® 
ÁõhøP ÂØ£øÚ¯õÍº PnUøP Põmk[PÒ. Auß 
¤ÓS ÂØ£øÚ¯õÍº C¯¢vμzøu «sk® 
øP¯P¨£kzvÚõº. ÷©õPß C¯¢vμ[PÎß 
÷u´©õÚzøu  Á¸hzvØS 10% SøÓUS® 
\©{ø»ø¯ ÁÇ[SQÓx. 
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14. (a) Distinguish between insolvency of an individual and 

a partnership firm. 

  J¸ uÛ|£º ö|õi¨¦ ©ØÖ® J¸ Tmk {ÖÁÚ® 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 

 (b) The assets of Ram of Chennai on 31-6-2005 as 

shown by his books were Rs.28,000 and his 

liabilities Rs.22,000. He estimated his deficiency 

Rs.15,000. He found the following were not taken 

into account. 

  (i) Interest at 6% on his capital from 1-1-2005 

  (ii) A contingent liability of Rs.1,250 on bills 

discounted by him for Rs.5,000  

  (iii) Amount due as wages Rs.300; Rent Rs.100: 

Taxes Rs.150. 

   Prepare Statement of Affairs. 

  31-6-2005 AßÖ ö\ßøÚø¯a ÷\º¢u μõ® 

ö\õzxUPÒ ¹.28,000 ©ØÖ® AÁμx ö£õÖ¨¦PÒ 

¹.22,000 AÁº uÚx £ØÓõUSøÓø¯ ¹.15,000 GÚ 

©v¨¤mhõº. ¤ßÁ¸£øÁ PnUQÀ GkzxU 
öPõÒÍ¨£hÂÀø» GßÖ AÁº PshÔ¢uõº. 

  (i) 1-1-2005 •uÀ AÁμx ‰»uÚzvÀ 6% Ámi 

  (ii) AÁº ¹.5,000 US uÒÐ£i ö\´u μ^xPÎÀ 

¹.1,250 J¸ {PÇUTi¯ ö£õÖ¨¦ 

  (iii) ¹.300 ö\¾zu ÷Ási¯ T¼ ÁõhøP ¹.100 

Á› ¹.150. 

   {ø»ø© AÔUøPø¯ u¯õ›UPÄ®. 
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15. (a) Suresh Ltd. Has a branch at Mumbai. The branch 
does not maintain its own set of books. Goods of 
Rs.40,000 were sent by the Head office out of which 
only goods of Rs.36,000 have been received by the 
Branch. The Branch returns also show that a sum 
of Rs.50,000 was remitted by it to the Head office. 
The Head office has received only a sum of 
Rs.48,000. You are required to pass the necessary 
adjustment journal entries in case accounts are 
maintained by the Head office according to : 

  (i) Debtors System and  

  (ii) Stock and Debtors System 

   Also state how the goods-in-transit should be 
dealt with in the Head office books. 

  _÷μè ¼ªöhm •®ø£°À J¸ QøÍ EÒÍx. QøÍ 
Auß ö\õ¢u PnU÷PkPøÍ £μõ©›UPÂÀø». 
¹.40,000 uø»ø© A¾Á»PzuõÀ AÝ¨£¨£mhx. 
AvÀ ¹.36,000 ö£õ¸mPÒ ©mk÷© QøÍ ‰»® 
ö£Ó¨£mkÒÍÚ. QøÍ Á¸©õÚ® ¹.50,000 Aøu 
uø»ø© A¾Á»PzvØS AÝ¨¤¯x. uø»ø© 
A¾Á»PzvØS ¹.48,000 PnUSPøÍ uø»ø© 
A¾Á»PzuõÀ £μõ©›UP¨£mhõÀ ÷uøÁ¯õÚ 
SÔ¨÷£mk PnUSPøÍ u¯õ›UP ÷Ásk®. 

  (i) PhÚõÎPÒ •øÓ ©ØÖ® 

  (ii) C¸¨¦ ©ØÖ® PhÚõÎPÒ •øÓ 

   uø»ø© A¾Á»P £v÷ÁkPÎß \μUSPøÍ 
GÆÁõÖ øP¯õÍ ÷Ásk® Gß£øu²® 
SÔ¨¤hÄ®. 

Or 

 (b) Distinguish between Branch and Department.  

  QøÍ ©ØÖ® xøÓø¯ ÷ÁÖ£kzxP.  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. G. Construction Ltd. Under took a number of contracts 
during 2012. Following particulars are available as 
regards the construction of a canteen building 

     Rs. 

  Materials at site on 1.1.2012 2,000 

  Materials supplied from stores 10,000 

  Materials purchased  50,000 

  Materials returned to stores 1,000 

  Materials worth Rs.200 were destroyed by fire 

  Materials costing Rs.1,000 were sold for Rs.800 

  Materials in hand at the end of the year 10,000 

  Materials received from hospital contract which was 
20,000 completed 

  Materials transferred to Cinema contract 500 

  Plant issued to contract on 1.1.12 50,000 

  Plant returned to stores  1,000 

  Plant costing Rs.2,000 sold for Rs.2,500 

  Plant worth Rs.500 was stolen 

  Plant worth Rs.300 was destroyed in an accident 

  Plant at the site at the end of the year was Rs.1,000 

 Show how these transactions will appear in a  
contract A/c. 



F–8935 

  

  9

 â. Pmih {ÖÁÚ® 2012 B® BsiÀ £» J¨£¢u[PøÍ 
Gkzux. J¸ ÷Psjß Pmihzøu {º©õo¨£x SÔzu 
¤ßÁ¸® ÂÁμ[PÒ QøhUQßÓÚ. 

     ¹. 

  1.1.2012 uÍzvÀ EÒÍ ö£õ¸mPÒ 2,000 

  PøhPÎ¼¸¢x ÁÇ[P¨£mh ö£õ¸mPÒ 10,000 

  Áõ[Q¯ ö£õ¸mPÒ  50,000 

  PøhPÐUS v¸¨¤ AÝ¨¤¯ ö£õ¸mPÒ 1,000 

  ¹.200 w°À G›¢u ©v¨¦ÒÍ ö£õ¸mPÒ 

  ¹.1,000 Âø» öPõsh ö£õ¸mPÒ ¹.800US 
ÂØP¨£mhx 

  Bsiß CÖv°À øP°À EÒÍ ö£õ¸mPÒ 10,000 

  {øÓÁøh¢u ©¸zxÁ©øÚ J¨£¢uzv¼¸¢x 

¹.20,000 ö£Ó¨£mh ö£õ¸mPÒ  

  ]Û©õ J¨£¢uzvØS ©õØÓ¨£mh ö£õ¸mPÒ 500 

  1.1.12CÀ J¨£¢uzvØS ÁÇ[P¨£mh   

  uÍÁõh®     50,000 

  PøhPÐUS v¸¨¤ AÝ¨¤¯ uÍÁõh® 1,000 

  ¹.2,000 Âø»²ÒÍ uÍÁõh® ¹.2,500US 
ÂØP¨£mhx 

  ¹.500 ©v¨¦ÒÍ uÍÁõh® v¸h¨£mhx 

  Â£zvÀ ¹.300 ©v¨¦ÒÍ uÍÁõh® AÈUP¨£mhx 

  C¢u Bsiß CÖv°À A¢u ChzvÀ C¸¢u 

uÍÁõh® ¹.1,000 

 J¨£¢uzvÀ C¢u £›ÁºzuøÚPÒ GÆÁõÖ ÷uõßÖQÓx 
Gß£øu ÂÍUSP.  
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17. A company acquired lease of a mine at a minimum rent of 
Rs.10,000 p.a. The royalty was fixed at Re.0.50 per tonne. 
Short workings could be recouped within three years 
following the year in which the short workings occur. If 
there is stoppage of production due to strike in any year, 
the minimum rent would be proportionately reduced in 
regard to the length of the stoppage. 

 The output (in tonnes) of the mine was as follows : 

2010   8,000 2013  26,000

2011 12,500 2014 17,000 (Strike)

2012 21,500 2015 3,000 

 During 2014, there was strike lasting for 3 months. Show 
the necessary ledger accounts for each of the years in the 
books of the company. 

 J¸ {ÖÁÚ® _μ[Pzøu SzuøPUS SøÓ¢u£m\® 
Á¸hzvØS ¹.10,000. E›ø©zöuõøP J¸ hßÝUS 
¹.0.50 BP {ºn°UP¨£mhx. SÖQ¯ ÷Áø»PÒ {PÊ® 
Bsøhz öuõhº¢x ‰ßÖ BskPÐUSÒ SÖQ¯ 
÷Áø»PøÍ «möhkUP •i²® G¢uöÁõ¸ Á¸hzv¾® 
÷Áø»{Özu® Põμn©õP EØ£zvø¯ {ÖzvÚõÀ 
{Özuzvß }Í® SÔzx SøÓ¢u£m\ ÁõhøP 
ÂQuõ\õμ©õP SøÓUP¨£k® _μ[Pzvß öÁÎ±k 
hßPÎÀ ¤ßÁ¸©õÖ : 

2010   8,000 2013  26,000

2011 12,500 2014 17,000 (ìmøμU)

2012 21,500 2015 3,000 

 2014 B® BsiÀ ÷Áø»{Özu® 3 ©õu[PÒ }izux. 
JÆöÁõßÔØS® ÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ u¯õº 
ö\´P. 

18. Knight purchased a truck for Rs.1,60,000 from S.Waugh 
on 1-1-2009 payment to be made Rs.40,000 down and 
Rs.46,000 at the end of first year. Rs.44,000 at the end of 
second year and Rs.42,000 at the end of third year. 
Interest was charged at 5%. Knight depreciates the truck 
at 10% per annum on written down value method. 
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 Knight after having paid down payment and first 
installment at the end of the first year could not pay 
second installment. The seller took possession of the 
truck and after spending Rs.4,000 on repairs of the asset, 
sold it away for Rs.91,500.  

 Give journal entries and ledger accounts in the books of 
both the parties. 

 ø|m J¸ iμUøP ¹.1,60,000 Gì. ÁõU 1-1-2009 Pmhn® 
ö\¾zv ¹.40,000 SøÓ¢ux, •uÀ Bsiß CÖv°À 
¹.46,000, Cμshõ® Bsk CÖv°À ¹.44,000 ©ØÖ® 
‰ßÓõ® Bsk CÖv°À ¹.42,000 5% Ámi 
Á`¼UP¨£mhx. GÊu¨£mh ©v¨¦ •øÓ°À ø|m 
»õ›US BskUS 10% Ãuzøu SøÓUQÓx. 

 ø|m •uÀ Bsiß CÖv°À £n® ©ØÖ® •uÀ 
uÁønø¯ ö\¾zv¯ ¤ÓS, CμshõÁx uÁønø¯ 
ö\¾zu •i¯ÂÀø». ÂØ£øÚ¯õÍº »õ›ø¯ 
øP¯P¨£kzvÚõº ©ØÖ® ö\õzvß £Êx£õºUP ¹.4,000 
ö\»ÁÈzu ¤ßÚº Aøu ¹.91,500US ÂØÓõº. 

 C¸Á›ß PnUSPÎß SÔ¨÷£k ©ØÖ® ÷£÷μmkU 
PnUSPøÍ u¯õ›UPÄ®. 

19. Difference between Balance sheet and Statement of 
affairs. 

 C¸¨¦ {ø» SÔ¨¤¼¸¢x {ø»ø© AÔUøPø¯ 
÷ÁÖ£kzxP. 

20. The proprietor of a departmental store wished to 
ascertain approximately the net profit of the  
X, Y, Z departments separately for the three months 
ended 31st March 2016. The normal rates of gross profit 
for the three departments concerned are respectively 
40%, 30%, 20% on turnover before charging the direct 
expenses. The indirect expenses are charged in 
proportion to department turnover. The following are the 
figures for the departments. 
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 X 
Rs. 

Y 
Rs. 

Z 
Rs. 

Opening stock (1-1-2016)  
Purchases 
Sales 
Direct expenses 

10,000
12,000
20,000

2,000

14,000
13,500
18,000

1,500

7,000
9,700

16,000
700

 The total indirect expenses for the period (including those 
relating to other department) were Rs.5,400 on the total 
turnover of Rs.1,08,000. Prepare a statement showing the 
approximate net profit, making a stock reserve of 10% for 
each department on the estimated value on 31-3-2016. 

 2016 ©õºa 31B® ÷uv²hß •iÁøh¢u ‰ßÖ 
©õu[PÐUS X, Y, Z, xøÓPÎß {Pμ »õ£zøu 
uÛzuÛ¯õP AÔ¯ J¸ xøÓ Pøh°ß E›ø©¯õÍº 
Â¸®¤Úõº. \®£¢u¨£mh ‰ßÖ xøÓPÐUPõÚ ö©õzu 
C»õ£ ÂQu[PÒ •øÓ÷¯ 40%, 30%, 20% ÷|μi 
ö\»ÄPøÍ Á`¼¨£uØS •ß£õP ÂQuzvÀ ©øÓ•P 
ö\»ÄPÒ Á`¼UP¨£kQßÓÚ. xøÓPÐUPõÚ ¦ÒÎ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

 X 
¹. 

Y 
¹. 

Z 
¹. 

öuõhUP C¸¨¦ (1-1-2016) 
öPõÒ•uÀPÒ 
ÂØ£øÚ 
÷|μi ö\»ÄPÒ 

10,000
12,000
20,000

2,000

14,000
13,500
18,000

1,500

7,000
9,700

16,000
700

 C¢u Põ»zvØPõÚ ö©õzu ©øÓ•P ö\»ÄPÒ ¹.5,400 (¤Ó 
xøÓ öuõhº£õÚøÁ Em£h) ö©õzu Á¸Áõ´ ¹.1,08,000. 
÷uõμõ¯©õÚ {Pμ »õ£zøuU Põmk® J¸ AÔUøPø¯z 
u¯õ›UPÄ®. 31-3-2016 AßÖ ©v¨¤h¨£mh ©v¨¤À 
JÆöÁõ¸ xøÓUS® 10% £[S C¸¨¦ øÁUPÄ®. 

———————— 
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B.Com (CA) DEGREE EXAMINATION, APRIL 2023. 

Fourth Semester 

Commerce with Computer Applications 

BUSINESS MATHEMATICS  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Find the sum which will yield an interest of Rs.324 in 3 

years at 4% p.a. simple interest.  

J¸ öuõøP¯õÚx 3 BskPÎÀ 4% uÛÁmi Ãu® ¹.324 

GÚ PnUQh¨£kQÓx GÛÀ AzöuõøPø¯ PnUQkP. 

2. Find the principle that amounts to Rs.1,352 in 2 year at 

4% p.a. 

¹.1,352US 2 BskPÎÀ 4% Tmk Ámi Ãu® 

öuõøPø¯ PnUQkP. 

3. Express 4625log5 =  into exponential form. 

 4625log5 =  Gß£øu AkUSUSÔ°À Â›Ä£kzxP. 

4. Find the logarithm of 729 to the base .3  

 729ß ©hUøP ©v¨ø£ 3  GßÓ Ai‰»® Psk¤i. 

Sub. Code 
7BCC4C4 
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5. Define difference of two sets.  

Cμsk Pn[PÎß ÷ÁÖ£õmøh Áøμ¯Ö. 

6. If { }3,2,1=A  and { }5,4,3,2=B , verify 

BBABA )( −=∪ . 

{ }3,2,1=A  ©ØÖ® { }5,4,3,2=B  GÛÀ 

BBABA )( −=∪  Gß£øu \›£õºUP. 

7. When a card taken from a bunch of 52 cards, find the 

probability which is red card? 

52 ^mkPÒ EÒÍ J¸ ^mk PmiÀ C¸¢x J¸ ^mk 

GkUP¨£k®ö£õÊx Ax ]Á¨¦ P»›À C¸¨£uØPõÚ 

{PÌuPøÁU Põs. 

8. Write any two axioms of probability. 

 {PÌuPÂß Cμsk AiU÷PõÒPøÍ GÊxP. 

9. Expand 
4

1






 +

x
x . 

 
4

1






 +

x
x  Gß£øu Â›Ä£kzxP. 

10. Write down the 4th term in the expansion of 
6

1






 −

x
x . 

 
6

1






 −

x
x ß Â›ÁõUPzvÀ 4Áx EÖ¨ø£U PnUQkP. 
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 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A sum of money amounts to Rs.20,000 in 5 years 
and Rs.22,720 in 7 years. Find the principal and 
rate of simple interest. 

   J¸ öuõøP¯õÚx 5 BskPÎÀ ¹.20,000 BPÄ®, 
7 BskPÎÀ ¹.22,720 BPÄ® PnUQh¨£kQÓx 
GÛÀ Auß A\À ©ØÓ® uÛÁmi Ãu® PõsP. 

Or 

 (b) Find the term of a bill of Rs.18,450 whose true 
discount at 5% per annum is Rs.450. 

   ¹.18,450 ©v¨¦øh¯ J¸ μ^x 5% (BsiØS) Ãu® 
¹.450 Esø© uÒÐ£i ö£ÖQÓx GÛÀ Auß Põ» 
AÍøÁU PnUQkP. 

12. (a) If 6532 dcba === , show that ( )
5
31

log =abcd . 

   6532 dcba ===  GÛÀ ( )
5
31

log =abcd  GÚ {¹¤. 

Or 

 (b) Show that 0loglog 1 =+ NN
e

e .  

   0loglog 1 =+ NN
e

e GÚ {¹¤. 

13. (a) Prove that )()()( CABACBA −∪−=∩− . 

   )()()( CABACBA −∪−=∩−  GÚ {¹¤. 

Or 
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 (b) If { } { } { }7,5,4,2,1,6,4,3,2,5,3,2,1 === CBA , then 

verify )()()( CABACBA ∩∪∩=∪∩ . 

   { } { } { }7,5,4,2,1,6,4,3,2,5,3,2,1 === CBA  GÛÀ 

)()()( CABACBA ∩∪∩=∪∩  Gß£øu \›£õºUP. 

14. (a) One card is drawn from a pack of 52 cards. What is 

the probability that the card drawn is either a red 

or a king?  

   52 ^mkPÒ EÒÍ J¸ ^mk PmiÀ C¸¢x J¸ ^mk 

GkUP¨£k®ö£õÊx Ax ]Á¨£õP÷Áõ AÀ»x 

Aμ\ÚõP÷Áõ C¸¨£uØPõÚ {PÌuPÄ Põs. 

Or 

 (b) Eight coins are thrown simultaneously. Find the 

chance of getting (i) At least 4 heads (ii) All heads. 

   J÷μ ÷|μzvÀ 8 |õn¯[PÒ _sh¨£kQßÓÚ. 

AÁØÔÀ (i) SøÓ¢ux 4 uø»PÒ (ii) AøÚzx® 

uø»PÒ ÂÊÁuØPõÚ \õzv¯U TÖPøÍU 

PnUQkP. 

15. (a) Find the middle term in the expansion of 
12

2






 −

x
x  

   
12

2






 −

x
x ß Â›ÁõUPzvÀ ø©¯ EÖ¨ø£U Psk¤i. 

Or 

 (b) Find the value of ( ) ( )33
5151 −++ . 

   ( ) ( )33
5151 −++ ß ©v¨ø£U PnUQkP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A loan is repaid in 4 annual installments of Rs.200 each. 
If the rate of interest is 10% p.a. find the amount of the 
loan. 

J¸ Phß öuõøP¯õÚx Á¸hzvØS 4 uÁønPÒ GÚ 
¹.200 Ãu® v¸¨¤ ö\¾zu¨£kQÓx. AUPhß öuõøPUS 
10% Ámi Ãu® PnUQh¨£mk C¸¢uõÀ AUPhß öuõøP 
GÆÁÍÄ GÚ PnUQkP. 

17. If ,log1,log1,log1 abzcaybcx cba +=+=+=  show that 

1
111 =++
zyx

. 

 abzcaybcx cba log1,log1,log1 +=+=+=  GÛÀ 

1
111 =++
zyx

 GÚU PõmkP. 

18. Out of the 880 boys in school, 224 played cricket, 240 
played hockey and 336 played basketball; of the total 64 
played both basketball and hockey; 80 played cricket and 
basketball; 40 played cricket and hockey and 24 played 
all the three games. How many did not play any of the 
games and how many played only one game? 

880 ©õnÁºPøÍU öPõsh £ÒÎ°À, 224 ÷£º Q›UöPm, 
240 ÷£º íõUQ ©ØÖ® 336 ÷£º Tøh¨£¢x, 64 ÷£º 
íõUQ ©ØÖ® Tøh¨£¢x Cμsk®, 80 ÷£º Q›UöPm 
©ØÖ® Tøh¨£¢x Cμsk®, 40 ÷£º Q›UöPm ©ØÖ® 
íõUQ, 24 ÷£º ‰ßÖ ÂøÍ¯õmkPÐ® 
ÂøÍ¯õkQÓõºPÒ. G¢u ÷£õmi²® ÂøÍ¯õhõuÁºPÒ 
©ØÖ® J÷μ J¸ ÷£õmi ©mk® ÂøÍ¯õk£ÁºPÒ 
GÆÁÍÄ? 
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19. Two cards are drawn at random from a pack of 52 cards. 
What is the probability that either both are black or both 
are queens? 

52 ^mkPÒ EÒÍ ^mkUPmiÀ Cμsk ^mkPÒ 
GkUP¨£kQßÓÚ. AøÁ Cμsk® P¸¨¦ {Ó©õP÷Áõ 
AÀ»x Cμõo¯õP÷Áõ C¸¨£uØPõÚ {PÌuPÄ 
PnUQkP. 

20. Using binomial theorem, find the value of 

( ) ( )66
3232 −++ aa . 

DÖ¸¨¦ ÷uØÓzøu¨ £¯ß£kzv, ( ) ( )66
3232 −++ aa ß 

©v¨ø£U PnUQkP. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of preference share. 

 •ßÝ›ø©¨ £[SPÎß ö£õ¸Ò u¸P. 

2. Given the meaning of underwriting. 

 J¨¦Öv Gß£uß ö£õ¸Ò u¸P. 

3. State any two needs for calculating profit prior to 
incorporation. 

 {Ö©¨ £vÄUS •ß EÒÍ C»õ£zvøÚU PnUQku¼ß 
÷uøÁ°øÚU TÖ. 

4. How do you deal with ‘profit prior to incorporation’ in 
accounts? 

 {Ö©¨ £vÄUS •ß EÒÍ C»õ£® }[PÒ GÆÁõÖ 
GvºöPõÒQÕºPÒ? 

5. Name any two items that appear under employees benefit 
expenses. 

 FÈ¯ºPÎß £¯ÚÎUQÓõ ö\»ÄPÎß RÌ ÷uõßÖ® 
Cμsk Â£μ[PÒ ö£¯ºPøÍ TÖ. 

Sub. Code 
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6. What is dividend? 
 £[Põu¯õ® GßÓõÀ GßÚ? 

7. State the meaning of purchase consideration. 
 öPõÒ•uÀ ©Ö£¯ß Gß£uß ö£õ¸Ò u¸P. 

8. What do you understand by amalgamation? 
 J¸[Qøn¨¦ £ØÔ }Âº AÔÁx ¯õx? 

9. Write a short note on liquidator’s remuneration. 
 Pø»¨£õÍ›ß Fv¯® £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. What do you understand by Liquidation of a company? 
 {ÖÁÚ Pø»¨¦ £ØÔ }Âº AÔÁx ¯õx? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the difference between the stock and 
shares. 

   £[SUS® ©ØÖ® £[SPÐUS® EÒÍ ÷ÁÖ£õkPøÍ 
ÂÁ›. 

Or 

 (b) Ravi Ltd., forfeited 50 shares of Rs.10 each fully 
called up, held by Ram for nonpayment of allotment 
money of Rs.3 per share and first call of Rs. 4 per 
share. He had paid the application money of Rs.3 
per share. These shares were re-issued to Siva for 
Rs. 8 per share. Pass journal entries. 

   μÂ {Ö©® μõ® öPõskÒÍ ¹. 10 ©v¨¦ÒÍ 
AøÚzx £n•® ÷Põμ¨£mh 50 £[SSøÍ 
JxURmkz öuõøP J¸ £[QØS ¹.3 ® •uÀ ©ØÖ® 
CÖv AøÇ¨¦ J¸ £[QØS ¹.4 ® ö\¾zuõu 
PõμnzuõÀ JÖ¨¤øÇ¨¦ ö\´¯¨£mhx. AÁ›ß 
Âsn¨£ öuõøP J¸ £[QØS ¹.3 ©mk® 
ö\¾zv²ÒÍº. C¢u £[QØS JÆöÁõßÖ® ¹. 8 
Ãu® ]ÁõÂØS v¸®£ ÁÇ[P¨£mhx. Cuß 
Ai¨£øh°À SÔ¨÷£mk¨ £vÄPøÍz u¸P.  
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12. (a) What are the steps involved in calculation of profit 
prior to incorporation? 

   £vÄUS •¢øu¯ »õ£zøu Psk¤iUS® £À÷ÁÖ 
£i {ø»PÒ ¯õøÁ? 

Or 

 (b) From the following data, calculate profit prior to 
incorporation: Time ratio 1:2 Sales ratio 2:3, Gross 
profit Rs. 2,70,500; Administrative expenses 
Rs.96,600; Expenses relating to sales Rs.81,600; 
Preliminary expenses Rs.15,560.  

   {Ö©¨ £vÄUS •ß EÒÍ C»õ£zvøÚU 
PnUQkP; ÷|μ ÂQu® 1:2 ÂØ£øÚ ÂQu® 2:3, 
ö©õzu C»õ£® ¹.2,70,500 ; {ºÁõPa ö\»ÄPÒ 
¹.96,600; ÂØ£øÚ öuõhº£õÚ ö\»ÄPÒ ¹.31,600; 
‰»uÚa ö\»ÄPÒ ¹.15,560. 

13. (a) Explain the accounting treatment of interim 
dividend and final dividend. 

   CøhUPõ» DÄzöuõøP ©ØÖ® CÖv 
DÄzöuõøP°øÚ PnUQk ÁÈPøÍ ÂÁ›. 

Or 

 (b) A Ltd., earned a profit of Rs 15,00,000 for the year 
ended 31.12.2020 which is appropriated as follows: 

  (i) Preference dividend paid to Rs. 70,000. 

  (ii) Dividend to equity share holders paid 
Rs.1,20,000 

  (iii) Transfer to general reserve Rs.35,000. 

  (iv) Rs. 80,000 transferred to debenture 
redemption fund 

  (v) Provision for income tax Rs.75,000. 

   Prepare profit and loss appropriation account. 
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   A ¼ªöhm 31.12.2020 B® BsiØPõÚ »õ£® 
¹.15,00,000 Dmi¯x. A¢u »õ£zøu ¤ßÁ¸©õÖ 
£Qº¢ux. 

   (i) •ßÝ›ø© £[SPÐUPõÚ £[Põuõ¯® 
¹.70,000 

   (ii) ö£õx {ø» £[SPÐUPõÚ £[Põuõ¯® 
¹.1,20,000 

   (iii) ö£õx Põ¨¤ØS ¹.35,000 ©õØÓ ÷Ásk® 

   (iv) PhÜmk £zvμ «m¦ {vUS ¹.80,000 ©õØÓ 
÷Ásk®. 

   (v) Á› JxURk¹.75,000 

    CÁØøÓU öPõsk »õ£ |mh £QºÄ PnUøP 
u¯õ›UP. 

14. (a) What are the difference between the amalgamation 
and absorption? 

   J¸[Qøn¨¦ ©ØÖ® Dº¨¦US® EÒÍ 
÷ÁÖ£õkPøÍ ¯õøÁ? 

Or 

 (b) S Ltd., and T Ltd., are two companies carrying on 
business in the same line of activity. Their balance 
sheet as on 31.3.2020 are given 

Liabilities S Ltd. T Ltd., Assets S Ltd. T Ltd.,

Equity shares    Building 13,000

of 10  each 63,000 25,000 Machinery 70,000 30,000

General reserve 40,000 20,000 Investments 10,000

Secured Loan 60,000 10,000 Stock 90,000 40,000

Current liabilities 60,000 40,000 Debtors 30,000 13,000

   Cash at Bank 10,000 12,000

 2,23,000 95,000  2,23,000 95,000

 The two companies decided to amalgamate into R Ltd., 
the following further information is given. 
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  (i) All the assets and liabilities of the two 
companies are taken over.  

  (ii)  Each share in T Ltd., is valued at Rs.20 for the 
purpose of amalgamation.  

  (iii)  Each share in S Ltd., is valued at Rs. 13 for 
the purpose of amalgamation.  

   Show the journal entries to close the books of 
both the companies. 

   S ©ØÖ® T {Ö©[PÐ® J÷μ Âu©õÚ Â¯õ£õμ® 
ö\´QßÓÚ. AÁØÔß 31.3.2020 ß C¸¨¦ {ø»U 
SÔ¨¦ uμ¨£mkÒÍx. 

ö£õÖ¨¦ S 
¼ªöhm. 

 T 
¼ªöhm 

ö\õzxUPÒ S 
¼ªöhm

T 
¼ªöhm

\©E›ø©¨ £[S      Pmih® 13,000

¹.10 Ãu® 63,000  25,000 C¯¢vμ® 70,000 30,000

ö£õx Põ¨¦ 40,000  20,000 •u½k 10,000

£õxPõUP¨£mh 
Phß 

60,000  10,000 \μUS 90,000 40,000

|h¨¦ Phß 60,000  40,000 PhÜ¢÷uõº 30,000 13,000

    Á[Q 
C¸¨¦ 

10,000 12,000

 2,23,000  95,000  2,23,000 95,000

  R GÝ® {Ö© ö£¯¸hß Cμsk {Ö©[PÐ® 
J¸[QønUQßÓÚ. RÌPõq® ö\´v 
uμ¨£mkÒÍÚ: 

  (i) AøÚzx ö\õzx ©ØÓ® ö£õÖ¨¦PøÍ {Ö©® 
GkzxU öPõÒQÓx. 

  (ii) J¸[Qøn¨¦US T {Ö©zvß £[S ¹.20 Ãu® 
©v¨¤k ö\´¯¨£mhÚ. 

  (iii) J¸[Qøn¨¦US S {Ö©zvß £[S ¹.13 Ãu® 
©v¨¤k ö\´¯¨£mhÚ. 

  Cμsk {Ö©zvß PnUSPøÍ •i¨£uØS 
÷uøÁ¯õÚ SÔ¨÷£mk £vÄPøÍ u¸P. 
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15. (a) Explain the various powers of liquidators. 

   Pø»¨£õÍ›ß £À÷ÁÖ AvPõμ[PøÍ ÂÁ›. 

Or 

 (b) To prepare Unsecured creditors from the following 
information 

Particulars Rs. 

Preferential Creditors 26,000

Partly secured creditors 2,00,000

Bills payable 1,16,000

Bank overdraft 60,000

Liabilities on bills discounted 50,000

Unsecured creditors 3,70,000

One month salary 5,000

   R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍU öPõsk 
£õxPõUP¨£hõu PhÚõÎPÒ PnUøP u¯õ›UP. 

Â£μ® ¹. 

•ßÝ›ø© PhÚõÎPÒ 26,000

£Sv £õxPõUP¨£mh PhÚõÎPÒ 2,00,000

ö\¾zuØS›¯ ©õØÖa^mk 1,16,000

Á[Q ÷©ÀÁøμ¨£ØÖ 60,000

uÒÐ£i ö\´¯¨£mh Esi¾UPõÚ 
ö£õÖ¨¦ 

50,000

£õxPõ¨£ØÓ PhÚõÎPÒ 3,70,000

J¸ ©õu \®£Í® 5,000
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Ji Ltd., made as issue of 10,000 equity shares of Rs.15 
each payable as follows: 

 (a) Rs. 4 Per share on application money. 

 (b) Rs.7 per share (including Rs. 2 per share as 
premium) 

 (c) Rs. 6 per share on first and final call P holding 50 
shares failed to pay the allotment and call money.  
Q holding 80 shares failed to pay the call money. 

 All these shares were forfeited and subsequently  
re-issued to R as fully paid up at a discount of Rs. 3 per 
share. Pass journal entries in the books of the company. 

ã ¼m {Ö©® ¹.15 ©v¨¦øh¯ 10,000 J¸ø© £[SPøÍ 
öÁÎ°mhx £n® ¤ßÁ¸©õÖ ö\¾zu¨£h ÷Ásk®. 

(A) Âsn¨£zvß ÷£õx ¹.4 Ãu® 

(B) JxURmiß ÷£õx •øÚ©® öuõøP ¹.2 ÷\ºzx ¹.7 
Ãu® 

(C) •uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx ¹.6 Ãu® 50 

£[SPøÍ øÁzv¸US® ‘P’ JxURk ©ØÖ® AøÇ¨¦ 
£n® ö\¾zuÂÀø». 80 £[SPøÍ øÁzv¸US® 

‘Q’ AøÇ¨¦ £n® ö\¾zuÂÀø».  C¨£[SPÒ 
GÀ»õ® JÖ¨¤øÇ¨¦ ö\´¯¨£mkUS £[S 
JßÖUS ¹.3 ÁmhzvÀ  ÂØP¨£mhx. A¢{Ö©zvß 
HkPÎÀ ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

17. V Ltd., was incorporated on 1.8.2020. It took over the 
business of R with effect from 1.4.2020.  From the 
following particulars relating to the year ending 
31.3.2021, find out profits prior to and after 
incorporation. Sales for the year were Rs.6,00,000 and 
Pre incorporation sales were Rs.2,00,000. Gross Profit for 
the year was Rs.1,00,000. 
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 The expenses debited to Profit and Loss Account were: 
Particulars Rs. 

Depreciation 1,40,000

General Expenses 48,000

Director’s Fees 38,000

Audit Fees 15,000

Interest on debentures 30,000

Discount of sales 36,000

Advertising 1,80,000

Printing and stationary 36,000

Commission on sales  60,000

Bad debts (Rs.50,000 related  

to debts created prior to incorporation) 15,000

Interest to vendor on  

purchase consideration up to 1.10.2020 30,000

Rent 60,000

Salaries 1,50,000

 V {Ö©® 1.8.2020À £vÄ ö\´¯¨£mhx. 1.4.2020 AßÖ 
R {Ö©zøu GkzxUöPõshx. 31.3.2021 AßÖ 
•iÁøh²®. PnUQß£i £vÄUS •ß ©ØÖ® ¤ß EÒÍ 
»õ£zøu PõsP. Á¸hÂØ£øÚ ¹.6,00,000 £vÄUS •ß 
ÂØ£øÚ ¹.2,00,000 Á¸h »õ£® ¹.1,00,000 
»õ£|mhPnUQß ö\»ÄPÒ Á¸©õÖ: 

Â£μ® ¹. 

÷u´©õÚ® 1,40,000

ö£õx ö\»Ä 48,000

C¯US|º Pmhn® 38,000

uoUøP Pmhn® 15,000

PhÝUPõÚ Ámi 30,000

ÂØ£øÚ°ß uÒÐ£i 36,000

ÂÍ®£μ® 1,80,000

GÊxö£õ¸Ò 36,000

ÂØ£øÚ uμS 60,000
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Â£μ® ¹. 

ÁõμõUPhß ¹.50,000 Phß  

E¸ÁõÚx £vÂØS •ß) 15,000

1.10.2020 •i¯ ÂØ£øÚ¯õÍ¸US 

ö\¾zv¯ Ámi 30,000

ÁõhøP 60,000

\®£Í® 1,50,000

18. The following is the trial balance of A Ltd., as at 31st 
March 2020 with the authorized capital of 75,000 shares 
at Rs. 10 each. Prepare final accounts. 

Particulars    Dr       Cr 

Sales 4,98,000

Reserve for bad debts 4,000

General Reserve 30,000

Bills payable 45,600

Profit and loss account balance 17,400

Creditors 60,000

Debentures 3,60,000

Share Capital (called up) 5,52,000

Cash in hand 900

Cash at bank 3,55,980

Calls in arrear 9,000

Wages 92,760

Building 3,60,000

Machinery 4,32,000

General Expenses 20,280

Salaries 17,200

Interim dividend paid 9,000

Furniture 40,000

Purchases 2,29,880

Total 15,67,000 15,67,000

Adjustments: 

 (a)  Outstanding wages Rs.6,000, salaries Rs.3,000 

 (b)  Stock on 31.3.2020 amounted to Rs.1,40,000. 
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 A ¼ªöhm ¹.10 Ãu® 75,000 ©v¨¦ÒÍ £[SPøÍU 
öPõsk 31.3.2020UPõP C¸¨£õ´Ä C[SU 
öPõkUP¨£mkÒÍx. 

Â£μ® £ØÖ  ÁμÄ 

ÂØ£øÚ 4,98,000

ÁμõUPhß JxURk 4,000

ö£õxUPõ¨¦ 30,000

ö\¾zxuØS›¯ ©õØÖa^mk 45,600

C»õ£ |mh PnUS 17,400

PhÜ¢÷uõº 60,000

PhÜmk¨£zvμ[PÒ 3,60,000

£[S •uÀ (AøÇUP¨£mhx) – 5,52,000

øPöμõUP® 900

Á[Q öμõUP® 3,55,980

AøÇ¨¦ {¾øÁ 9,000

T¼ 92,760

Pmih® 3,60,000

C¯¢vμ® 4,32,000

ö£õxa ö\»ÄPÒ 20,280

Fv¯® 17,200

CøhUPõ» £[Põuõ¯® ÁÇ[Q¯x 9,000

AøÓP»ß 40,000

öPõÒ•uÀ 2,29,880

ö©õzu® 15,67,000 15,67,000

 \›UPmhÀPÒ 

(A) T¼ öPõkUP ÷Ási¯x ¹.6,000 \®£Í® ¹.3,000 

(B) 31.3.2002 CÀ \μUQ¸¨¦ ¹.1,40,000 

CÖv PnUøP u¯õº ö\´P. 
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19. The balance sheet of A Ltd., on 31st December 2020 was 
as follows: 

Liabilities Rs. Assets Rs. 

Share capital   Land 2,30,000

8,000 equity shares of 50 
each 

 
4,00,000 

 

General Reserve 50,000 Plant 1,80,000

Compensation fund 30,000 Furniture 20,000

7% debenture of Rs.50 
each 

50,000 Stock 90,000

Sundry creditors 40,000 Sundry debtors 95,000

Staff provident fund 40,000 Cash 2,000

Bank overdraft 10,000 Discount on issue of 

  debenture 3,000

 6,20,000  6,20,000

 The business of the company is taken over by B Ltd., on 
that date. The purchase consideration is to be discharged 
as follows: 

 (a)  A payment in cash at Rs.10 for every share in A 
Ltd., 

 (b)  A further payment in cash at Rs.60 for every 
debenture in A Ltd., in full discharge of the 
debentures. 

 (c)  An exchange of 5 shares in B Ltd., of Rs.10 each at 
the market value of Rs.15 per share for every 2 
shares in A Ltd., 

 Show the Realisation a/c and cash a/c and the 
shareholders a/c in the books of A Ltd., The expenses of 
Liquidation Rs.5,000 were borne by A Ltd., 
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31.3.2020 AßøÓ¯ A {Ö©zvß C¸¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S •uÀ:   {»® 2,30,000

8000 ö£õx{ø» £[SPÒ 4,00,000  

JßÖ ¹.50 Ãu® ö£õxUPõ¨¦ 50,000 ö£õÔPÒ 1,80,000

|mh Dk {v 30,000 AøÓP»ß 20,000

7% PhÜmk¨ £zvμ® JßÖ 
¹.50 Ãu® 

50,000 \μUQ¸¨¦ 90,000

£Ø£» PhÜ¢÷uõºPÒ 40,000 PhÚõÎPÒ 95,000

öuõÈ»õ›PÎß ÷\©Põ¨¦ {v 40,000 öμõUP® 2,000

Á[Q ÷©ÀÁøμ¨£ØÖ 10,000 PhÜmk¨ £zvμ  

  öÁÎ°mk uÒÐ£i 3,000

 6,20,000  6,20,000

 ÷©ØTÔ¯ ÷uv°À B {Ö©zuõÀ C¢u Â¯õ£õμ©õÚx 
GkzxU öPõÒÍ¨£mhx. öPõÒ•uÀ ©Ö£¯ÚõÚx 
¤ßÁ¸©õÖ J¨£øhUP¨£mhx. 

(A) A {Ö©zvÀ EÒÍ JÆöÁõ¸ £[QØS® ¹.10 
öμõUP©õP ö\¾zu¨£mhx. 

(B) A {Ö©zvÀ EÒÍ JÆöÁõ¸ PhÜmk¨ 
£zvμzvØS® ¹.60 öμõUP©õP ö\¾zv PhÜmk¨ 
£zvμzøu •ÊÁx©õP wºzux. 

(C) A {Ö©zvÀ EÒÍ JÆöÁõ¸ 2 £[SPÐUS® B 
{Ö©zvÀ 5 £[SPÒ JßÖ ¹.10 \¢øu ©v¨¦ 
EÒÍøu 15 Ãu® ©õØÓ® ö\´¯¨£mhÚ. 

Pø»¨¦a ö\»ÁõP ¹.5,000 zøu A HØÖU öPõshx GÚU 
öPõsk wºÄU PnUS öμõUP PnUS ©ØÖ® £[SuõμºPÒ 

PnUøP A {Ö©zvß HkPÎÀ u¯õ›UP. 
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20. Balance Sheet of X Ltd., as on 31.12.2020 as follows 

Liabilities Rs. Assets Rs. 

Share capital Building 25,000

12,000 equity shares of Rs.10 each 1,20,000 Fixed assets 2,00,000

8,000 preference shares of Rs. 10 

each 80,000

Stock 5,25,000

Bank loan 4,00,000 Debtors 1,00,000

8% debentures 1,00,000 P&L account 58,000

Interest due on debenture 8,000  

Creditors 2,00,000  

 9,08,000  9,08,000

 The company went into voluntary liquidation on that 

date. Prepare liquidators final statement of accounts 

after taking into account the following: 

 (a)  Liquidation expenses and liquidators remuneration 

amounted to Rs.3,000 and 10,000 respectively. 

 (b)  Bank loan was secured by pledge of stock. 

 (c)  Debenture and interest thereon are secured by a 

floating charge on all assets.  

 (d)  Fixed assets were realized at book values and 

current assets at 80% of book values. 
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 31.12.2020 À GUì {Ö©zvß C¸¨¦ {ø»USÔ¨¦ R÷Ç 
öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S •uÀ  Pmih® 25,000

12,000 ö£õx¨ £[SPÒ ¹. 10 Ãu® 1,20,000 {ø»a ö\õzxUPÒ 2,00,000

8,000 •ßÝ›ø©¨ £[SPÒ ¹. 10 Ãu® 80,000 \μUQ¸¨¦ 5,25,000

Á[QU Phß 4,00,000 PhÚõÎPÒ 1,00,000

8% Phß £zvμ[PÒ 1,00,000 C»õ£ |mh PnUS 58,000

Phß £zvμ[PÒ «uõÚ Áμõu Ámi 8,000  

PhÜ¢÷uõº 2,00,000  

 9,08,000  9,08,000

 A¢u ÷uv°À {Ö©©õÚx uõÚõP Pø»UP¨£mhx. 
Pø»¨£õÍ›ß CÖv PnUøP RÌUPsh uPÁÀPøÍ 
öPõsk u¯õ›UPÄ®. 

 (A) Pø»¨¤ØPõÚ ö\»Ä ©ØÖ® Pø»¨£õÍ¸UPõÚ 
Fv¯® •øÓ÷¯ ¹.3,000 ©ØÖ® ¹.10,000 

 (B) \μUQøÚ Ah©õÚ® øÁzx Á[QU Phß 
ö£Ó¨£kQÓx. 

 (C) Phß £zvμ® ©ØÖ® Auß «uõÚ Ámi GÀ»õ 
ö\õzxUPøÍ²® ªuUS® Ah©õÚ©õP 
öPõskÒÍx. 

 (D) {ø» ö\õzxUPÒ AuÝøh¯ ¦zuP ©v¨¤À 
ÂØP¨£mhÚ. |h¨¦ ö\õzxUPÒ Auß ¦zuP 
©v¨¤À 80 \uÃu® BP PnUQh¨£kQÓx. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Indirect tax? 

 ©øÓ•P Á› GßÓõÀ GßÚ? 

2. Mention any two objectives of Taxation. 

 Á› Âv¨¤ß G÷uÝ® Cμsk ÷|õUP[PøÍ GÊxP. 

3. Who is a non-resident? 

 Si²›ø© CÀ»õuÁº Gß£Áº ¯õº? 

4. What is meant by Assessment year? 

 ©v¨¥k Bsk GßÓõÀ GßÚ? 

5. What is Depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. Write short note on Tax Free Securities. 

 Á› CÀ»õu £zvμ[PÒ £ØÔ¯ ]Ö SÔ¨ø£ GÊuÄ®. 

Sub. Code 
7BCC5C2 
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7. What is meant by Salary Income? 

 \®£Í Á¸©õÚ® GßÓõÀ GßÚ? 

8. What is Annual Value? 

 Bsk ©v¨¦ GßÓõÀ GßÚ? 

9. What do you understand by Business? 

 Â¯õ£õμ® £ØÔ }[PÒ ¦›¢x öPõshøu GÊxP. 

10. What is Causal Income? 

 \õuõμn Á¸©õÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Define:  

  (i) Income 

  (ii) Person 

  (iii) Total Income 

  (iv) Previous Year. 

  Áøμ¯Ö : 

  (i) Á¸©õÚ® 

  (ii) |£º 

  (iii) ö©õzu Á¸©õÚ® 

  (iv) Ph¢u Á¸h®. 

Or 

 (b) Explain the features of Income tax in India. 

  C¢v¯õÂÀ Á¸©õÚ Á›°ß A®\[PøÍ ÂÍUSP. 
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12. (a) Explain various kinds of Agricultural Income. 

  £À÷ÁÖ ÁøP¯õÚ ÂÁ\õ¯ Á¸©õÚ[PøÍ £ØÔ 
ÂÁ›. 

Or 

 (b) The following are the details of Income of Mr. Raj 

  (i) Share of Income from a Joint venture in India 
Rs.10,000. 

  (ii) Dividend from a foreign company Rs.1,000 
received in India. 

  (iii) Income from Agricultural land in Sri Lanka 
Rs.20,000 received in India. 

  (iv) Salary received in India Rs.9,800 (computed) 
but services were rendered in Iran. 

  (v) Income from business (controlled from India) 
in Sri Lanka Rs.10,000 and remitted to India. 

  (vi) Income earned and received in Sri Lanka from 
bank deposits Rs.5,000. 

  (vii) Income accrued in India but received in Iran 
Rs.10,000. 

   Compute Mr. Raj Income if he is: 

   (1) Ordinarily Resident 

   (2) Not ordinarily Resident 

   (3) Non-Resident. 

  v¸. μõâß Á¸©õÚ ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

  (i) C¢v¯õÂÀ J¸ Tmk •¯Ø] ‰»® 

Á¸©õÚzvß £[S ¹.10,000. 

  (ii) öÁÎ|õmk {ÖÁÚzvhª¸¢x DÄzöuõøP 

¹.1,000 C¢v¯õÂÀ ö£Ó¨£mhx. 
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  (iii) C¢v¯õÂÀ ÂÁ\õ¯ {»[PÎ¸¢x Á¸©õÚ® 

¹.20,000 C¢v¯õÂÀ ö£Ó¨£mhx. 

  (iv) C»[øP°À ö£Ó¨£mh \®£Í® ¹.9,800 

(PnUQh¨£mhx) BÚõÀ ÷\øÁPÒ DμõÛÀ 
ÁÇ[P¨£mhÚ 

  (v) C»[øP°À ÁoPzv¼¸¢x (C¢v¯õÂÀ 
C¸¢x Pmk¨£kzu¨£mhx) Á¸©õÚ® 

¹.10,000 ©ØÖ® C¢v¯õÂØS AÝ¨£¨£mhx. 

  (vi) Á[Q øÁ¨¦PÎ¼¸¢x C»[øP°À 
Dmh¨£mh ©ØÖ® ö£Ó¨£mh Á¸©õÚ® 

¹.5,000 BP C¸¢ux. 

  (vii) C¢v¯õÂÀ Á¸©õÚ® Dmh¨£mhx BÚõÀ 

DμõÛÀ ¹.10,000. 

   v¸ μõä Á¸©õÚzøuU PnUQk[PÒ : 

   (1) Á]¨£Áº ©ØÖ® \õuõμn Si°¸¨£õÍº 

   (2) Á]¨£Áº ©ØÖ® \õuõμn Si°¸¨£õÍº 
AÀ» 

   (3) Si²›ø© AÀ»õuÁº. 

13. (a) Explain some of the incomes which are partially 
exempted from income tax. 

  Á¸©õÚ Á›°¼¸¢x KμÍÄ Â»US AÎUP¨£mh 
]» Á¸©õÚ[PøÍ ÂÍUSP. 

Or 

 (b) Differences between Gross Total Income and 
Taxable Income. 

  ö©õzu Á¸©õÚzvØS® ©ØÖ® Á›ÂvUPUTi¯ 
Á¸©õÚzvØS® EÒÍ ÷ÁÖ£õk. 
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14. (a) State the deductions that are allowed from the 
annual value in computing the Income from house 
property. 

  Ãmka ö\õzv¼¸¢x Á¸©õÚzøuU PnUQkÁvÀ 
Bsk ©v¨¤À C¸¢x AÝ©vUP¨£k® 
Â»USPøÍU SÔ¨¤kP. 

Or 

 (b) Mr. Surya provides the following particulars for the 
assessment year 2022-23. Calculate gross annual 
value. 

    Particulars   Rs. 

   Municipal Value  60,000 

   Fair rent 65,000 

   Standard rent 59,500 

   Actual rent 72,000 

   Loss due to vacancy 6,000 

  v¸. `º¯õ 2022&23 ©v¨¥mk BsiØPõÚ 
¤ßÁ¸® ÂÁμ[PøÍ ÁÇ[SQÓx. ö©õzu Bsk 
©v¨ø£U PnUQkP. 

    ÂÁμ[PÒ  ¹. 

   |Pμõm] ©v¨¦  60,000 

   {¯õ¯©õÚ ÁõhøP 65,000 

   {ø»¯õÚ ÁõhøP 59,500 

   Esø©¯õÚ ÁõhøP 72,000 

   Põ¼°h® Põμn©õP CÇ¨¦ 6,000 

15. (a) Compute Income from other sources from the 
following information for the financial year 2021-22. 

  I. Amounts won from: 

   (i) Lottery Rs.50,500 

   (ii) Betting on Horse Racing Rs.5,000  
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  II. Amounts received from: 

   (i) Lottery Rs.83,000 

   (ii) Betting on Horse Racing Rs.12,000  

  III. Income from: 

   (i) Lottery Rs.4,800 

   (ii) Betting on Horse racing Rs.2,000. 

  2021-22 {v¯õsiØPõÚ ¤ßÁ¸®uPÁÀPÎ¼¸¢x 
¤Ó Buõμ[PÎÀ C¸¢x Á¸©õÚzøuU PnUQkP 

  I. öÁßÓ öuõøPPÒ : 

   (i) »õmh› ¹.50,500 

   (ii) Svøμ £¢u¯® ¹.5,000  

  II. ö£Ó¨£mh öuõøPPÒ : 

   (i) »õmh› ¹.83,000 

   (ii) Svøμ £¢u¯® ¹.12,000  

  III. Á¸©õÚ® : 

   (i) »õmh› ¹.4,800 

   (ii) Svøμ £¢u¯® ¹.2,000. 

Or 

 (b) What deductions are allowed to a businessman in 
computing profits? 

  C»õ£zøuU PnUQkÁvÀ J¸ ÁoP¸US GßÚ 
Â»USPÒ AÝ©vUP¨£kQßÓÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the historical background of Income tax. 

 Á¸©õÚ Á›°ß Áμ»õØÖ¨ ¤ßÚoø¯ ÂÍUSP. 
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17. Following are the incomes of Mani for the previous year 
2021-22 : 

 1. Salary received in India Rs.2,00,000. 

 2. Commission received in India for services rendered 
in Hongkong Rs.4,00,000. 

 3. Pension received in Indonesia for services rendered 
in India Rs.1,50,000. 

 4. House property income received in UK for the house 
situated in India Rs.1,25,000. 

 5. Business income from manufacturing unit set up in 
India Rs.20,000. 

 6. Business income received in Singapore from a 
business controlled from India Rs.40,000. 

 7. Consultation fees received in Thailand from a 
profession controlled from India Rs.60,000. 

 8. Income earned in USA from a business setup in 
USA and controlled from there Rs.50,000. 

 9. Professional income received in Austria from a 
profession set up in Austria Rs.40,000. 

 10. Pension earned and received in Japan Rs.20,000. 

 11. Interest on securities of UK Government received in 
UK Rs.50,000. 

 12. Income of the year 2011 received in West Indies and 
brought into India on 30.8.2019 Rs.60,000. 

 13. Salary earned and kept in Iran during the year 
2018-19 and brought to India during 2021-22 
Rs.4,50,000. 

  Ascertain the total income of Mani if he is. 

  (a) Resident and ordinary resident 

  (b) Resident and but not ordinary resident 

  (c) Non-Resident. 
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 •¢øu¯ Bsk 2021&22 UPõÚ ©o°ß Á¸©õÚ® 
¤ßÁ¸©õÖ : 

 1. C¢v¯õÂÀ ö£Ó¨£k® \®£Í® ¹.2,00,000. 

 2. íõ[Põ[QÀ ÁÇ[P¨£k® ÷\øÁPÐUPõP 

C¢v¯õÂÀ ö£Ó¨£mh Pªåß ¹.4,00,000. 

 3. C¢v¯õÂÀ ÁÇ[P¨£mh ÷\øÁPÐUPõP 
C¢÷uõ÷Ú]¯õÂÀ ö£Ó¨£mh K´Åv¯® 

¹.1,50,000. 

 4. C¢v¯õÂÀ EÒÍ ÃmiØPõP C[Q»õ¢vÀ 

ö£Ó¨£mh Ãmiß ö\õzx Á¸©õÚ® ¹.1,25,000. 

 5. C¢v¯õÂÀ {ÖÁ¨£mh EØ£zv A»S ‰»® ÁoP 

Á¸©õÚ® ¹.20,000. 

 6. C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® 
ÁoPzv¼¸¢x ][P¨§›À ö£Ó¨£mh ÁoP 

Á¸©õÚ® ¹.40,000. 

 7. C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® J¸ 
öuõÈ¼À C¸¢x uõ´»õ¢vÀ ö£Ó¨£mh 

B÷»õ\øÚU Pmhn® ¹.60,000. 

 8. Aö©›UPõÂÀ J¸ ÁoP Aø©¨¤¼¸¢x 
Aö©›UPõÂÀ Dmh¨£mh Á¸©õÚ® ©ØÖ® 

A[Q¸¢x Pmk¨£kzu¨£k® ¹.50,000. 

 9. Bìv›¯õÂÀ {ÖÁ¨£mh J¸ öuõÈ¼À C¸¢x 
Bìv›¯õÂÀ ö£Ó¨£mh öuõÈÀ•øÓ Á¸©õÚ® 

¹.40,000. 

 10. á¨£õÛÀ \®£õvzu ©ØÖ® ö£Ó¨£mh K´Åv¯® 

¹.20,000. 

 11. C[Q»õ¢vÀ ö£Ó¨£mh C[Q»õ¢x Aμ\õ[Pzvß 

£zvμ[PÒ «uõÚ Ámi ¹.50,000. 

 12. 2011 B® BskUPõÚ Á¸©õÚ® ÷©ØQ¢v¯z 

wÄPÎÀ ö£Ó¨£mk 30.8.2019 AßÖ C¢v¯õÂØSU 

öPõsk Áμ¨£mhx ¹.60,000. 
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 13. 2018-19 B® BsiÀ DμõÛÀ \®£õvzu \®£Í® 

©ØÖ® 2021-22 CÀ C¢v¯õÂØS öPõsk 

Áμ¨£mhx ¹.4,50,000. 

  ©o°ß ö©õzu Á¸©õÚzøu PnUQk[PÒ : 

  (A) Á]¨£Áº ©ØÖ® \õuõμn Si°¸¨£õÍº 

  (B) Á]¨£Áº ©ØÖ® \õuõμn Si°¸¨£õÍº AÀ» 

  (C) Si²›ø© AÀ»õuÁº. 

18. Describe the exempted income for the employee. 

 FÈ¯¸US Â»US AÎUP¨£mh Á¸©õÚzøu ÂÁ›. 

19. Calculate income from salary of Mrs. Gunjan, a 
government employee working in Chennai. 

 Basic salary Rs.12,000 p.m 

 DA Rs.7,000 p.m 

 CCA Rs.1,000 p.m 

 HRA Rs.6,000 p.m [Rent paid Rs.4,000 p.m] 

 Entertainment Allowances Rs.3,000 p.m 

 Conveyance allowance Rs.30,000 p.m [Actual amount 
spent Rs. 25,000] 

 Washing allowance Rs.7,000 

 Project allowance Rs. 6,000 

 ö\ßøÚ°À £o¦›²® Aμ_ FÈ¯º v¸©v Sg\Ûß 
\®£Ízv¼¸¢x Á¸©õÚzøuU PnUQk 

 Ai¨£øh \®£Í® ¹.12,000  

 APÂø»¨£i ¹.7,000  

 PoÛ £¯ß£õkPÐUPõÚ \õßÔuÌ ¹.1,000 ©õu® 
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 Ãmk ÁõhøP öPõk¨£ÚÄ ¹.6,000 ©õu® [ÁõhøP 

¹.4,000 ©õu®] 

 ö£õÊx÷£õUS öPõk¨£ÚÄPÒ ¹.3,000 ©õu® 

 ÷£õUSÁμzx öPõk¨£ÚÄ ¹.30,000 ©õu® [Esø©¯õÚ 

öuõøP ¹. 25,000] 

 \»øÁ öPõk¨£ÚÄ ¹.7,000 

 vmh EuÂzöuõøP ¹. 6,000 

20. Calculate income from other sources from the information 

given below: 

 (a) Winnings from lottery Rs.1,00,000 

 (b) Amount received from race winnings Rs.35,000 

  Gifts received during the previous year 2021-22  

  (i) Received Rs.20,000 as gift from his friend. 

  (ii) Received Rs.1,00,000 as gift from his elder 

brother 

  (iii) Received Rs.1,40,000 as gift on his marriage. 

  (iv) Received Rs.80,000 as gift from his NRI friend 

on 1.1.2021. 

  (v) Another gift of Rs.18,000 received from his 

friend. 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x ¤Ó Buõμ[PÎÀ 

C¸¢x Á¸©õÚzøuU PnUQkP : 

 (A) »õmh› ‰»® Qøhzu £›_ öuõøP ¹.1,00,000 

 (B) £¢u¯ öÁØÔPÎ¼¸¢x ö£Ó¨£mh öuõøP ¹.35,000 
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  •¢øu¯ Bsk 2021-22CÀ ö£Ó¨£mh £›_PÒ : 

  (i) AÁμx |s£›hª¸¢x £›\õP ö£ØÓx 
¹.20,000. 

  (ii) AÁμx ‰zu \÷Põuμ›hª¸¢x ¹.1,00,000 
£›\õP ö£ØÓõº 

  (iii) AÁμx v¸©nzvØS £›\õP ¹.1,40,000 
ö£ØÓõº. 

  (iv) 1.1.2021 AßÖ uÚx NRI |s£›hª¸¢x 
¹.80,000 £›\õP ö£ØÓõº. 

  (v) AÁμx |s£›h® C¸¢x ö£Ó¨£mh ¹.18,000 
£›_. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023. 

Fifth Semester 

Commerce with Computer Applications 

Elective : OPERATING SYSTEM 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is the objective of Operating systems? 

 C¯UP •øÓø©PÎß ÷|õUP® GßÚ? 

2. List any four operating system names. 

 H÷uÝ® |õßS C¯UP •øÓø©°ß ö£¯ºPøÍ 
£mi¯¼kP. 

3. What is mean by Scheduling? 

 vmhªhÀ GßÓõÀ GßÚ? 

4. Define the Term  “Detection”. 

 PshÔuÀ GßÓ ö\õÀø» Áøμ¯Ö. 

5. What is Static memory? 

 {ø»¯õÚ {øÚÁP® GßÓõÀ GßÚ? 

6. Difference between Logical and Physical memory. 

 u¸UP ©ØÖ® C¯Ø¤¯À {øÚÁzvØS® Cøh÷¯¯õÚ 
÷ÁÖ£õk GßÚ. 
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7. How to naming the File? 

 ÷Põ¨¦PÐUS GÆÁõÖ ö£¯›kÁx? 

8. What do you mean by file protection? 

 ÷Põ¨¦ £õxPõ¨¦ GßÓõÀ GßÚ? 

9. How does a worm spread? 

 Worm GÆÁõÖ £μÄQÓx? 

10. What is Hardware? 

 Áßö£õ¸Ò GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is Operating system? Explain simple Batch 
processing. 

   C¯UP •øÓø© GßÓõÀ GßÚ? GÎ¯ öuõSv 
ö\¯»õUPzøu £ØÔ ÂÍUSP. 

Or 

 (b) Explain the concept of Time Sharing. 

   ÷|μ £QºÄ GßÓ P¸zøu £ØÔ ÂÍUSP. 

12. (a) What do you mean by Semaphore? Explain in 
details with suitable example. 

   ö\©÷£õº GßÓõÀ GßÚ? AuøÚ \›¯õÚ 
GkzxUPõmkPÐhß ÂÍUSP. 

Or 

 (b) What are the necessary conditions hold for a 
deadlock to occur?  

   •hUP® HØ£kÁuØPõÚ ÷uøÁ¯õÚ {£¢uøÚPÒ 
¯õøÁ? 
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13. (a) Discuss the Physical memory management system. 

   C¯Ø¤¯À {øÚÁP ÷©»õsø© Aø©¨¦ £ØÔ 
ÂÁõvUPÄ®. 

Or 

 (b) Write the brief note on Memory Protection. 

   {øÚÁP £õxPõ¨¦ £ØÔ ]Ö SÔ¨¦ GÊxP. 

14. (a) Explain the different access methods in the File. 

   ÷Põ¨¤À EÒÍ öÁÆ÷ÁÖ Aq•øÓPøÍ £ØÔ 
ÂÍUSP. 

Or 

 (b) Describe File System Reliability. 

   ÷Põ¨¦ |®£Pzußø© £ØÔ ÂÁ›UPÄ®. 

15. (a) Explain Mechanisms of Protecting Software 
resources.  

   ö©ßö£õ¸Ò ÁÍ[PøÍ¨ £õxPõUS® 
ÁÈ•øÓPøÍ £ØÔ ÂÍUSP. 

Or 

 (b) Write any two disk Scheduling algorithm. 

   H÷uÝ® Cμsk Ámk vmhªhÀ ÁÈ•øÓPøÍ 
GÊuÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the abstract view of a computer system in detail. 

 PoÛ Aø©¨¤ß _¸UP©õÚ Põm]ø¯ Â›ÁõP GÊuÄ®. 
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17. How to Deadlocks are handled? How to prevent and 
Avoid Dead Locks? 

•hUP® GÆÁõÖ øP¯õÍ¨£kQÓx? •hUP[PøÍ 
uk¨£x ©ØÖ® uÂº¨£x G¨£i? 

18. Describe the concept of Segmentations? 

 ¤›ÄPÎß P¸zøu £ØÔ ÂÁ›. 

19. Briefly discuss about File System. 

 ÷Põ¨¦ •øÓø© £ØÔ _¸UP©õP ÂÁ›. 

20. Explain the various Disk driver access strategies.  

 £À÷ÁÖ ÁøP¯õÚ Ámk C¯UQ AqPÀ EzvPøÍ 
ÂÍUSP. 

 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023. 

Fifth Semester 

Commerce With Computer Applications 

Elective – WEB TECHNOLOGIES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is www fundamental? 

 www Ai¨£øh GßÚ? 

2. What is multimedia? 

 £À¿hP® GßÓõÀ GßÚ? 

3. What did you meant by internet service providers. 

 Cøn¯ ÷\øÁ ÁÇ[S|ºPÒ GßÓõÀ GßÚ? 

4. Define bandwidth. 

 Aø»Á›ø\ø¯ Áøμ¯ÖUPÄ®. 

5. How does Internet email work? 

 Cøn¯ ªßÚg\À GÆÁõÖ ö\¯À£kQÓx? 

6. How effective are mailing lists? 

 Ag\À £mi¯ÀPÒ GÆÁÍÄ £¯ÝÒÍuõP C¸US®? 

7. What is the most used web server software? 

 AvP® £¯ß£kzu¨£k® Cøn¯ ÷\øÁ ö©ßö£õ¸Ò 
Gx? 

Sub. Code 
7BCCE1B 



F–8939 

  

  2

8. What is the use of Http? 

 «²øμ £›©õØÓ ö|Ô•øÓ&ß £¯ß GßÚ? 

9. What is HTML explain? 

 ªßÞÀ GßÓõÀ GßÚ? 

10. What is specification formatting? 

 ÂÁμUSÔ¨¦ ÁiÁø©¨¦ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Why is it important to understand URLs? 

   Eμ¼ PøÍ¨ ¦›¢xöPõÒÁx Hß •UQ¯®? 

Or 

 (b) What is CDROMS, give an example. 

   SÖ¢uPk GßÓõÀ GßÚ, J¸ Euõμn® öPõk[PÒ. 

12. (a) What is PPP protocol used for? 

   PPP ö|Ô•øÓ GuØPõP¨ £¯ß£kzu¨£kQÓx? 

Or 

 (b) What are web browser and its importance?  

   Cøn¯ E»õÂ ©ØÖ® Auß •UQ¯zxÁ® GßÚ? 

13. (a) How to access internet mail? 

   Cøn¯ Ag\À G¨£i AqSÁx? 

Or 



F–8939 

  

  3

 (b) What are the types of electronic mail? 

   ªßÚq Ag\À ÁøPPÒ GßÚ? 

14. (a) What is a dedicated phone line? 

   ¤μz÷¯P öuõø»÷£] Cøn¨¦ GßÓõÀ GßÚ? 

Or 

 (b) Why do we need http? 

   «²øμ £›©õØÓ ö|Ô•øÓ&Cß ÷uøÁ GßÚ? 

15. (a) What is HTML documents? 

   ªßÞÀ BÁn[PÒ GßÓõÀ GßÚ? 

Or 

 (b) What is hyperlink formatting? 

   ªøP Cøn¨¦ ÁiÁø©¨¦ GßÓõÀ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. (a) What is Online Communication and it’s Types? 

   {PÌ{ø» öuõhº¦ ©ØÖ® Auß ÁøPPÒ GßÚ? 

 (b) What are the ways in accessing the internet? 

   Cøn¯zøu AqSÁuØPõÚ ÁÈPÒ GßÚ? 

17. What you meant by internet service provider, explain its 
classification and factors considering while choosing an 
ISP. 

Cøn¯ ÷\øÁ ÁÇ[S|º GßÖ }[PÒ GøuU 
SÔ¨¤kQÕºPÒ, Auß ÁøP¨£õk ©ØÖ® ISPø¯z 
÷uº¢öukUS® ÷£õx P¸zvÀ öPõÒÍ ÷Ási¯ 
PõμoPøÍ ÂÍUS[PÒ. 
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18. Explain various types of online services and its benefits. 

 £À÷ÁÖ ÁøP¯õÚ {PÌ{ø» ÷\øÁPÒ ©ØÖ® Auß 
|ßø©PøÍ ÂÍUS[PÒ. 

19. What is a web server software and explain the example of 
web server software? 

Cøn¯ ÷\øÁ¯õP ö©ßö£õ¸Ò GßÓõÀ GßÚ ©ØÖ® 
Cøn¯ ÷\øÁ¯P ö©ßö£õ¸Îß Euõμnzøu 
ÂÍUS[PÒ? 

20. How to create a page in hypertext markup language? 

 ªßÞÀ ö©õÈ°À J¸ £UPzøu G¨£i E¸ÁõUSÁx. 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023 
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Commerce with Computer Applications 

Elective: COSTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define costing. 

 ö\»Ä PnUQ¯ø» Áøμ¯ÖP. 

2. What is direct labour? 

 ÷|μi EøÇ¨¦ GßÓõÀ GßÚ? 

3. Give the meaning of FIFO. 

 FIFO Gß£uß ö£õ¸øÍU öPõkUPÄ®. 

4. What do you mean by reorder level? 

 ©ÖÁ›ø\ {ø» Gß£uß Aºzu® GßÚ? 

5. What do you mean by merit rating? 

 uSv ©v¨¥k GßÓõÀ GßÚ? 

6. Define idle time. 

 ö\¯À£hõ ÷|μ® Áøμ¯ÖP. 

Sub. Code 
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7. Define allocation. 

 JxURmøh Áøμ¯ÖP. 

8. What is a work cost? 

 ÷Áø» ö\»Ä GßÓõÀ GßÚ? 

9. Define process costing. 

 ö\¯À•øÓ ö\»Ä Áøμ¯ÖP. 

10. What do you mean by normal loss? 

 \õuõμn CÇ¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) You are required to compile a statement showing 
cost and profit from the information given showing 
clearly (i) material consumed (ii) prime cost  
(iii) work cost (iv) cost of production (v) cost of sales 
(vi) profit and (vii) sales. 

Particulars Rs. 

Opening Stock of raw materials 40,000

Closing stock of raw materials 60,000

Purchase of raw materials  2,00,000

Wages  1,00,000

Direct expenses 20,000

 Factory overhead is absorbed at 20% on wages. 
Administrative overhead is 25% on the work cost. 
Selling and distribution overheads are 20% on the 
cost of production. Profit is 20% on sales.  
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 öPõkUP¨£mh uPÁÀPÎ¼¸¢x ö\»Ä ©ØÖ® 
C»õ£zøuU Põmk® AÔUøPø¯ }[PÒ öuõSUP 
÷Ásk®. (i) ~Pμ¨£k® ö£õ¸Ò (ii) •ußø©a 
ö\»Ä (iii) ÷Áø»a ö\»Ä (iv) EØ£zva ö\»Ä  
(v) ÂØ£øÚa ö\»Ä (vi) C»õ£® ©ØÖ®  
(vii) ÂØ£øÚ 

ÂÁμ[PÒ ¹. 

‰»¨ö£õ¸mPÎß öuõhUP® \μUQ¸¨¦ 40,000

‰»¨ö£õ¸mPÎß CÖv \μUQ¸¨¦ 60,000

‰»¨ö£õ¸mPøÍ Áõ[SuÀ 2,00,000

T¼PÒ 1,00,000

÷|μi ö\»ÄPÒ 20,000

   öuõÈØ\õø»°ß ÷©À{ø» 20% Fv¯zvÀ PnUQÀ 
GkzxUöPõÒÍ¨£kQÓx. £oaö\»ÂÀ {ºÁõPa 
ö\»Ä 25% BS®. EØ£zv ö\»ÂÀ 20%. ÂØ£øÚ 
©ØÖ® Â{÷¯õP ÷©À{ø»PÒ ÂØ£øÚ°À  
»õ£® 20%. 

Or 

 (b) Explain the difference between Cost accounting and 
Financial accounting. 

  AhUPÂø» PnUQ¯À ©ØÖ® {v PnUQ¯À 
Cøh÷¯ ÷ÁÖ£õmøh ÂÍUSP. 

12. (a) What are the essential of material control? 

  ö£õ¸Ò Pmk¨£õmiß CßÔ¯ø©¯õux GßÚ? 

Or 

 (b) From the following particulars prepare the stores 
ledger by adopting LIFO method March 2015 
1. Purchased 400 units@ Rs 2. Per unit 

  2. Purchased 500units@ Rs 3. Per unit 
  5. Issued 400 units 

 8. Issued 200 units 
10.  Purchased 700 units@ Rs 5. Per unit 
12.  Issued 500 units. 
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x LIFO •øÓø¯¨ 
¤ß£ØÔ ì÷hõºì ö»máøμz u¯õ›UPÄ®  
©õºa 2015  

  1. 400 ³ÛmkPÒ Áõ[Q¯x J¸ ³Ûmiß Âø» 
¹£õ´ & 2 

  2.  500 ³ÛmkPÒ Áõ[Q¯x J¸ ³Ûmiß Âø» 
¹£õ´ & 3 

  5. 400 ³ÛmkPÒ öPõkzux 
  8. 200 ³ÛmkPÒ öPõkzux 
  10. 700 ³ÛmkPÒ Áõ[Q¯x J¸ ³Ûmiß Âø» 

¹£õ´ & 5 
  12. 500 ³ÛmkPÒ öPõkzux 

13. (a) From the following information calculate the labour 
turnover rate. 

Number of workers at the beginning of the period: 
3,800 

Number of workers at the end of the period: 4,200 

During the year, 40 workers left while 160 workers 
are discharged. 600 workers are recruited during 
the year, of these 150 workers are recruited to fill 
up  vacancies and the rest are engaged on account of 
an expansion scheme. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x öuõÈ»õÍº Á¸Áõ´ 
ÃuzøuU PnUQk[PÒ. 

  Põ»zvß öuõhUPzvÀ öuõÈ»õÍºPÎß 

GsoUøP: 3,800 
  Põ»zvß CÖv°À öuõÈ»õÍºPÎß  

GsoUøP: 4,200 
  C¢u BsiÀ, 40 öuõÈ»õÍºPÒ öÁÎ÷¯ÔÚº. 

A÷u÷£õÀ 160 öuõÈ»õÍºPÒ öÁÎ÷¯ØÓ¨£mhÚº. 
C¢u BsiÀ 600 öuõÈ»õÍºPÒ Bm÷\º¨¦ 
|øhö£ØÓÚ. CvÀ 150 öuõÈ»õÍºPÒ 
Põ¼°h[PøÍ {μ¨£ Bm÷\º¨¦ 
ö\´¯¨£kQÓõºPÒ. «u•ÒÍÁºPÒ Â›ÁõUP 
vmhzvß Põμn©õP Dk£kQÓõºPÒ. 

Or 



F - 8940 

  

   5

 (b) Write short note on over time. 

  ªøP ÷|μ® SÔzx ]Ö SÔ¨¦ ÁøμP. 

14. (a) Explain the different methods of overheads. 
  öuõÈØ\õø» ÷©Øö\»ÄÂß öÁÆ÷ÁÖ •øÓPøÍ 

ÂÍUSP. 

Or 

 (b) A factory has three production department P1,P2, 
and P3 and two Service department S1 and S2. The 
overheads costs of the different department 
incurred during 31 March 2018 are as follows. 

Departments Costs Rs.

P1 8,850

P2 7,165

P3 6,285

S1 4,515

S2 6,010

  Apportion the expenses of service department S2 in 
portion of 3:3:4 and those of service department S1 
in the ratio of 3:1:1 to departments P1, P2 and P3 
respectively. 

  J¸ öuõÈØ\õø»°À ‰ßÖ EØ£zvzxøÓ P1, P2 
©ØÖ® P3 ©ØÖ® Cμsk ÷\øÁzxøÓ S1 ©ØÖ® S2 
BQ¯øÁ EÒÍÚ. 31 ©õºa 2018CÀ öÁÆ÷ÁÖ 
xøÓ°ß ÷©Øö\»ÄÂß ö\»ÄPÒ ¤ßÁ¸©õÖ. 

xøÓPÒ ö\»ÄPÒ ¹.

P1 8,850

P2 7,165

P3 6,285

S1 4,515

S2 6,010
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  ÷\øÁzxøÓ S2Cß ö\»ÄPøÍ 3:3:4 ©ØÖ® 
÷\øÁzxøÓ S1Cß ö\»ÄPÒ 3:1:1 GßÓ ÂQuzvÀ 
•øÓ÷¯ P1, P2 ©ØÖ® P3 BQ¯ xøÓPÐUS¨ 
¤›UPÄ®.  

15. (a) Difference between Job costing and Process Costing.  

  ÷Áø» ö\»Ä ©ØÖ® ö\¯À•øÓ ö\»Ä Cøh÷¯ 
EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

Or 

 (b) From the following information, prepare process 
cost accounts and normal loss, abnormal loss and 
abnormal gain accounts. 

Particulars Process A Process B

 Rs. Rs. 

Materials  30,000 3,000

Labour 10,000 12,000

Overheads 7,000 8,600

Input (units) 20,000 17,500

Sale of waste per unit (Rs.) 1 2

Final output from process B (units) - 17,000

Normal loss  10% 4%

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\¯À•øÓ ö\»Ä 
PnUSPÒ ©ØÖ® \õuõμn CÇ¨¦, A\õuõμn CÇ¨¦ 
©ØÖ® A\õuõμn Buõ¯U PnUSPøÍz 
u¯õ›UPÄ®. 
ÂÁμ[PÒ ö\¯À•øÓ A ö\¯À•øÓ B

 ¹. ¹. 

ö£õ¸mPÒ 30,000 3,000

öuõÈ»õÍº 10,000 12,000

÷©À{ø»PÒ 7,000 8,600
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ÂÁμ[PÒ ö\¯À•øÓ A ö\¯À•øÓ B

EÒÏk (A»SPÒ) 20,000 17,500

J¸ ³ÛmkUS PÈÄ 
ÂØ£øÚ(¹.) 

1 2

ö\¯À•øÓ B (A»SPÒ) 
C¼¸¢x CÖv öÁÎ±k 

- 17,000

\õuõμn CÇ¨¦  10% 4%

  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Calculate cost sheet (a) prime cost (b) work cost (c) cost of 
production (d) cost of sales (e) profit. 

Direct materials  1,00,000
Direct wages 25,000
Direct expenses 5,000
Wages of foreman 2,500
Electric power 500
Lighting factory 1,500
Lighting office 500
Rent factory 5,000
Rent office 2,500
Salaries to salesman 1,250
Advertising  1,250
Income tax 10,000
Sales 1,89,500
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 ö\»Äz uõøÍU öPõsk (A) ¤μuõÚ ö\»Ä (B) ÷Áø» 
ö\»Ä (C) EØ£zv ö\»Ä (D) ÂØ£øÚ ö\»Ä  
(E) C»õ£® BQ¯ÁØøÓ PnUQk[PÒ. 

 

÷|μi ö£õ¸mPÒ 1,00,000
÷|μi Fv¯® 25,000
÷|μi ö\»ÄPÒ 5,000
L÷£õº÷©ß Fv¯® 2,500
ªß \Uv 500
ÂÍUS öuõÈØ\õø» 1,500
ÂÍUS A¾Á»P® 500
öuõÈØ\õø» ÁõhøPUS 5,000
A¾Á»Pzøu ÁõhøPUS Âk[PÒ 2,500
ÂØ£øÚ¯õÍ¸US \®£Í® 1,250
ÂÍ®£μ¨£kzuÀ 1,250
Á¸©õÚ Á› 10,000
ÂØ£øÚ 1,89,500

17. X Ltd has prepared a stores ledger by adopting FIFO 
method. January 2015 

 1. Purchased 400 units @ Rs. 10 per unit 

 10. Purchased 250 units @ Rs. 12 per unit 

 15. Issued 150 units 

 18. Purchased 300 units @ Rs. 14 per unit 

 20. Issued 200 units 

 25. Purchased 200 units @ Rs. 16 per unit 

 31. Issued 200 units 
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 GUì ¼ªöhm FIFO •øÓø¯¨ ¤ß£ØÔ J¸ ì÷hõºì 
ö»máøμ áÚÁ› 2015 u¯õ›UPÄ®. 

 1. ³ÛmkPÒ Áõ[Q¯x ³ÛmkPÒ @ ¹.400 J¸ 
³Ûmiß Âø» ¹.10 

 10. ³ÛmkPÒ Áõ[Q¯x ³ÛmkPÒ @ ¹.250 J¸ 
³Ûmiß Âø» ¹.12 

 15. 150 ³ÛmkPÒ öPõkzux 

 18. ³ÛmkPÒ Áõ[Q¯x ³ÛmkPÒ @ ¹.300 J¸ 
³Ûmiß Âø» ¹.14 

 20. 200 ³ÛmkPÒ öPõkzux 

 25. ³ÛmkPÒ Áõ[Q¯x ³ÛmkPÒ @ ¹.200 J¸ 
³Ûmiß Âø» ¹.16 

 31. 200 ³ÛmkPÒ öPõkzux 

18. Explain the methods of labour remunerations. 

 öuõÈ»õÍº £À÷ÁÖ Fv¯ •øÓPøÍ ÂÍUSP. 

19. In a factory there are two service departments X and Y 
and three production departments A,B, and C. in April 
2012. the departmental expenses were. 

Departments A B C X Y 

 6,300 7,400 2,800 4,500 2,000 

The expenses of the service department are allotted on  a 
percentage basis as follows: 

Departments A B C X Y 

X 40% 40% 20% -- 10% 

Y 30% 30% 20% 20% -- 

Prepare a statement showing distribution of the expenses 
of the two service department on a percentage basis by 
repeated distribution method. 
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 J¸ öuõÈØ\õø»°À H¨μÀ 2012CÀ Cμsk ÷\øÁz 
xøÓPÒ GUì ©ØÖ® J´ ©ØÖ® ‰ßÖ EØ£zvz xøÓPÒ 
H, ¤ ©ØÖ® ] EÒÍÚ. AøÁPÎß xøÓ ö\»ÄPÒ 
¤ßÁ¸©õÖ. 

xøÓPÒ H ¤ ] GUì J´ 

 6,300 7,400 2,800 4,500 2,000 

 

 ÷\øÁz xøÓ°ß ö\»ÄPÒ ¤ßÁ¸©õÖ \uÃu 
Ai¨£øh°À JxUP¨£kQßÓÚ. 

 

xøÓPÒ H ¤ ] GUì J´ 

GUì 40% 40% 20% -- 10% 

J´ 30% 30% 20% 20% -- 

 Cμsk ÷\øÁz xøÓ°ß ö\»ÂÚ[PøÍ J¸ \uÃu 
Ai¨£øh°À «sk® «sk® Â{÷¯õQUS® •øÓ¯õÀ 
Â{÷¯õQ¨£øuU Põmk® AÔUøPø¯z u¯õ›UPÄ®. 

20. From the following information show the total cost and 
cost per unit of process “X” and process “Y”. 

 Process X Process Y

 Rs. Rs. 

Direct Materials 40,000 60,000

Direct Labour 60,000 40,000

Output in units 5,000 6,000

Opening stock (Units from 
previous process) 

-- 2,000

Closing stock (Units from previous 
process) 

-- 800
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 ¤ßÁ¸® uPÁÀPÎÀ C¸¢x “X” ö\¯À•øÓ°ß J¸ 
³Ûmiß ö©õzu ö\»Ä ©ØÖ® “Y” ö\»Ä ©ØÖ® 
ö\¯À•øÓ Psk¤i. 

 ö\¯À•øÓ 
X 

ö\¯À•øÓ
Y 

 ¹. ¹. 

÷|μi ö£õ¸mPÒ  40,000 60,000
÷|μi EøÇ¨¦  60,000 40,000
A»SPÎÀ öÁÎ±k 5,000 6,000
öuõhUPa \μUQ¸¨¦  
(•¢øu¯ ö\¯À£õmiß A»SPÒ) 

-- 2,000

CÖv \μUQ¸¨¦  
(•¢øu¯ ö\¯À£õmiß A»SPÒ) 

-- 800

 

————————  

 

 

      



 

  

F–8941   

B.Com (CA) DEGREE EXAMINATION,  
APRIL 2023 

Sixth Semester 

Commerce with Computer Applications 

JAVA PROGRAMMING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is WWW? 

 WWW GßÓõÀ GßÚ? 

2. List any four web browsers. 

 Áø» E»õÂPÒ H÷uÝ® |õßQøÚ £mi¯¼kP. 

3. How to declare a variable. 

 ©õÔPøÍ GÆÁõÖ AÔÂ¨£x? 

4. What is Automatic Type Conversion? 

 uõÛ¯[Q ÁøP ©õØÓ® GßÓõÀ GßÚ? 

5. Write a syntax of Classes in Java Programming. 

 ÁS¨¦PÎß ö£õxÁõÚ Pmhø©¨¦ áõÁõ ¦÷μõQμõ®PøÍ 
GÊuÄ®. 

6. Mention the importance of Objects. 

 B¨öámPÎß •UQ¯zxÁzøu SÔ¨¤kP. 

Sub. Code 
7BCC6C1 
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7. What is Package in Java Programming? 

 áõÁõÂÀ öuõS¨¦ GßÓõÀ GßÚ? 

8. Define Thread. 

 vμm £ØÔ Áøμ¯Ö. 

9. What is the use of HTML? 

 Ga.i.G®.GÀ–ß £¯ß£õk GßÚ? 

10. How to run HTML files?  

 Ga.i.G®.GÀ ÷Põ¨¦PøÍ C¯USÁx G¨£i? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Difference between C++ and Java. 

   C++ ©ØÖ® áõÁõ–ÂØS Cøh÷¯²ÒÍ ÷ÁÖ£õk. 

Or 

 (b) Explain Concept of JVM. 

   ÷áÂG® (JVM) ß P¸zvøÚ ÂÍUSP. 

12. (a) Write briefly about Data types in Java. 

   áõÁõÂÀ EÒÍ uμÄ ÁøPPøÍ Â›ÁõP GÊuÄ®. 

Or 

 (b) Describe about Precedence of Arithmetic Operators 
with example. 

•ßÝ›ø© GsPou C¯USÚºPøÍ 
GkzxUPõmkPÐhß ÂÁ›UPÄ®. 

13. (a) Explain Constructors with example. 

  Pmhø©¨£õÍºPøÍ GkzxUPõmkPÐhß ÂÍUSP. 

Or 
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 (b) Write a short note on following: 

  (i) Method Declaration  

  (ii)  Final Classes  

   (i) •øÓ AÔÂ¨¦ 

  (ii) Pøh] ÁS¨¦PÒ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

14. (a) Explain the Exception Handling Mechanism. 

   ¤øÇPøÍ øP¯õÐ® •øÓPøÍ ÂÍUPÄ®. 

Or 

 (b) Discuss about Thread Priority. 

   vμm •ßÝ›ø©PøÍ £ØÔ ÂÁõvUPÄ®. 

15. (a) Write down the steps for building Applet Code. 

   B¨ö»m SÔ±kPøÍ Pmhø©£uØPõÚ £iPøÍ 
GÊuÄ®. 

Or 

 (b) Explain any five HTML tags with example. 

   H÷uÝ® I¢x HTML SÔ ö\õØPøÍ GkzxU–
PõmkPÐhß ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain OOPS Concepts in detail. 

 OOPS P¸zvøÚ Â›ÁõP ÂÍUSP. 

17. Discuss Loop Statements with example. 

 ¿¨ AÔUøPPøÍ GkzxUPõmkPÐhß ÂÁõvUPÄ®. 

18. Briefly discuss about Method Overriding with example. 

 •øÓ «ÖuÀ £ØÔ GkzxUPõmkPÐhß Â›ÁõP 
ÂÁõvUPÄ®. 
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19. Explain Thread Life Cycle with neat diagram. 

 vμm ÁõÌUøP _ÇØ]°øÚ Áøμ£hzxhß ÂÍUSP. 

20. Write a short note on following: 

 (a) Passing Parameters to Applet 

 (b) Adding Applet to HTML file 

 (A) B¨ö»m AÍÄÖUPøÍ PhzxÁx 

 (B) B¨ö»møh HTML ÷Põ¨¦hß Cøn¨£x £ØÔ 
]ÖSÔ¨¦ ÁøμP. 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Hindu Undivided Family? 

 C¢x Tmk Sk®£® GßÓõÀ GßÚ? 

2. What are the methods of computing the income of a firm? 

 J¸ {ÖÁÚzvß Á¸©õÚzøuU PnUQk® •øÓPÒ 
¯õøÁ? 

3. Who appoints the various income tax authorities? 

 £À÷ÁÖ Á¸©õÚ Á› AvPõ›PøÍ ¯õº {¯ªUQÓõºPÒ? 

4. Write short note on constitution of tribunal. 

 wº¨£õ¯zvß Aμ]¯»ø©¨¦ £ØÔ¯ ]Ö SÔ¨ø£ GÊxP. 

5. Write a short note on loss from race horses. 

 £¢u¯ SvøμPÍõÀ HØ£k® CÇ¨¦ £ØÔ J¸ ]Ö SÔ¨ø£ 
GÊxP. 

6. Define the term “Gross Total Income”. 

 Áøμ¯ÖUPÄ® “ö©õzu Á¸©õÚ®”. 

Sub. Code 
7BCC6C2 
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7. Write about provisional assessment. 
 uØPõ¼P ©v¨¥k £ØÔ GÊxP. 

8. What is meant by assessment of escaping income? 
 u¨¤US® Á¸©õÚzøu ©v¨¥k ö\´Áuß ö£õ¸Ò £ØÔ 

GÊxP. 

9. What is meant by advance payment of Tax? 
 •ßTmi¯ Á› ö\¾zxuÀ GßÓõÀ GßÚ? 

10. What is tax credit certificate? 
 Á›U Phß \õßÔuÌ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mrs. Laxmi aged 50 years submits the following 
information : 

Particulars Rs. 

Taxable salary 12,40,000 

Interest on bank deposits 20,000 

Long term capital gain 40,800 

Taxable house property income 1,80,000 

Deposit in PPF 60,000 

LIC premium 1,20,000 

Compute the tax liability of Mrs. Laxmi. 
  50 Á¯xøh¯ v¸©v »ôª ¤ßÁ¸® uPÁø»a 

\©º¨¤UQÓõº 

ÂÁμ[PÒ ¹. 

Á› ö\¾zu ÷Ási¯ \®£Í® 12,40,000 
Á[Q øÁ¨¦PÐUPõÚ Ámi 20,000 
}sh Põ» ‰»uÚ Buõ¯® 40,800 
Á› ÂvUP¨£k® Ãmk ö\õzx Á¸©õÚ® 1,80,000 
ö£õx Á¸[Põ» øÁ¨¦ {v°À øÁ¨¦ 60,000 
B²Ò Põ¨¥mkU PÇPzvß ¤Ÿª¯® 1,20,000 

  v¸©v. »ôª°ß Á›¨ ö£õÖ¨ø£ PnUQkP. 

Or 
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 (b) A partnership firm has a book profit of Rs.4,60,000. 
Remuneration allowable to working partners as per 
partnership deed is Rs.1,00,000. Compute the 
allowable remuneration under income tax Act. 

  J¸ Tmhõsø© {ÖÁÚ® ¦zuP »õ£® ¹.4,60,000. 
Tmhõsø© £zvμzvß£i £o¦›²® 
TmhõÍºPÐUS AÝ©vUP¨£k® Fv¯® 
¹.1,00,000 Á¸©õÚ Á›a \mhzvß RÌ 
AÝ©vUP¨£mh Fv¯zøu PnUQkP. 

12. (a) What is the power survey of income tax authorities? 
  Á¸©õÚ Á› AvPõ›PÎß “PnUöPk¨¦ \Uv” 

GßÓõÀ GßÚ? 

Or 
 (b) What is Permanent Account Number (PAN)? 
  {μ¢uμ PnUS Gs (PAN) GßÓõÀ GßÚ? 

13. (a) The following are the particulars of income or loss of 
Mr. A. you are required to set-off losses and carry 
forward and set-off where necessary. 

 A.Y. 2021-22 A.Y. 2022-23
Income from salary 15,000 15,000
Income from  
interest on securities 5,000 5,000
Loss from business 53,000 15,000
Short term Capital gain 8,000 –
Long term capital gain from land 21,000 –
  v¸. “H” °ß Á¸©õÚ® AÀ»x |mh® £ØÔ¯ 

ÂÁμ[PÒ ¤ßÁ¸©õÖ. }[PÒ |mh[PøÍ DköPmh 
©ØÖ® ÷uøÁ¯õÚ Ch[PÎÀ Akzu BskUS 
Gkzx ö\À» ÷Ásk® 

 ©v¨¥k 
Bsk  
2021-22 

©v¨¥k 
Bsk  
2022-23 

\®£Ízv¼¸¢x Á¸©õÚ® 15,000 15,000
£zvμ[PÒ «uõÚ Ámi  
‰»® Á¸©õÚ® 5,000 5,000
Â¯õ£õμzvÀ |èh® 53,000 15,000
SÖQ¯ Põ» ‰»uÚ Buõ¯® 8,000 –
{»zv¼¸¢x }sh Põ» ‰»uÚ 
Buõ¯® 

21,000 –

Or 
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 (b) From the following information of a trader, compute 
the gross total income : 

Particulars Rs. 

Income from house property (computed) 1,50,000 

Business loss 60,000 

Current year depreciation 10,000 

Business loss of preceding year 50,000 

Unabsorbed depreciation of preceding year 30,000 

Short term capital loss 40,000 

Long term capital gain 50,000 

  J¸ ÁºzuP›ß ¤ßÁ¸® uPÁÀPÎ¼¸¢x, ö©õzu 
Á¸©õÚzøuU PnUQkP 

ÂÁμ[PÒ ¹. 

Ãmka ö\õzv¼¸¢x Á¸©õÚ® (PnUQh¨£mhx) 1,50,000 

Â¯õ£õμ |èh® 60,000 

|h¨¦ Bsk ÷u´©õÚ® 10,000 

•¢øu¯ Bsk ÁoP CÇ¨¦ 50,000 

•¢øu¯ Bsiß }UP¨£hõu ÷u´©õÚ® 30,000 

SÖQ¯ Põ» ‰»uÚ CÇ¨¦ 40,000 

}sh Põ» ‰»uÚ Buõ¯® 50,000 

14. (a) List out due date of filing of return. 

  Á¸Áõ´ uõUPÀ ö\´¯ ÷Ási¯ ÷uvPøÍ 
£mi¯¼kP. 

Or 

 (b) Describe the self- assessment. 

  _¯ ©v¨¥møh ÂÁ›. 



F–8942 

  

  5

15. (a) Explain the procedure for making claim for refund. 

  £nzøuz v¸®£¨ ö£ÖÁuØPõÚ E›ø©÷Põμø»a 
ö\´ÁuØPõÚ |øh•øÓø¯ ÂÍUSP. 

Or 

 (b) Describe the Advance Payment Tax. 

  •ßTmi÷¯ ö\¾zx® Á›ø¯ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Shri. Sundar, working in a Ltd. Company at Bombay, 
receives a salary of Rs.3,600 per month during  
2021-2022. His employer contributes Rs.8,160 towards 
provident fund(RPF).Other allowances received by him 
are: Medical allowance: Rs.7,800 and 5 percent 
commission on sales achieved by him which were 
Rs.80,000. Special allowance Rs.2,28,000 Employer 
provides a Maruthi 800 car with a chauffeur (driver) for 
his private and official purposes with effect from April 1, 
2021 the amount of interest credited to provident fund @ 
14% per annum comes to Rs.2,012 Income of Sundar from 
other sources from other sources is Rs.3,00,000. 

Particulars Rs. 

Insurance premium paid on own life with  
LIC (policy for Rs 30,000) 

3,000

Insurance premium paid on the life of mother 2,500

Insurance premium paid on the life of father 400

Insurance premium paid on the life of Mrs. 
Sundar (with ICICI prudential) 

3,500

Insurance premium paid on the life of his Major 
son 

2,000

Insurance premium due before 31.3.2020 but 
paid on April 10, 2020 on own life 

600

Medical insurance premium paid  25,000
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Particulars Rs. 

Contribution towards employees provident fund 4,000

Contribution towards public provident fund 40,000

Repayments of loans taken from LIC for 
purchase of a house (interest Rs. 5,000) (house 
self-occupied and complete in January 1990) 

30,000

Investments in units of notified mutual fund for 
financing infrastructure facility. College fees for 
two children Rs. 26,000 which includes Rs. 2,000 
for development fee term deposit with a bank Rs. 
20,000 

40,000

 Determine the tax liability of Sundar for the assessment 
year 2022-2023.  

 £®£õ°À EÒÍ J¸ ¼ªöhm {ÖÁÚzvÀ £o¦›²® ÿ. 
_¢uº, 2021&22 CÀ ©õu® ¹.3,600 \®£Í® ö£ÖQÓõº. 
AÁμx •u»õÎ Á¸[Põ» øÁ¨¦ {vUS (RPF) ¹.8,160 
£[PÎUQÓõº. AÁº ö£ØÓ ©ØÓ öPõk¨£ÚÄPÒ: 
©¸zxÁU öPõk¨£ÚÄ: ¹.7,800 ©ØÖ® AÁº Aøh¢u 
ÂØ£øÚ°À ¹.80,000 BP C¸¢u 5 \uÃu Pªåß. ]Ó¨¦ 
EuÂzöuõøP ¹.2,28,000. •u»õÎ uÚx uÛ¨£mh 
©ØÖ® Ezv÷¯õP§ºÁ ÷|õUP[PÐUPõP ©õ¸v 800 Põøμ 
Kmk|›h® (KmkÚº) 1.4.2021 AßÖ Á¸[Põ» øÁ¨¦ 
{vUS 14% Bsk JßÖUS Ámi ÁμÄ ¹.2,012 GÚ 
ÁÇ[SQÓõº ©ØÓ Buõμ[PÎÀ C¸¢x _¢u›ß Á¸©õÚ® 
¹.3,00,000 

ÂÁμ[PÒ ¹. 
Cß`μßì ¤Ÿª¯zxhß ö\õ¢u ÁõÌUøPUS 
ö\¾zu¨£mhx GÀI] (¹.30,000 £õ¼]) 

3,000

uõ°ß E°¸US Põ¨¥k ¤Ÿª¯® ö\¾zu¨£mhx 2,500
u¢øu°ß ÁõÌUøPUS ö\¾zu¨£mh Põ¨¥mk 
¤Ÿª¯® 

400

v¸©v. _¢u›ß ÁõÌUøP°À ö\¾zu¨£mh 
Põ¨¥mk ¤Ÿª¯® (I]I]I ¨¹öhßæ¯¾hß) 

3,500

AÁμx ÷©á›ß ÁõÌUøPUS ö\¾zu¨£mh 
Põ¨¥mk ¤Ÿª¯® ©Pß 

2,000

31.3.2020 US •ß ö\¾zu ÷Ási¯ Põ¨¥mk 
¤Ÿª¯®, BÚõÀ ö\õ¢u ÁõÌUøP°À H¨μÀ 10, 
2020 AßÖ ö\¾zu¨£mhx 

600

©¸zxÁ Põ¨¥mk ¤Ÿª¯® ö\¾zu¨£mhx 25,000
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ÂÁμ[PÒ ¹. 
£o¯õÍº Á¸[Põ» øÁ¨¦ {vUPõÚ £[PÎ¨¦ 4,000
ö£õx Á¸[Põ» øÁ¨¦ {vUPõÚ £[PÎ¨¦ 40,000
GÀI]°À C¸¢x Ãk Áõ[SÁuØPõP Áõ[Q¯ 
PhøÚ v¸¨¤a ö\¾zxuÀ (Ámi ¹.5,000,1990)

30,000

AÔÂUP¨£mh ª³a_ÁÀ L£siß ³ÛmPÎÀ 
•u½k {v²uÂ EÒPmhø¨¦ Á\v Cμsk 
SÇ¢øuPÐUS PÀ¿› Pmhn® ¹.26,000 Cx 
Á[Q°À ¹.20,000 öhÁ»¨ö©sm Pmhn Põ» 
øÁ¨¦zöuõøPUS ¹.2,000 Ah[S® 

40,000

 2022&2023 ©v¨¥mk BsiØPõÚ _¢u›ß Á›¨ 
ö£õÖ¨ø£z wº©õÛUPÄ®. 

17. Describe the functions of the central board of direct taxes. 

 ÷|μi Á›PÎß ©zv¯ Áõ›¯zvß ö\¯À£õkPøÍ ÂÁ›. 

18. During the previous year 2021-22 Mr. Sri has the 
following incomes and expenditure: 

 Rs. 
Income from business 6,80,000
Capital gains 14,000
Winning from camel race 1,700
Winning from horse race 2,000
Winning from lottery 1,600
Income from other sources 10,000
Payment of medical insurance 
premium 

30,000

Contribution to public provident 
fund 

70,000

Payment made for Sons school fee 90,000

 Compute his total income. 

 •¢øu¯ BsiÀ 2021&22 v¸. ÿ ¤ßÁ¸® Á¸©õÚ® 
©ØÖ® ö\»ÄPøÍU öPõskÒÍx.  

 ¹. 

Â¯õ£õμzvÀ Á¸©õÚ® 6,80,000
•u½mk ÁμÄPÒ 14,000
JmhP¨ £¢u¯zvÀ öÁØÔ 1,700
Svøμ £¢u¯zvÀ öÁØÔ 2,000
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 ¹. 

»õmh›°À C¸¢x öÁØÔ 1,600
¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 10,000
©¸zxÁ Põ¨¥mk ¤Ÿª¯zøu 
ö\¾zxuÀ 

30,000

ö£õx Á¸[Põ» øÁ¨¦ {vUS 
£[PÎ¨¦ 

70,000

©PßPÎß £ÒÎU Pmhn® 
ö\¾zu¨£mhx 

90,000

 AÁ›ß ö©õzu Á¸©õÚzøu PnUQkP.  

19. Explain the various types of assessment. 

 £À÷ÁÖ ÁøP¯õÚ ©v¨¥møh ÂÍUSP. 

20. Explain the Provisions in Income Tax Act 1961 regarding 
T.D.S from Interest on securities. 

 £zvμ[PÒ «uõÚ Ámi°¼¸¢x ‰»zvÀ PÈUP¨£mh Á› 
öuõhº£õÚ Á¸©õÚ Á›a \mh® 1961 CÀ EÒÍ ÂvPøÍ 
ÂÍUSP. 

——————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2023  

Sixth Semester 

Commerce with Computer Applications  

SPECIAL ACCOUNTS  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions. 

1. What is rebate on bills discounted? 

 ¤ÀPÎÀ uÒÐ£i GßÓõÀ GßÚ? 

2. What is a non performing asset? 

 ö\¯À£hõu ö\õzx GßÓõÀ GßÚ? 

3. What do you mean by ‘Life insurance Fund’? 

 ‘B²Ò Põ¨¥mk {v’ GßÓõÀ GßÚ? 

4. What is Reinsurance? 

 ©ÖPõ¨¥k GßÓõÀ GßÚ? 

5. What is meant by double account system? 

 CμmøhU PnUS •øÓ GßÓõÀ GßÚ? 

6. Mention any two features of double account system. 

 CμmøhU PnUS •øÓ°ß H÷uÝ® Cμsk A®\[PøÍU 
SÔ¨¤hÄ®. 

Sub. Code 
7BCC6C3 



F–8943 

  

  2

7. Define ‘Holding company’. 

 ‘÷íõÀi[ P®ö£Û’ Gß£øu Áøμ¯ÖUPÄ®. 

8. Write a short note on ‘Minority Interest’. 

 ]Ö£õßø© £[Suõμº £ØÔ J¸ ]Ö SÔ¨ø£ u¸P. 

9. What do you mean by goodwill? 

 ÁoP |Øö£¯º GßÓõÀ GßÚ? 

10. What is average profit? 

 \μõ\› C»õ£® GßÓõÀ GßÚ? 

 Section B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) From the following information relating to Lakshmi 
Bank Ltd., prepare the Profit and Loss A/c for the 
year ended 31st December, 1987. 

    

Rent received 72,000 Salaries and allowances 2,18,800 

Exchange and Commission 32,800 Postage 5,600 

Interest on fixed deposits 11,00,000 Sundry charges 4,000 

Interest on savings bank A/cs 2,72,000 Director’s and Auditor’s fees 16,800 

Interest on overdrafts 2,16,000 Printing 8,000 

Discount on bills discounted 7,80,000 Law charges 3,600 

Interest on current accounts 1,68,000 Locker rent 1,400 

Interest on cash credits 8,92,000 Transfer fees 2,800 

Depreciation on bank 
property  

20,000 Interest on loans 13,36,000 
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  »m_ª ÷£[U ¼ªöhm öuõhº£õÚ ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x i\®£º 31, 1987 CÀ •iÁøh¢u 
BsiØPõÚ C»õ£® ©ØÖ® CÇ¨¦ P/S Iz 
u¯õ›UPÄ®. 

 ¹.  ¹. 

ÁõhøP ö£ØÓx 72,000 \®£Í® ©ØÖ® 
£¯n¨£i 

2,18,800

£›©õØÓ® ©ØÖ® uμS 32,800 u£õÀ Pmhn® 5,600

{ø»¯õÚ øÁ¨¦z öuõøP 
«uõÚ Ámi 

11,00,000 £Ø£» ö\»ÄPÒ 4,000

÷\ª¨¦ Á[Q PnUQß «uõÚ 
Ámi 

2,72,000 C¯USÚº ©ØÖ® 
uoUøP¯õÍº Pmhn® 

16,800

Á[Q ÷©ÀÁøμ £ØÖ «uõÚ 
Ámi 

2,16,000 Aa]kuÀ 8,000

¤ÀPÎÀ uÒÐ£i 7,80,000 \mh Pmhn®  3,600

|h¨¦U PnUSPÐUPõÚ Ámi 1,68,000 »õUPº ÁõhøP 1,400

£n ÁμÄPÒ «uõÚ Ámi 8,92,000 £›©õØÓ Pmhn® 2,800

Á[Q ö\õzx «uõÚ ÷u´©õÚ® 20,000 PhßPÐUPõÚ Ámi 13,36,000

Or 

 (b) From the following information prepare the Profit 
and Loss Account of ABC Bank Ltd. for the year 
ended on 31st March 1992 in the prescribed form. 

    

Interest on loan 2,59,000 Interest on cash credit 2,23,000 

Interest on fixed deposits 2,75,000 Interest on current account 42,000 

Rebate on bills  Rent and taxes 18,000 

discounted required 49,000 Interest on overdraft 1,54,000 

Commission 8,200 Postage and telegrams 1,400 
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Establishment 54,000 Printing and stationery 2,900 

Discount on bills  Sundry charges 1,700 

discounted 1,95,000 Interest on savings  

Director’s fees 3,000 bank deposits 68,000 

Auditor’s fees 1,200   

  Bad debts to be written off amounted to  40,000. 
Provision for taxation may be made @ 55 %. Balance 
of profit from last year was  1,20,000. The 
directors have recommended a dividend of  20,000 
for the shareholders. 

  ¤ßÁ¸® uPÁ¼À C¸¢x 31 ©õºa 1992 AßÖ 
•iÁøh¢u BsiØPõÚ H¤] Á[Q ¼ªöhmiß 
C»õ£® ©ØÖ® |èhU PnUøP £›¢xøμUP¨£mh 
£iÁzvÀ u¯õº ö\´¯Ä®. 

    

PhÝUPõÚ Ámi 2,59,000 £n ÁμÄ «uõÚ Ámi 2,23,000

{ø»¯õÚ øÁ¨¦z  |h¨¦U PnUQÀ Ámi 42,000

öuõøP «uõÚ Ámi 2,75,000 ÁõhøP ©ØÖ® Á› 18,000

¤ÀPÐUPõÚ uÒÐ£i  Á[Q ÷©ÀÁøμ £ØÖ 

÷uøÁ 49,000 «uõÚ Ámi 1,54,000

uμS 8,200 u£õÀ ©ØÖ® u¢v 1,400

÷uõØÖÂ¨¦ 54,000 Aa]kuÀ ©ØÖ® 

¤ÀPÎÀ uÒÐ£i 1,95,000 GÊxö£õ¸Ò 2,900

C¯USÚº Pmhn® 3,000 £Ø£» ö\»ÄPÒ 1,700

uoUøP¯õÍº  ÷\ª¨¦ Á[Q  

Pmhn® 1,200 øÁ¨¦PÐUPõÚ Ámi 68,000
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  uÒÐ£i ö\´¯¨£h ÷Ási¯ ÁõμõU PhßPÒ 
¹.40,000 BS®. Á› Âv¨¦UPõÚ HØ£õk @ 55 %. 
Ph¢u Bsk »õ£ C¸¨¦ ¹.1,20,000. 
£[SuõμºPÐUS ¹. 20,000 iÂöhsm ÁÇ[P 
C¯US|ºPÒ £›¢xøμ ö\´xÒÍÚº. 

12. (a) The Life fund of a Life Insurance Company on 
31.3.2006 showed a balance of  54, 00,000. 

  However, the following items were not taken into 
account while preparing the Revenue A/c for  
2005-06 : 

  (i) Interest and dividends accrued on investments 
 20,000 

  (ii) Income tax deducted at source on the above   
 6,000 

  (iii) Reinsurance claims recoverable  7,000 

  (iv) Commission due on reinsurance premium paid 
 10,000 

  (v) Bonus in reduction of premiums  3,000. 
  31.3.2006 AßÖ B²Ò Põ¨¥mk {ÖÁÚzvß B²Ò 

{v ¹.54,00,000. AÆÁõÓõ°Ý®, 2005–06 UPõÚ 
Á¸Áõ´ PnUøPø¯z u¯õ›US® ÷£õx ¤ßÁ¸® 
|hÁiUøP°ß PnUSPøÍ PnUQÀ GkzxU 
öPõÒÍ¨£hÂÀø». 

  (i) •u½miÀ vμmh¨£mh Ámi ©ØÖ® DÄzöuõøP 
¹. 20,000 

  (ii) ÷©÷» EÒÍ ¹.6,000 US ‰»zvÀ Á¸©õÚ 
Á› PÈUP¨£mhx 

  (iii) ©ÖPõ¨¥mk E›ø© ÷PõμÀPÒ v¸®£¨ ö£ÓUTi¯ 
¹.7,000  

  (iv) ö\¾zu¨£mh ©ÖPõ¨¥mk ¤Ÿª¯zvß «uõÚ 
Pªåß ¹.10,000 

  (v) ¤Ÿª¯[PÒ ¹.3,000 SøÓ¨¤À ÷£õÚì. 

Or 
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 (b) The following figures relate to Life Insurance, 
Corporation for the year ended 31.3.2006. Prepare 
the Revenue A/c. 

 ( ’ 000)  ( ’ 000) 

Claims 39,000 Consideration for   

Management expenses 14,000 annuities granted 1,65,000 

Director’s fees 4,000 Surrenders 9,000 

Audit fees 3,000 Premia received 1,51,000 

Medical expenses 5,000 Depreciation 4,000 

Agents Commission 5,000 Rent received 10,000 

Life fund (1.4.95) 11,50,000 Bonus in reduction   

Interest received 40,000 of premium 15,000 

  Claims cancelled 5,000 

  Annuities 15,000 

  Note :  

  (i)  Premium outstanding  9,000  

  (ii)  Claims outstanding  3,000. 

  ¤ßÁ¸® ¦ÒÎ ÂÁμ[PÒ 31.3.2006 CÀ 
•iÁøh¢u BsiØPõÚ B²Ò Põ¨¥k. 
Põº¨£÷μåß öuõhº£õÚ Á¸Áõ´ PnUøPø¯ u¯õº 
ö\´¯Ä®. 

 (¹.’ 000)  (¹.’ 000)

E›ø© ÷Põ¸uÀ 39,000 ÁÇ[P¨£mh Bsk 

÷©»õsø© ö\»ÄPÒ 14,000 öuõøP £›^»øÚ 1,65,000

C¯USÚº Pmhn® 4,000 Âk ©v¨¦ (A) 

uoUøP Pmhn® 3,000 v¸®£ ö£ÖuÀ  9,000
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 (¹.’ 000)  (¹.’ 000)

©¸zxÁ ö\»ÄPÒ 5,000 ¤Ÿª¯õ ö£ØÓx 1,51,000

•PÁºPÒ Pªåß 5,000 ÷u´©õÚ® 4,000

B²Ò {v (1.4.95) 11,50,000 ÁõhøP ö£ØÓx 10,000

Ámi ö£Ó¨£mhx 40,000 ¤Ÿª¯zøuU  

  SøÓ¨£vÀ ÷£õÚì 15,000

  E›ø©÷PõμÀPÒ μzx 
ö\´¯¨£mhÚ 

5,000

  Bsk öuõøP 15,000

  SÔ¨¦ : 

  (i) ¤Ÿª¯® {¾øÁ°À EÒÍ ¹. 9,000 

  (ii) {¾øÁ°À EÒÍ E›ø© ÷PõμÀPÒ ¹.3,000. 

13. (a) The Bangalore Municipal corporation replaces part 
of its existing water mains with larger mains at cost 
of  75,00,000. The original cost of laying the old 
mains was  15, 00,000 and the present cost of 
laying those mains would be three times the 
original cost.  1,25,000 was realized by the sale of 
old materials and old materials of  3,75,000 were 
used in the replacement and included in the cost 
given above. Give the journal entries to record the 
above and show the allocation of expenses between 
revenue and capital along with Replacement 
Account. 

ö£[PÑ¸ •Û]£À Põº¨£÷μåß Auß 
uØ÷£õøu¯ }º ö©°ßPÎß J¸ £Svø¯ ö£›¯ 
ö©°ßPøÍ ¹.75,00,000 £v»õP ©õØÓ¨£mhx. 
£øÇ¯ ö©°ßPÒ £vUP A\À ö\»Ä ¹.15,00,000 
©ØÖ® A¢u ªßP®£[PøÍ Aø©¨£uØPõÚ 
uØ÷£õøu¯ ö\»Ä A\À ö\»øÁ Âh ‰ßÖ ©h[S 
AvP©õP C¸US® ¹. 1,25,000 £øÇ¯ ö£õ¸mPÒ 
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©ØÖ® £øÇ¯ ö£õ¸mPÒ ÂØ£øÚ ‰»® 
¹.3,75,000 ©õØÓõP¨ £¯ß£kzu¨£mhx ©ØÖ® 
÷©÷» öPõkUP¨£mh ö\»ÂÀ ÷\ºUP¨£mhx. ÷©÷» 
EÒÍÁØøÓ¨ £vÄ ö\´¯ }[PÒ ÷uøÁ¯õÚ 
PnUSPÒ ©ØÖ® SÔ¨÷£kPøÍ u¯õº ö\´¯Ä®. 
©ØÖ® ©õØÖU PnUShß Á¸Áõ´ ©ØÖ® 
‰»uÚzvØS Cøh÷¯¯õÚ ö\»ÄPÎß 
JxURmøhU PõmhÄ®. 

Or 

 (b) A water supply company had to replace a quarter of 
its mains its lay auxiliary mains for the remaining 
length. The total cost of the old mains is  

 10,00,000. The cost of auxiliary mains is  
 9,00,000 and that of the new mains has gone up 

by 30%. Amount spent on replacement is :  
 3,50,000 Journalize, Show your workings. 

  J¸ }º Â{÷¯õP {ÖÁÚ® Auß ö©°ßPÎÀ PõÀ 
£Svø¯ ©õØÓ ÷Ásk® ©ØÖ® «u•ÒÍ }ÍzvØS 
xøn ö©°ßPøÍ Aø©UP ÷Ásk®. £øÇ¯ 
ö©°ßPÎß ö©õzu Âø» ¹. 10,00,000. xøn 
ö©°ßPÎß Âø» ¹.9,00,000 ©ØÖ® ¦v¯ 
ö©°ßPÒ 30% AvP›zxÒÍx. ©õØÔ¯ø©UP 
ö\»Âh¨£mh öuõøP ¹.3.50,000. SÔ¨÷£kPøÍ 
u¯õº ö\´¯Ä®. 

14. (a) Distinction between capital profit and Revenue 
profit. 

‰»uÚ C»õ£zvØS® Á¸Áõ´ C»õ£zvØS® 
Cøh°»õÚ ÷ÁÖ£õk ÂÍUSP. 

Or 

 (b) P Ltd. acquired 65% shares of Q Ltd. on 1.10.02.  
P and L a/c in the books of Q Ltd. showed a debit 
balance of  40,000 on 1.4.02, On 31.3.03, the 
Balance Sheet of Q Ltd. showed P and L a/c balance 
of  1,20,000. Calculate capital profits and Revenue 
profits. 
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  1.10.02 AßÖ Q ¼ªöhm 65% £[SPøÍ  
P ¼ªöhm Áõ[Q¯x. Q ¼ªöhm ¦zuP[PÎÀ 
Â¯õ£õμ »õ£ |mh PnUS ¹.40,000 1.4.02 AßÖ 
£ØÖ C¸¨ø£U Põmi¯x. 31.3.03 AßÖ.  
Q ¼ªöhm C¸¨¦{ø»¨ SÔ¨¦ ©ØÖ® Â¯õ£õμ 
»õ£ |mh PnUS C¸¨¦ ¹.1,20,000. ‰»uÚ 
C»õ£® ©ØÖ® Á¸Áõ´ C»õ£zøu PnUQkP. 

15. (a) Explain the main factors affecting the value of 
goodwill of joint stock company. 

Tmk £[S {ÖÁÚzvß ÁoP |Øö£¯º ©v¨ø£ 
£õvUS® •UQ¯ PõμoPøÍ ÂÍUSP. 

Or 

 (b) From the following information calculate the value 
of goodwill on the basis of 3 years purchase of 
average profits of last four years. 

Year Result Amount 

2015 Profit 5,000 

2016 Profit 8,000 

2017 Loss 3,000 

2018 Profit 6,000 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x, Ph¢u |õßS 
BskPÎß \μõ\› C»õ£zvß 3 Á¸h öPõÒ•uÀ 
Ai¨£øh°À ÁoP |Øö£¯º ©v¨ø£U PnUQkP. 

Bsk •iÄ öuõøP 

2015 C»õ£® 5,000 

2016 C»õ£® 8,000 

2017 |èh® 3,000 

2018 C»õ£® 6,000 
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 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various classifications of banks. 

 Á[QPÎß £À÷ÁÖ ÁøP¨£õkPøÍ ÂÍUSP. 

17. The following balance was extracted from the books of 
Jupitar Life Assurance Co. Ltd. as on 31.3.2006. 
Debit balance ( ’ 000) Credit balance ( ’ 000) 

Mortgages 1,400 O/S claims (1.4.05) 22

Building 145 Premiums 3,394

Loans 155 Consideration for  

Investments 1,200 annuities granted 420

Surrenders 25 Interest and dividend 100

Annuities 12 Life Assurance  

Claims by death 700 fund (1.4.05) 950

Claims by maturity 1,000 

Agents balance 5  

Deposit with RBI 30  

Outstanding premiums 35  

Commission 54  

cash at Bank 50  

Expenses of 
management 

63  

Bonus in reduction of 
premiums 

5  

Interest accrued but 
not received 

 
7 

 

 4,886  4,886

 You are required to prepare the Revenue A/c for the year 
ended 31.3.06 and Balance Sheet as on that date after 
taking into account the following adjustments : 
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       ( ’ 000) 

 (a)  Premiums outstanding  4.5 

 (b)  Interest accruing but not due 3.7 

 (c)  Claims admitted but not paid 3.2 

 (d)  Surrender claims not paid 1.1 

 (e) Further bonus utilized in reduction of premium 2.0 

 31.3.2006 AßÖ áü¤hõº B²Ò EzuμÁõu Aμ_ {ÖÁÚ® 
¦zuP[PÎ¼¸¢x ¤ßÁ¸® C¸¨¦¨ ¤›zöukUP¨£mhx. 

£ØÖ C¸¨¦ 
( ’ 000) 

ÁμÄ C¸¨¦ 
( ’ 000) 

Ah©õÚ[PÒ 1,400 öPõk¨£h ÷Ási 

Pmih® 145 E›ø©÷PõμÀPÒ (1.4.05) 22

PhßPÒ 155 ¤Ÿª¯[PÒ 3,394

•u½kPÒ 1,200 ÁÇ[P¨£mh 

Ãk ©v¨¦ 25 Á¸hõ¢vμ[PÐUPõÚ  

Bsk öuõøP 12 £›^»øÚ 420

©μn® ‰»® E›ø©÷PõμÀPÒ 700 Ámi ©ØÖ® DÄzöuõøP 100

•vºÄ ‰»® E›ø©÷PõμÀPÒ 1,000 B²Ò Põ¨¥mk  

•PÁºPÎß C¸¨¦ 5 {v (1.4.05) 950

›\ºÆ Á[Q°À øÁ¨¦ 30  

{¾øÁ°À EÒÍ ¤Ÿª¯[PÒ 35  

uμS 54  

Á[Q°À £n® 50  

÷©»õsø© ö\»ÄPÒ 63  

¤Ÿª¯[PøÍU SøÓ¨£vÀ 
÷£õÚì 

5  

Ámi vμmh¨£mhx BÚõÀ 
ö£Ó¨£hÂÀø» 

 
7 

 

 4,886  4,886

 31.3.06 •iÁøh¢u BsiØPõÚ Á¸Áõ´ PnUS ©ØÖ® 
A¢uz ÷uv°À ¤ßÁ¸® ©õØÓ[PøÍU P¸zvÀ öPõsk 
C¸¨¦{ø»z  SÔ¨¦ u¯õ›UP ÷Ásk®. 
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       (¹.’ 000) 

 (A)  {¾øÁ°À EÒÍ ¤Ÿª¯[PÒ 4.5 

 (B)  Ámi vμmh¨£kQÓx BÚõÀ ö\¾zu ÷Ási¯vÀø» 3.7 

 (C)  AÝ©vUP¨£mh BÚõÀ ö\¾zu¨£hõu  
  E›ø©÷PõμÀPÒ    3.2 

 (D)  \μnøhuÀ E›ø©÷PõμÀPÒ ö\¾zu¨£hÂÀø» 1.1 

 (E) ¤Ÿª¯® 2.0 IU SøÓ¨£vÀ TkuÀ ÷£õÚì   
£¯ß£kzu¨£mhx   2.0 

18. Explain Differentiate between Single account system and 
double account system. 

JØøÓU PnUS •øÓUS® CμmøhU PnUS •øÓUS® 
EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

19. The Balance Sheets of C Ltd. and D Ltd. as at  
31st  December, 1986 are as follows : 

Liabilities C Ltd.  D Ltd.  Assets C Ltd. D Ltd. 

Share capital    Sundry assets 1,32,500 1,38,200

(in shares of Rs. 10 each) 2,00,000  1,00,000  Goodwill – 20,000

General reserve 18,000  20,000  Shares in  

Profit and Loss A/c 24,500  23,000  D Ltd. at cost 1,40,000

Creditors 30,000  15,200   

 2,72,500  1,58,200   2,72,500 1,58,200

 In the case of D Ltd, profit for the year ended  
31st  December 1986 is  12,000 and transfer to reserve is 

 5,000. The holding of C Ltd. in D Ltd. is 90% acquired 
on 30th June 1986. Draft a consolidated Balance Sheet of 
‘C’ Ltd. and its subsidiary. 
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 i\®£º 31, 1986 CÀ ] ¼ªöhm ©ØÖ® i ¼ªöhm 
BQ¯ÁØÔß C¸¨¦{ø»PÒ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ] 
¼ªöhm

i 
¼ªöhm 

 ö\õzxUPÒ ] 
¼ªöhm

i 
¼ªöhm

£[S ‰»uÚ® 
(JÆöÁõßÖ® 

  £Ø£» 
ö\õzxPÒ 

1,32,500 1,38,200

¹. 10 £[SPÒ) 2,00,000 1,00,000  ÁoP   

ö£õx C¸¨¦ 18,000 20,000  |Øö£¯º – 20,000

C»õ£® ©ØÖ® |èh® P/S 24,500 23,000  i ¼ªöhm 

Phß öPõkzuÁºPÒ 30,000 15,200  £[SPÒ 1,40,000

 2,72,500 1,58,200   2,72,500 1,58,200

 ‘i’ ¼ªöhm i\®£º 31, 1986 CÀ •iÁøh¢u 
BsiØPõÚ C»õ£® ¹. 12,000 ©ØÖ® C¸¨¦US 
©õØÖÁx ¹.5,000. i ¼ªöhm {ÖÁÚzvÀ ] ¼ªöhm 
øÁzv¸US® £[S 90% áüß 30, 1986 AßÖ 
øP¯P¨£kzu¨£mhx. ‘]’ ¼ªöhm ©ØÖ® Auß xøn 
{ÖÁÚ[PÎß J¸[Qøn¢u C¸¨¦{ø» SÔ¨ø£ u¸P. 

20.  The following is the Balance Sheet of NSC Ltd. as on  
31st Dec. 1998. Calculate Net Assets method  

Liabilities  Assets  

4,000 10% Pref. Shares   Sundry assets   

of Rs. 100 each 4,00,000 at book value 12,00,000

60,000 equity shares   

of Rs. 10 each 6,00,000  

Bills payable 50,000   

Creditors 1,50,000   

 12,00,000  12,00,000
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 The market value of 60% of the assets is estimated to be 
15% more than the book value and that of the remaining 
40% at 10% less than the book value. There is an 
unrecorded liability of  10,000. Find the value of each 
equity share (it is to be assumed that preference shares 
have no prior claim as to payment of dividend or to 
repayment of capital. 

 31 i\. 1998 CÀ NSC ¼ªöhm Cß C¸¨¦{ø» SÔ¨ø£ 
¤ßÁ¸©õÖ. {Pμ ö\õzxUPøÍU PnUQkP. 

ö£õÖ¨¦PÒ 
 

ö\õzxUPÒ 
 

4,000, 10% •ßÝ›ø©  ¦zuP ©v¨¤À  

£[SPÒ ¹. JÆöÁõßÖ® 
100 

4,00,000 £Ø£» ö\õzxUPÒ 12,00,000

60,000 ÷|ºø© £[SPÒ 
¹. 

  

JÆöÁõßÖ® 10 6,00,000  

ö\¾zu ÷Ási¯ ¤ÀPÒ 50,000   

Phß öPõkzuÁºPÒ 1,50,000   

 12,00,000  12,00,000

 60% ö\õzxUPÎß \¢øu ©v¨¦ ¦zuP ©v¨ø£ Âh 15% 
AvP©õPÄ®. «u•ÒÍ 40% ¦zuP ©v¨ø£ Âh 10% 
SøÓÁõPÄ® C¸US® GÚ ©v¨¤h¨£mkÒÍx. £vÄ 
ö\´¯¨£hõu ö£õÖ¨¦ ¹.10,000. JÆöÁõ¸ •ßÝ›ø© 
£[Qß ©v¨ø£U PshÔ¯Ä® (Â¸¨£¨ £[SPÐUS 
DÄzöuõøP ö\¾zxuÀ AÀ»x ‰»uÚzøuz v¸¨¤a 
ö\¾zxuÀ BQ¯ÁØÔÀ G¢u •ß ÷Põ›UøP²® CÀø» 
GßÖ P¸u¨£h ÷Ásk®. 

_______________ 
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Commerce with Computer Applications 

MANAGEMENT ACCOUNTANCY 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you meant by management accounting? 

 ÷©»õsø© PnUQ¯À GßÖ GøuU SÔ¨¤kQÕºPÒ? 

2. List out any two features of management accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk A®\[PøÍ 
£mi¯¼kP. 

3. Explain the term financial statements. 

 {v°¯À AÔUøP°ß GßÓ ö\õÀø» ÂÍUSP. 

4. What do you meant by solvency? 

 wºÄ ußø© GßÖ GøuU SÔ¨¤kQÕºPÒ? 

5. Describe cash flow statements. 

 öμõUP Kmh AÔUøPPøÍ ÂÁ›UPÄ®. 

6. What do you meant by working capital? 

 |øh•øÓ •uÀ GßÓõÀ GßÚ? 

Sub. Code 
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7. Describe the term budgetary control. 

 {vzvmhU Pmk¨£õk GßÓ ö\õÀø» ÂÁ›UPÄ®. 

8. What do you meant by master budget? 

 uø»ø© {vz vmh® GßÖ GøuU SÔ¨¤kQÕºPÒ? 

9. Explain the term break- even point. 

 •ÔÄ £S¨£õ´Ä GßÓ ö\õÀø» ÂÍUSP. 

10. Elaborate marginal costing. 

 CÖv{ø»a ö\»øÁ ÂÁ›UPÄ®. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe objectives of management accountancy. 

   ÷©»õsø© PnUQ¯À ÷|õUP[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) Explain the relationship between cost accounting 
and management accounting. 

   AhUP Âø» PnUQ¯¾US®, ÷©»õsø© ©ØÖ® 
AhUP Âø»U PnUSUS® EÒÍ öuõhºø£ 
ÂÍUSP. 

12. (a) Calculate  

  (i) Current ratio 

  (ii) Liquidity ratio 

  (iii) Absolute liquidity ratio. 

   from the following information: 

         Rs. 

   Cash       18,000 

   Debtors   1,42,000 
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   Closing stock  1,80,000 

   Bills payable     27,000 

  Creditors      50,000 

   Outstanding expenses    15,000 

   Tax payable     75,000 

    PnUQkP. 

    (i) uØ÷£õøu¯ ÂQu®  

   (ii) £n¨¦ÇUP® ÂQu® 

    (iii) •Êø©¯õÚ £n¨¦ÇUP® ÂQu® 

   ¤ßÁ¸® uPÁ¼¼¸¢x : 

        ¹. 

    öμõUP®       18,000 

   PhÚõÎPÒ    1,42,000 

   CÖva \μUS   1,80,000 

   ö\¾zxÁuØS›¯ ©õØÖ ^mkPÒ   27,000 

   PhÜ¢÷uõº      50,000 

   öPõkUP¨£h÷Ási¯ ö\»ÂÚ[PÒ    15,000 

   ö\¾zu ÷Ási¯ Á›    75,000 

Or 

 (b) Write a short essay on difference between 
comparative statements and common size 
statements.  

   J¨¥mk AÔUøPPÒ ©ØÖ® ö£õxÁõÚ AÍÄ 
AÔUøPPÐUS Cøh°»õÚ ÷ÁÖ£õkPÒ SÔzx 
J¸ ]Ö Pmkøμø¯ GÊxP. 
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13. (a) From the following information extracted from the 
book of Max Ltd. for the year 2019-20, calculate net 
cash flow from investing activities. 

Max Ltd. Cost Data 

Particulars 2018-19 2019-20

Furniture 10,000 1,20,000

Machinery 15,00,000 18,00,000

Buildings 20,00,000 19,80,000

Land 18,00,000 16,00,000

Investment 90,000 2,10,000

  Additional information is given as follows: 

   Depreciation charged on furniture during the year 
was Rs.10,000 

   Depreciation on machinery charged during the year 
was Rs.25,000 

  Machinery, the book value of which was Rs.80,000, 
sold for Rs.75,000 

  Land was sold at a profit of Rs.90,000 

   2019&20B® BsiØPõÚ ÷©Uì ¼ªöhm 
¦zuPzv¼¸¢x ¤›zöukUP¨£mh ¤ßÁ¸® 
uPÁ¼¼¸¢x, •u½mk |hÁiUøPPÎ¼¸¢x {Pμ 
£n¨¦ÇUPzøuU PnUQk[PÒ. 

   ÷©Uì ¼ªöhm ö\»Äz uμÄ 

ÂÁμ[PÒ 2018-19 2019-20

AøÓP»ß 10,000 1,20,000

C¯¢vμ[PÒ 15,00,000 18,00,000

Pmih[PÒ 20,00,000 19,80,000

{»® 18,00,000 16,00,000

•u½kPÒ 90,000 2,10,000
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   TkuÀ uPÁÀPÒ ¤ßÁ¸©õÖ öPõkUP¨£mkÒÍÚ. 

   A¢u BsiÀ AøÓP»ß «x ÂvUP¨£mh 
÷u´©õÚ® ¹.10,000 BS®. A¢u BsiÀ 
ÂvUP¨£mh C¯¢vμ[PÎß ÷u´©õÚ® ¹.25,000 
BS®. C¯¢vμ[PÒ, ¦zuP ©v¨¦ ¹.80,000, 
¹.75,000 ÂØP¨£mhx.  

   {»® ¹.90,000 »õ£zvÀ ÂØP¨£mhx. 

Or 

 (b) Briefly explain the objectives of fund flow 
statements. 

   {v Kmh AÔUøPPÎß ÷|õUP[PøÍ _¸UP©õP 
ÂÍUS[PÒ. 

14. (a) Elaborate objectives of budgetary control. 

   {vzvmhU Pmk¨£õk Â›ÁõÚ ÷|õUP[PøÍ ÂÁ›. 

Or 

 (b) Prepare a Flexible budget for overheads on the basis 
of the following data. Ascertain the overhead rates 
at 50% and 60% capacity. 

Variable overheads  At 60% 
 capacity (Rs)

Indirect Material 6,000

Labour 18,000

Semi-variable overheads : 

Electricity (40% Fixed & 60% 
variable) 

30,000

Repairs : (80% fixed & 20% variable) 3,000

Fixed overheads : 

Depreciation  16,500

Insurance 4,500
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Variable overheads  At 60% 
 capacity (Rs)

Salaries  15,000

Total overheads 93,000

Estimated direct labour hours 
Solution : 1,86,000

   ¤ßÁ¸® uμÄPÎß Ai¨£øh°À 
÷©À{ø»PÐUPõÚ ö|QÌÁõÚ £möámøhz 
u¯õ›UPÄ®. 

50% ©ØÖ® 60% vÓÛÀ ÷©À{ø» ÂQu[PøÍU 
PshÔ¯Ä®. 

©õÓUTi¯ ÷©À{ø»PÒ 60% 
vÓÛÀ (¹)

©øÓ•P¨ ö£õ¸Ò 6,000

EøÇ¨¦ 18,000

Aøμ ©õÔ ÷©À{ø»PÒ : 

ªß\õμ®: (40% {ø»¯õÚ ©ØÖ® 

60% ©õÔ) 

30,000

£Êx: (80% {ø»¯õÚx ©ØÖ® 20% 
©õÓUTi¯x) 

3,000

{ø»¯õÚ ÷©À{ø»PÒ: 

÷u´©õÚ® 16,500

Põ¨¥k 4,500

\®£Í® 15,000

ö©õzu ÷©À{ø»PÒ 93,000

©v¨¤hUTi¯ ÷|μi ÷Áø» ÷|μ® 

wºÄ : 1,86,000



F–8944 

  

  7

15. (a) List out difference between marginal costing and 
absorption costing. 

   CÖv{ø»a ö\»Ä ©ØÖ® EÔg_uÀ ö\»Ä 
BQ¯ÁØÖUS Cøh÷¯  EÒÍ ÷ÁÖ£õmøh 
£mi¯¼k[PÒ. 

Or 

 (b) Explain the assumptions of BEP charts. 

   •ÔÄ ¦ÒÎ Áøμ£h[PÎß AÝ©õÚ[PøÍ 
ÂÍUS[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write a note on scope and limitations of management 
accounting. 

÷©»õsø© PnUQ¯¼ß ÷|õUP® ©ØÖ® Áμ®¦PÒ £ØÔ¯ 
SÔ¨ø£ GÊuÄ®. 

17. Explain about various types of liquidity, profitability and 
solvency ratios in detail. 

£À÷ÁÖ ÁøP¯õÚ }º© ußø©, C»õ£z ußø© ÂQu[PÒ 
©ØÖ® wºÄ ußø© ÂQu[PÒ £ØÔ Â›ÁõP ÂÍUPÄ®. 

18. From the following balance sheets of XYZ Co. Ltd., 
prepare funds flow statement: 

Liabilities 2015  2016  Assets 2015 2016

Equity share 
capital  

600  800  Goodwill 230 180

Preference capital 300  200  Land and 
buildings 

400 340

General reserve 80  140  Plant and  

Profit and loss a/c 60  96  machinery 160 400

Proposed dividend 84  100  Debtors 320 400

Creditors  110  166  Stock 154 218
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Liabilities 2015  2016  Assets 2015 2016

Bills payable 40  32  Bills receivable  40 60

Tax provision  80  100  Cash 30 20

     Bank 20 16

 1,354  1,634   1,354 1,634

 (a)  Proposed dividend made during 2015 has been paid 
during 2016. 

 (b) Depreciation  – (i) Rs.20,000 on plant and 
machinery, and (ii) Rs.40,000 on land and buildings. 

 (c) Interim dividend has been paid Rs.40,000 in 2016. 

 (d) Income-tax Rs.70,000 has been paid during 2016. 

 XYZ Co. Ltd., Cß ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x, 
{v Kmh AÔUøPø¯z u¯õ›UPÄ®. 
ö£õÖ¨¦PÒ 2015  2016  ö\õzxUPÒ 2015 2016

÷|ºø© £[SPÒ ‰»uÚ® 600  800  |Àö»sn® 230 180
•ßÝ›ø© ‰»uÚ®  300  200  {»® ©ØÖ® 

Pmih[PÒ 
400 340

ö£õx C¸¨¦ 80  140  C¯¢vμ 
uÍÁõh[PÒ 

160 400

»õ£® ©ØÖ® CÇ¨¦ 
PnUS 

60  96  PhÚõÎPÒ 320 400

•ßö©õÈ¯¨£mh DÄz 
öuõøP 

84  100  £[S 154 218

Phß öPõkzuÁºPÒ 110  166  ö£ÓzuUP ¤ÀPÒ 40 60
ö\¾zu ÷Ási¯ ¤ÀPÒ 40  32  £n® 30 20
Á› Âv¨¦ 80  100  Á[Q 20 16
     

 1,354  1,634   1,354 1,634

 (A) 2015B® BsiÀ •ßö©õÈ¯¨£mh DÄzöuõøP 
2016CÀ ö\¾zu¨£mhx.  

 (B) ÷u´©õÚ® & (i) Bø» ©ØÖ® C¯¢vμ[PÐUS 
¹.20,000 ©ØÖ® (ii) {»® ©ØÖ® Pmih[PÐUS 
¹.40,000 
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 (C) CøhUPõ» DÄzöuõøP 2016CÀ ¹.40,000 
ÁÇ[P¨£mkÒÍx. 

 (D) 2016B® BsiÀ Á¸©õÚ Á› ¹.70,000 
ö\¾zu¨£mkÒÍx. 

19. Saurashtra Co. Ltd. wishes to arrange overdraft facilities 
with its bankers from the period August to October 2019 
when it will be manufacturing mostly for stock. Prepare a 
cash budget for the above period from the following data 
given below: 

Month Sales Purchases Wages Mfg. 
Exp. 

Office 
Exp. 

Selling 
Exp. 

 (Rs.) (Rs.) (Rs.) (Rs.) (Rs.) (Rs.) 

June 1,80,000 1,24,800 12,000 3,000 2,000 2,000 

July 1,92,000 1,44,000 14,000 4,000 1,000 4,000 

August 1,08,000 2,43,000 11,000 3,000 1,500 2,000 

September 1,74,000 2,46,000 12,000 4,500 2,000 5,000 

October 1,26,000 2,68,000 15,000 5,000 2,500 4,000 

November 1,40,000 2,80,000 17,000 5,500 3,000 4,500 

December 1,60,000 3,00,000 18,000 6,000 3,000 5,000 

 Additional information :  

 (a) Cash on hand 1-08-2010 Rs.25,000. 

 (b)  50% of credit sales are realized in the month 
following the sale and the remaining 50% in the 
second month following. Creditors are paid in the 
month following the month of purchase. 

 (c)  Lag in payment of manufacturing expenses half 
month. 

 (d)  Lag in payment of other expenses one month. 
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 \Äμõèiμõ ÷Põ. ¼ªöhm, 2019 BPìm •uÀ AU÷hõ£º 
Áøμ°»õÚ Põ»UPmhzvÀ, ö£¸®£õ¾® £[SPøÍ 
EØ£zv ö\´²® ÷£õx, Auß Á[Q¯õÍºPÐhß KÁº 
iμõL¨m Á\vPøÍ HØ£õk ö\´¯ Â¸®¦QÓx. R÷Ç 
öPõkUP¨£mkÒÍ ¤ßÁ¸® uμÄPÎ¼¸¢x ÷©ØPsh 
Põ»PmhzvØPõÚ £n ÁμÄö\»Äz vmhzøuz 
u¯õ›UPÄ®. 

©õu® ÂØ£øÚ öPõÒ•uÀ Fv¯[PÒ EØ£zv 
ö\»ÂÚ[PÒ

A¾Á»P 

ö\»ÂÚ[PÒ 

ÂØ£øÚ 
ö\»ÂÚ[PÒ

 (¹) (¹) (¹) (¹) (¹) (¹)

áüß 1,80,000 1,24,800 12,000 3,000 2,000 2,000

áüø» 1,92,000 1,44,000 14,000 4,000 1,000 4,000

BPìm 1,08,000 2,43,000 11,000 3,000 1,500 2,000

ö\¨h®£º 1,74,000 2,46,000 12,000 4,500 2,000 5,000

AU÷hõ£º 1,26,000 2,68,000 15,000 5,000 2,500 4,000

|Á®£º 1,40,000 2,80,000 17,000 5,500 3,000 4,500

i\®£º 1,60,000 3,00,000 18,000 6,000 3,000 5,000

 TkuÀ uPÁÀ : 

 (A) øP°À £n® 1&08&2010 ¹.25,000. 

 (B)  Qöμim ÂØ£øÚ°À 50% ÂØ£øÚUS Akzu 
©õuzv¾®, «u•ÒÍ 50% Akzu CμshõÁx 
©õuzv¾® {øÓ÷ÁØÓ¨£k®. Áõ[Q¯ ©õuzvØS 
Akzu ©õuzvÀ PhÚõÎPÐUS £n® ÁÇ[P¨£k®. 

 (C) EØ£zv ö\»ÄPøÍ Aøμ ©õu® ö\¾zxÁvÀ 
uõ©u®. 

 (D) ©ØÓ ö\»ÄPøÍ J¸ ©õu® ö\¾zxÁvÀ uõ©u®. 

20. A factory engaged in manufacturing plastic buckets is 
working at 40% capacity and produces 10,000 buckets per 
month. The present cost break up for one bucket is as 
under: 

 Materials Rs.10 Labour Rs.3 Overheads Rs.5 (60% fixed) 
The selling price is Rs.20 per bucket. If it is desired to 
work the factory at 50% capacity the selling price falls by 
3%. At 90% capacity the selling price falls by 5% 
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accompanied by a similar fall in the price of material. You 
are required to prepare a statement the profit at 50% and 
90% capacities and also calculate the break- even points 
at this capacity production. 

 ¤ÍõìiU ÁõÎPÒ u¯õ›¨£vÀ Dk£mkÒÍ J¸ 
öuõÈØ\õø» 40% vÓÛÀ ÷Áø» ö\´x ©õuzvØS 10,000 
ÁõÎPøÍ EØ£zv ö\´QÓx. J¸ ÁõÎUPõÚ uØ÷£õøu¯ 
ö\»Ä ¤ßÁ¸©õÖ: ö£õ¸mPÒ ¹.10, EøÇ¨¦ ¹.3, 
÷©À{ø»PÒ ¹.5 (60% {ºn°UP¨£mhx) J¸ ÁõÎ°ß 
ÂØ£øÚ Âø» ¹.20. 50% vÓÛÀ öuõÈØ\õø» ÷Áø» 
ö\´¯ Â¸®¤ÚõÀ ÂØ£øÚ Âø» 3% SøÓ²®. 90% 
vÓÛÀ ÂØ£øÚ Âø» 5% SøÓQÓx, AuÝhß ö£õ¸Ò 
Âø»°À C÷u÷£õßÓ ÃÌa]²®. }[PÒ 50% ©ØÖ® 90% 
vÓßPÎÀ »õ£zøu J¸ AÔUøPø¯z u¯õ›UP ÷Ásk® 
©ØÖ® C¢u vÓß EØ£zv°À •ÔÄ ¦ÒÎPøÍ²® 
PnUQkP. 

 
———————— 
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Elective – DOT NET PROGRAMMING  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the use of DOT NET Framework? 

 hõmö|m Pmhø©¨¤ß £¯ß GßÚ? 

2. Write a full form CLR.  

 ].GÀ.Bº. •Ê Aø©¨¤øÚ GÊuÄ®. 

3. List out any four data types.  

 H÷uÝ® |õßS uμÄ ÁøPPøÍ £mi¯¼kP. 

4. What is an exception?  

 ÂvÂ»US GßÓõÀ GßÚ? 

5. Define Radio Buttons.  

 ÷μi÷¯õ ö£õzuõßPÒ Áøμ¯Ö. 

6. How to create Trace Bars? 

 mμõU £õºPÒ GÆÁõÖ E¸ÁõUSÁx. 

7. Mention any four stages of an ASP .Net. 

 HGì¤&À EÒÍ H÷uÝ® |õßS {ø»PøÍ SÔ¨¤hÄ®. 

Sub. Code 
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8. Define the term “Validation”. 

 \›£õºzuÀ GßÝ® Áõºzøuø¯ Áøμ¯Ö. 

9. What is the use of ADO .NET? 

 ADO hõm ö|m&ß £¯ß£õk GßÚ? 

10. What is Data Table? 

 uμÄ AmhÁøn GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe .NET Framework Architecture.  

   hõmö|m Pmhø©¨¤ß Aø©¨¤øÚ ÂÁ›UPÄ®. 

Or 

 (b) Write a brief note on Namespaces.  

   ö£¯º CøhöÁÎ £ØÔ _¸UP©õP GÊuÄ®. 

12. (a) Explain Dynamic Arrays with example.  

   øhÚªU Á›ø\PøÍ GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Discuss the concept of Do-While Loop statement.   

   Do-While AÔUøP°øÚ P¸zvøÚ ÂÁõvUPÄ®. 

13. (a) Write a short note on Tab Controls.  

   uõÁÀ Pmk¨£õkPÒ £ØÔ ]Ö SÔ¨¦ GÊuÄ®. 

Or 

 (b) Discuss about Build-in Dialogue boxes.  

   Pmhø©¨¦ Eøμ¯õhÀ ö£miPÒ £ØÔ ÂÁõvUPÄ®. 
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14. (a) Give short note on basic controls in ASP .NET. 

   ASP .NET&À EÒÍ Ai¨£øh Pmk¨£õkPÒ £ØÔ 
]Ö SÔ¨¦ u¸P. 

Or 

 (b) Explain the concept of Error Handling.  

   ¤øÇPøÍ øP¯õÐ® P¸zvøÚ £ØÔ ÂÍUPÄ®. 

15. (a) Describe the characteristics of ADO .NET. 

   ADO .NET&ß £s¦PøÍ ÂÁ›UPÄ®. 

Or 

 (b) Write a short note on Data Namespaces.  

   uPÁÀ ö£¯º CøhöÁÎ £ØÔ ]ÖSÔ¨¦ GÊuÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the concept of Garbage collection.  

 Põº÷£ä Pö»Uåß £ØÔ¯ P¸zvøÚ ÂÍUSP. 

17. Discuss various operators in VB .NET. 

 VB.NET £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPøÍ 
ÂÁõvUPÄ®. 

18. Write a short note on following :  

 (a) Rich Text Box (b) Link Labels (c) Panel 

 RÌPshÁØøÓ £ØÔ ]Ö SÔ¨¦ GÊuÄ®. 

 (A) ö£›¯ Eøμ ö£mi (B) Cøn¨¦ ÷»¤Ò (C) ÷£ÚÀ 

19. Explain HTML Server Controls.  

 HTML \ºÁº Pmk¨£õkPÒ £ØÔ ÂÍUSP. 

20. Describe about SQL Commands.   

 SQL  PmhøÍPÒ £ØÔ ÂÁ›UPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term Factory. 

 öuõÈÀTh® Gß£øu Áøμ¯ÖUP. 

2. Define wages under the Minimum Wages Act 1948. 

 SøÓ¢u £m\ T¼ \mh® 1948&ß £i T¼ø¯ Áøμ¯ÖUP. 

3. Who are certifying surgeons?   

 \õßÓÎUS® ©¸zxÁº Gß£Áº ¯õº? 

4. What is meant by Layoff? 

 uØPõ¼P ÷Áø» Â»US GßÓõÀ GßÚ? 

5. State the meaning of Lockout. 

 PuÁøh¨¦ Gß£uß ö£õ¸Ò TÖP. 

6. State the objectives of industrial disputes act 1947. 

 öuõÈØ uPμõÖ \mhzvß 1947 ÷|õUPzøu TÖP. 

7. Define ‘principal employer’ under ESI act 1948. 

 öuõÈ»õÍº Põ¨¦Öva \mh® 1948 RÌ ‘•ußø© •u»õÎ’ 
SÔzx Áøμ¯ÖUP. 

Sub. Code 
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8. Define Disablement. 

 C¯»õø© Gß£øu Áøμ¯ÖUP. 

9. What is contribution under provident fund act? 

 ÷\© |» {v \mh¨£i £[PÎ¨¦ GßÓõÀ GßÚ? 

10. Write the objectives of Employee State Insurance  
Act 1948. 

£o¯õÍºPÎß ©õ{» Põ¨¥k \mh® 1948&ß ÷|õUP[PÒ 
¯õøÁ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the provision’s relating to ‘health’ under the 
factories act 1948. 

   öuõÈÀ\õø»PÒ \mh® 1948ß RÌ ‘|»®’ £ØÔ¯ 
TÖPøÍ ÂÁõvUPÄ®. 

Or 

 (b) What are the weekly and the daily hours for which 
adult worker may be allowed to work in the factory? 

   öuõÈØ\õø»PÎÀ £o¯õÍº £o¦›¯ 
AÝ©vUP¨£k® Áõμõ¢vμ ©ØÖ® vÚ\› £o ÷|μ® 
¯õøÁ? 

12. (a) Who is responsible for the payment of wages under 
the Act? 

   T¼ öPõk¨£uØS ö£õÖ¨¦ÒÍÁºPÒ ¯õº? 

Or 

 (b) What are the rules regarding change of name of a 
trade union?  

   öuõÈØ\[Pzvß ö£¯º ©õØÓ® \®£¢u©õÚ ÂvPÒ 
¯õøÁ? 
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13. (a) State the statutory provision prohibiting strikes in 
public utility service. 

   ö£õx¨£¯ß£õmk ÷\øÁPÎÀ ÷£õμõmh[PÒ uøh 
ö\´Áx öuõhº£õÚ ÂvPÒ TÖ. 

Or 

 (b) State the salient features of minimum wages  
act 1948. 

   SøÓ¢u£m\ Fv¯\mh® 1948ß •UQ¯ A®\[PøÍ 
SÔ¨¤k. 

14. (a) Describe the compensation for temporary 
disablement. 

   uØPõ¼P C¯»õø©UPõÚ CÇ¨¥kPÒ £ØÔ ÂÁ›. 

Or 

 (b) Point out the rules regarding payment and 
forfeiture of gratuity. 

   £oUöPõøh £mkÁõhõ ©ØÖ® £Ô•uÀ SÔzu 
ÂvPøÍU SÔ¨¤kP. 

15. (a) Explain lay-off retrenchment and closure. 
   £o Cøh{Özu®, BmSøÓ¨¦ ©ØÖ® ‰hÀ 

CÁØøÓ ÂÍUSP. 

Or 

 (b) Write the benefits of ESI Act. 
   £o¯õÍºPÎß ©õ{» Põ¨¥k \mhzvß |ßø©PøÍ 

GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the provisions of Factories Act, relating to 
annual leave with wages and working hours of workers. 
T¼²hß Á¸h Âk¨¦ ©ØÖ® ÷Áø» ÷|μ® £ØÔ¯ 
öuõÈØ\õø»PÒ \mh ÂvPøÍ ÂÍUSP. 

17. How trade unions are registered and what are the rules 
of registration? 
GÆÁõÖ öuõÈØ\[P[PÒ £vÄ ö\´¯¨£kQßÓÚ? Auß 
ÂvPÒ ¯õøÁ? 
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18. Explain the salient features of payment of gratuity  
act 1972. 

£oUöPõøh £mkÁõhõ ©ØÖ® £Ô•uÀ SÔzu 
ÂvPøÍU SÔ¨¤kP. 

19. Explain the legal rules for the distribution of 
compensation payable to an injured workmen. 

£õvUP¨£mh £o¯õÍ¸US öPõkUP ÷Ási¯ 
CÇ¨¥mkz öuõøP ÁÇ[SÁx SÔzu \mh ÂvPøÍ 
ÂÍUSP. 

20. Explain the rules relating to determination of bonus.  

 öÁS©v {ºn¯® SÔzu ÂvPøÍ ÂÁ›UPÄ®. 

 
———————— 


